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Auxiliary verbs

Baclusall Jlad¥1 o yry of calldall 0¥ 4 5008591 220 T enses 4o )Y g 7 5 8 i o) J&
A i) ARl o) luall @‘ {Ja_'i LSy, 4,3_),35;4‘}!\ Jaall delua ‘; Uiac L ‘;ﬂ\ Auxi]iary Verbs
i aa g s dlen Jae (S Y lldl Jdy) e € IS5 adliad

rOmand ) A Sy Aall) A JadY) ands @
Main Verbs 4w )l Jlasy)-
Auxiliary/ Helping Verbs sacluall Jlad¥)-
walk, play, run, eat, drink....etc Jie duw )l JladY)
- raludl day )i ) aniiié Auxiliary / Helping Verbs sacluall JuxdY) L
1- Verb to be: - 458l Jlail
2- Verb to do: -Jasll Jlaii
3- Verb to have: -ellaill Jladi
4- Modals: -. 448l oyl Jasl)

Verb to be 455l Jladi

) Jrdll g ol A5 () ey ale s paddll 5l o 50 435S O verb to be A5l Jad
gm0 ¢ 058 e Be s (s8] el jauadl)

am, is, are, was, were - 14 4 5uSll Juadl 5

be, been, being  dbayl

subject Jeldll present & jias pastale
I »am was
We/You/They/ are were
He/She/It 1S was
P ghluae 2 hpal/pale (PP)I iy pocs
Be am, is, are was, were been

- el G b gl Jladl aaiins
i Alaall A i) J=d s o Y Cus predicate s s Subject i 3 s s @lld g -0 4 Al Jaal) 1
A aa s 50 Al ARl 8 dles Jee (S Y 4V duliall ( BE ) Jladl 2l
The house is beautiful.
S V(be) P
The house was beautiful. Saes cudl \S

was - 48 all das il JaaY
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- :"SM‘ dA@-“ "3.“\)&3“\1\ &.}m ‘;é 2
I am playing football now. oY) axill 5 S caall Ul ‘
She was reading at 7 o’clock yesterday. 4a Ll Aaludl delull |88 cuils

WA

My milk is drunk daily.

. reading 52 5 i) Jads was s 5 debue 28 A8Ld) Jeall 8 Glad 2 sa 5 JasY
Passive Voice Jsgaall Asal) Jan (oS A 43 gisl) Jud) aadins 3

Jseaall uall Jaada g ol g b a )y oSI 128 8 Q) =
not Jaxisi Verb to be Jax Ai 4 @
The house is not beautiful.
isn’t ) W jlaial Sy
OlSa 3o luall Jadl) g 30 Luall Jadl) GlSa Jolill aua g Alany o g 43 gl Jladl Jo Jigud) Alua S @
S
Is the house beautiful? Jsaa cuall Ja

2’ Verbs to do Jaxd) Jlaé]
\E

| o) ‘é—'\a-,-u Do Jaill sa Jaidll s3] jacadls (do, does, did) JuxdY) de sene 2

AR
Rulesacdll
¢ Jbadll Present =kl Past
I/'We/You/They _____ ,do did
He/She/It ——  »does did

0SS e dead) Jledl
- dady Jamy o iy Walina (35S 5 Alaal) 8 ada g a5 13) &l s main verb et JaiS B §
I do my homework daily. Le ss sl s Jec! Ul
He does his homework daily. b s 43a) 5 Jany 98
She did her homework yesterday. 4s_ Ll Ll g cilee o

g aall & Negation Al A b Auxiliary Verbs 835 bua JudlS Jaal) Judi -
Base Jaal) disa (b (5% o @2 V(Do) Juadl s b ) Jadll g Jased) adalall g Jasesad)
form
She plays football daily. —, She does not play football daily.

.She 2% 4 Jelall @?Acl.m/dufs(joes Llanind oS g ;ksj\ il Jadll Lacf oS JaaY

He played football yesterday. He did not play football yesterday.
LS‘AL“ U=d played OY did Glaaisd "Gaau)j\ A5 e ylaa (.sj‘ D) w‘)n J=all o) ugs.i::;\!

Ll ol g ¢ jicaall Jas & Question JIsdl Al 3 aclise (S Jasll Jladl 3l llis 5
He plays football daily. —Does he play football daily?

He played football yesterday. __Pid he play football yesterday?
They play football daily. —Do they play football daily?

They played football yesterday. —»id they play football yesterday?
She did her homework yesterday. __yDid she do her homework
yesterday?

. Done s Jdeall Jlady G Cay yoatll —:adaala
Ll ol s sl g jlaall (e JS agd 3 aii LY Jadll sl e 38 ) —rdkaadl
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erbs to Have <l

ave,Has, Had JxdY) dc sana 2
Present past
I/We/You/They have had
He/She/It has had

oals e ol elladll Jladl
odie el cdalada iy ccllay ) Walina (S 13 oty Jai€ il :
I have a new car.suaa 5 b éllal Ul
He has a new car.3yas 3jbws cllay 58
He had a new car.sua 5k llay (IS 5
I have my lunch daily. e s2 ¢)asll asks il il
I had my lunch yesterday. 4a Ll ¢lasll alada < ol L
o) eana 9 ¢« Perfect Tensesietill i.mji\ O Sa ‘;a lalilexiod 130 3ae e JledlS Sllatl) Jladi ‘gh'iﬁ
Past participle . PPN Cay joail) 8 ()55 Juad¥) 038 5 dpatt ) Jladl Ly
I have just eaten an apple. 4ali sl 5ill Ul
eatd=dll Gl (o paill 4 eaten o oS BaaY
cat- ate- eaten
V1 V2 V3
I had finished my homework

Ali has bought a new car.

buy s8.d5Y) iy yail

Modals #2s4l)

i) Jadll Yoo jan b o5 JalS IS8 Alaall & Jall adl g (e juad Y LY ASAIL Cuvan 5 [1])
Juadly aa) jall (any 8 cansi Liag) 5 3 gualal) inall plai¥ Baclise Jladl Ca s k) o2a () 555 5 el
_:dhcdg)uﬂ\

Will/ would—=s s~ ,  Shall/ should < s« , Can/ could W (S«
Ought to %1 , must <2 , have to, has to, had to,
Dare 3x, need zUs |, used to «
Base form Liad) dasa i (58 O a modals Jadl 2 (S 531 Jadll -
I will visit Aqaba tomorrow.
Ali could swim in the pool.
Ali ought to write his name on the paper.
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WB 16

'. ~ ‘ ‘:ﬁbm‘
Simple Past

I visited Ahmad yesterday.da Ll seal &) )

ol ‘5..'4\.4\]\ ) alaall ui L_Ac U yas ‘_,_"J\ YA Lz 38 -4daa M

e Yesterdayis Ul |
o last+ (=), last week =Wl & sa¥) | last month, last night, last summer sl canall |
e agolis -Three years ago. Cuae sed SO (4
e -in 1980, W) b my6  -on 1/3/1980./ when I was/ were
e -before+S+V2)
> D) palal) ¢S i
LA ) aliial) Jadll AT ) (ed ) A8aals Tl bl )5S
s iy QLY A elle ) Jadll U Cay yeatll Jlesiad cand frregular verbs\ 33l JuadY) L)
(S 138 ke 353 g pall 33LEN JLasY)
- I taught <xle at this school three years ago. (teach)

- The camel ate all the grass two days ago. (eat)
¢ Saguual) (ilall (b AL 0685 S
I didn’t play football . J2dll Huaa Jd did not 48l Japall bl 8 &) o ¢S
) plal) (b sl 555 i # (1]
oL ay Jadll 3 6Y) iy puail) puaig Jelill S8 did pags Jasasd) (palall B JIadd) (<
I played football yesterday —— did | play football yesterday?
.(play) sudas ) il Jadl) Uae) (ius Bal

D,

gadlall
S+V2/ Sdidn’t V- (yesterday, ago, Last +(=J, 1999, Later)
1- In 1975 my family ............. England on an aeroplane. (leave)
2- Five hours ago, we ............. in Amman, Jordan. (arrive)
3-In 1986, my family and I ............. to England. (return)
4- Lastyearl ............. two months there. (spend)
5- My sister and her husband ............. into a new flat last weekend. (move)
6- He had looked for work. Then yesterday he ............. offered two jobs. (be)
7-1............. early to irbid last week. ( not, arrive)
Answers:- 1-left 2-arrived 3-returned 4-spent 5- moved 6-was 7- didn’t arrive
—2d8lu & g Adid
1- Hatim's father ................ last year. He had worked for the same company all his
life. (retire)
2- - My sister and her husband ............. into a new flat last weekend. (move)
3-Fatima ................... her homework three hours ago. (finish)
4- Hatim had saved his documents before the viruses.......... his computer. (crash)

Al as 1) A past perfect s % by simple past o O -: (daadl)

5 kialy e M) Al e U gadls
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The law

MODULE 1: World Issues

D
1

Present perfect adll g jlaal)
Present Perfect Continuous

SAlal) Uil £ jlal)

SB 13

Lad g ¢ (aiesall alill £ jlaall g alill & juaall ) ouud 8 (g gind A g¥) Bas gl o calllal) AT (Aiadle)

B

Jalai g J shaall 7 pdd) Aali (e o) g 2a o alnall g qallall ey 5 A8y jhay rlgdall A1 Laga ydi ol (e
tas agdl O B e el ) QA (e lail) B 3S ddaas A g gdall ALYl Lagin ild g dl)
Ciladal) e JAS) A g3 Gaddall o)) ol (Al Lale 3056l Abiad AdS g cpia 3 O GAD Cp gedle

sl el g (padlall Cpaa (pa cuilS ABLuad) il jgal) 8 5 ) 5ol Abicdl o)) 1A Jlag ¢ Jghaall g sl B

Present Perfect alill £ jLaall

Present Perfect Continuous siuall alil) g jLaal)

Subject 2%( he, she, it) + has + V (pp)
Subject z=x(I, we, you, they) have +V (pp)
JaiSa (J'l;_'\\) Ll e dhaaiil e\_ﬂ\ t)l..'a.d\ Sz
Finished
anall agii o 58 il Al g jliaal A Jaaios -
so far, recently, already,lately, just, ever, yet

Subject 2 4( he, she, it) + has been + V-ing
Subject zx(I, we, you, they) have beent+ V-ing
not finished .43 al 5 alall & 12 (53 5 (alax)
sk oLl e S Sl painaal) Sl g jlmal) Risea Jantiasi -
Asual gl Al a6 Ladie Aald
How long, all (<)) ,for, since,

AS yidal) eyl
for,since,long

Jia (5 e s siia s i€ o g juiadl) (K5
- You have recently slept.&idic ilea

- You haven’t recently slept. 4:dic

- Have you s recently lept? wad J) s

- Why have you recently slept?Ja sk J) s

a5 JSAl e (3 5k e Lhla) Sl Al alass -
_ileal)
Jlie 0 s (e s CaiaS painnall alil) g jlmdl) (<5
- You have been sleeping all night.didie dlea
- You haven’t been sleeping all night. 4.
- Have you been sleeping all night? susad J) 5
- Why have you been sleeping?J: sk J) s

( working, been working, work)
5- Shorouq has

A8 L) ¢ ghaad) ALinid

1- You look a bit tired. What have you .......... doing? (be) 2008

2- How long have you been .............. Hotel Management? (learn) 2008
3-Thaven’t.......... my friend since the last meeting. (see) (2009)

4- How long have you ........... for this company? 2010

...................... her homework for three hours. (be, d0)2010

6-Maha ............. to be a doctor for six years. (be, study) 201 1) s zsal

7-Nour ...........e.nne. an essay all morning. (be , write)2011

8-Maher .................. his driving test, so he can borrow his brother's car next week. (pass) (2011)
Answers<aY)

- been, learning, seen, been working, been doing, has been studying, has been writing, has passed

6 kialy e M) Al e U gadls
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D

(@)

Present perfect and present perfect continuous saiwal) alil) £ jLaall g alil) £ juaall -1

Present Perfect ol ¢ jladll

- AN

Subject 2.24( he, she, it) + has + V3
Subject @=x(I, we, you, they) have +V3)

so far, yet, ever, never, already, recently, just, often,
for, since

How long, all +(), long, every day, over the last()

Present Perfect Continuous j<iwall sUll & jliaall

haven’t finished, hasn’t finished, for, since.

Subject 2_24( he, she, it) + has been + V-ing

Subject g=2(I, we, you, they) have beent+ V-ing

gty B Al

I-She ..o all night. (be, sleep)

2-She .o since two hours. ( sleep)

3-They coovviiiiiiiii, for two hours. (not, be, sleep)

4-They c.ovvviiiiiiiiiian, two hours so far. ( not, sleep)

5-She ......... already/recently/just/ lately............ her homework. (finish)

Answers:- 1- has been sleeping 2- has slept 3- haven’t been sleeping 4- haven’t slept 5- has finished

AU £ el cus 5 (5 a3 Al Adad) ixa La -
We use the present perfect simple to talk about
1- the fact that something happened in the
pastalall (8 Juas 38 Ll o) dia -

I've swum in the Dead Sea.<uall sl 8 G 2
2- a past experience or achievement with a
definite result in the present:
@Bl dnging ol Sl o) 4y el (e Cuaall
: : : i
I've broken my leg - which means I can't go
skiing this year.
Fol Qladll aadanad Y B3 ey 138 - 38 O puS 28] -
Aaull eda
I've passed my driving test, S0 | can borrow his
car next week.
(Y 43)\:\“ EJLC\H\ @\Llu\ Sl c"édl:\ﬂ\ u\;fm\ &"_1)3;\ al
& Yl
3- finished activity. s¢iie bl

- The doer has finished the activity.
dalal) gl a8 Jeldl)

Laial) alil) £ jliaal) quS S g 9ad Al Alaad) ira e -
We use the present perfect continuous to talk about
1- to talk about an activity which continues over a
length of time:
B gl) Cya Alysha B0 sy (gl g LS (8 Epanl
I've been reading a book about the history of law-
making.
,Q)AGJ\@)SSQ:;QUS\)E\U\
2- to stress the length of time an activity has
taken: bLiil) Lgd wiu) ) B yadl Jdsb s asull
She's been training to be a doctor for six years.
g o Baal Apda 588 a5 o -
3- to talk about an activity which may not be
completed:4ia & bldi oo
Nawal has been writing her economics essay all
morning.zluall J sk Labaidy) lgillie i o) 5
(She probably hasn't finished writing it yet.)
2y RUSH e ol Ll Jaiaall (g0
She is propably still writing—iSas <l j e il Jaisall (e
4- to talk about an activity which is repeated over
a period of time: <8 1) (1 3 538 P& ) S bL&S (o yaall
The police have been interviewing people all week.
&wﬁ!\dswtd\@é;;ﬁ&}ﬂ\_
We've been playing tennis this week.
5- unfinished activity. ¢t e Ll
- The doer hasn’t finished the activity. ( he is still
doing activity)

7 iy o 3y Al e U sals
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—sdand) laa oy cild g i) o ABiLud) < giad) Aliad -
E-Study the following pairs of sentences and answer the question below. Write the answers in
your ANSWER BOOKLET. (2 points) (a2 zl¢ie 20084 538 3 93) Jised) 8 il g Gailaad) ()
a. Laila has lived in Amman for three years.
b. Laila has been living in Amman for three years.
Which sentence indicates that Laila still lives in Amman?

e 5 et 13 Le (U ) e Ales

Answers:- b. Laila has been living in Amman for three years.
E-Study the following pairs of sentences and answer the question below. Write the answers in
your ANSWER BOOKLET. (2 points) (p:2 zlgia 2008 453 5593001 30d) (& )5 Gailaad) ay)

a. Fatima has read a book about ancient history so far.

b. Fatima has been reading a book about ancient history for sometime.
- Which sentence indicates that Fatima has finished reading a book about ancient history.
Answer:- a. Fatima has read a book about ancient history so far.

* Choose the suitable item from those given to fill in the blanks.

1- You look a bit tired. What have you .......... doing? (be)

2- How long have you been .............. Hotel Management? (learn)
3-Thaven’t.......... my friend since the last meeting. (see)

4- How long have you ........... for this company? (be, work)

5-Shoroug has ...................... her homework for three hours. (be, do)

6- My friend has a headache. He has ................... TV for a long time. (be, watch)
7-Maha ............. to be a doctor for six years. (be, study)

8- Khalid ............ recently ............ from Yarmouk University. (graduate)
9-He ........... . of this since he started his university life. (be, dream)

10-He .............. a school teacher since 2002. (be)

11-Nawal................... her economics essay all morning. ( be, write)

12- What have you..................... so far this week? (do)

13- How long have you..................... these things? (be, do)

14- The policehave .................coooee. people all week. (be, interview)
15-She ............. to be a doctor for six years. (be, train)

16-1..coiiiii, for three years / since 2006. (live)

17- They’ve ....coovvvniennnnn.. at university for five years / since 2004. (be, study)
18- They have.................. the law — they should be punished. (break)

19-T've coovvenennn. my driving test, so I can borrow his car next week. (pass)
20- How long have you .............. these things? (be, do)

Answers 1-been, 2- learning,3-seen,4- been working, 5- been doing 6- been watching7-has
been studying 8-has graduated 9- has been dreamingl0- has been.11- has been writing 12-
done 13- been doing 14- have been interviewing 15-has been trainingl6-have lived 17-been
studying 18-broken 19-passed 20- been doing

1-Study the following pairs of sentences and answer the question below. Write the
answers in your ANSWER BOOKLET. (2 points)

a- Nawal has been writing her economics essay all morning

b- Nawal has written her economic essay this morning.

- Which sentence indicates to an activity which may not be completed?

8 iy o 3y Al e U sals




The law AN Caslal) - S &y 50 o A Ma ¢ & Adad H) S 50 ¢ 0772111116 Aseliall 38 50 e -olac] -

2-Study the following pairs of sentences and answer the question below. Write the
answers in your ANSWER BOOKLET. (2 points)

a- Hani has studied law and history this morning.

b- Hani has been studying law and history for four years,

- Which sentence stresses the length of time ?

3-Study the following pairs of sentences and answer the question below. Write the
answers in your ANSWER BOOKLET. (2 points)

a- The police sergeant has interviewed two people so far.

b- The detectives have been interviewing people all week.

- Which sentence indicates to an activity which is repeated over a period of time?
Answers:- 3

I-a 2-b -b
. for s since O A
since i :- 533aa yie ) Adads for 3« ;- A glao 4110 33 yid
2002, 7 o'clock, yesterday, last , when, S was, S | 8 years, 7 hours, all time, long time, a
were. 9" century, 3000 BC. noon, January, few weeks, a length of time, over a week,
Friday, several
1- I have known her last year. (for, since)
2- We will be gone two days. (for, since)
3- We have been traveling _ several days. (for, since)
4- He has been gone Friday. (for, since)
5- The two girls have known each other ................ they were at a school. (for, since)
6-I've lived here ................ three years .
7- They've been studying at university ................ 2004. ‘
AL O g Al (e 3l
1- The two girls have known each other ................ they were at a school.
(for, since, from)
2- Asma has been palying the piano................ she was thirteen.
(for, since, from)
Answers:-

1- since/ 2- for 3- for 4- since 5- since 6- for 7- since

(i) J) g A8y ylay oM cpjlaill (8 el Leiaa 08 5 Lale ) QUSI o jla (D caadi e &= 58l 138 2ay
(L@M“ b oe Lkl

SB 13

(l Underline the present perfect simple and continuous verbs in these sentences.
(ALY ia ) | i) dlill g il g jladl ) A JedY) e s Uad g
b They have broken the law — they should be punished.
¢ I’ve been reading a book about the history of law-making.
d Anyone who has committed a crime will have a criminal record.
e Students who have been cheating will be punished severely.

9 ordaaiy o MY dallakr e U gals
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f He’s been studying law for three years.

Y . — .
(2 How are the two present perfect verb tenses formed 244Ul Jud¥) dua JiS55 oy CiiS
aay)
Present perfect ( S +have/has + V3)
Present perfect continuous ( S+ have/has been v-ing)

@ What is the difference in meaning between the underlined verbs in these pairs of sentences?
~1A) Jaadl (e JS (b adk Lgtiad ) Jlad¥) o inall (8 (580 La
a Ali has studied law and history this year.
Hani has been studying law and history for four years.

b Nada has written two essays this morning.
Nour has been writing an essay all morning.

¢ The police sergeant has interviewed two people so far today.
The detectives have been interviewing people all week.
Answer 4aY)

(in each case, the first sentence tells us about a recent activity that is finished but still related to the
present, whereas the second sentence suggests a continuous activity that may not be finished).
Al Alead) 8 Wi ¢ oumbally Jai ya J1) Lo (815 il 38 s Ll e Uy W1 dleall dlla S 3 )
(e e 0583 Lay ) patane Bl )yl Lg3ld
@Work with a partner. Look at the illustration and discuss what has happened and
what has been happening..caa; g3l Lag Gida J3la (G8U 5 3 ) el ) B3, dida ) aa Jas)

Answer &)
-There’s been an accident. A car has knocked a man over. He has hurt his leg. A doctor has arrived.
-Somebody has called the police.
-Somebody has broken the shop window.
-A crowd has gathered.
-The paramedic has been helping the man. He’s been sitting on the pavement for a few minutes.
-The police have been interviewing witnesses.

a8 Cunlall 4ed = s 28l s ) Credia 085 5l ol elllia -
Ada Al Jail 8 aaoal -

Dol il juS 38 aaaal -

3353 33a] Cisa ) Lo (s 431 sl 3Ly Canlal -
J_%..ﬂ\@ds;ﬂ:\.kﬂ\_

10 ordaaiy o MY dallakr e U gals
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@ Now write two different answers to each of these questions.
calil) & jlcaall Ay ol o a5 13) ALl £ jlaal) Allay s i) Jaal /o) g JSI (uEAlE Cpigla) ciS) ()
) alilly @l g a3 1) paiasal) ALANL qusad g

a What have you done so far this week?
I’ve played tennis three times. / I’ve ...
b What are some of the things you’ve been doing for a length of time?
I’ve been playing the piano. / I’ve been ...
¢ How long have you been doing these things?
I’ve been playing the piano since | was 13 / for 3 years. / I’ve been ...
d What have your friends or members of your family been doing recently?
Eman has been revising for her science exam. / Tareq has been ...

WB 6

w Linking the past with the present (the present perfect)(plll £ Jbiaall) palally oalall by

"1 Look at these illustrations a—f. What has just happened? What have these people been
doing? Write two sentences for each illustration using the phrases given.
Sl a3l 5 gem JSU il €180 slany Gl Y 58 (IS 13l Shaa 13 Jiudl ) gaall ) ki
Uandl)

\ G 3
L P gy

—

e

2T - =Y
3 R ==

I G
W .
d 2 g
L s
%) _
LYY w«]@
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a come out of the sea / swim with his friends
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Answers:- <L)

a- He’s just come out of the sea. He’s been swimming with his friends.

b- She’s just been shopping. She’s been buying food for her family.

¢ She’s just come out of the library. She’s been doing research for a school project.
d He’s just come off the football pitch. He’s been playing football.

e They’ve just had a family meal. They’ve been celebrating Zaid’s graduation.

f They’ve just finished work. They’ve been working since 8 o’clock this morning.
Choose the correct verb form to complete these conversations. You may choose
both, Gl JUdiu Ley; , ) sal) 138 JlasY J2dll maaall JSAI) )

a A -What have you done / been doing since I last saw you?

B- I've passed / been passing my driving test and I’ve had / been having interviews for a
university place.

b A- Have you ever learnt to play / been learning to play a musical instrument?

B -Yes, I've started / been starting learning the mizmar, but I’ve only played / been
playing for a few weeks.

¢ A- Have you had / been having a holiday yet this year?

B -Yes, we’ve just come back / been coming back from Aqaba.

Answers: <blaY)

a A been doing

B I’ve passed / had or been having
b A- learnt to play

B -started / been playing

¢ A- had

B -come back
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The law
MODULE 1: World Issues

PR (e2all Meaning
1 | confidential a2 (5 | secret, private
2 | fake & e ¢ A8 2 | not really
3 | fraud Juis) | the crime of lying or cheating to get money
Jul e Jgeanl g 1ol (S0 g 2
4 | identity theft e glae 48y | the crime of stealing someone's personal details.
duadd Lo paddldnad d o glae 48 puda
5 | solve a crime Aoy all LK) | to discover who commits a crime.
el 8 (53 jadill) i)
6 | transfer Jiih | to move from one place to another
AY e e JEmy)
7 | virus o= 988 =l | a bad program which damages computers.
U_ﬁ_m\;.“ BYN] Lﬁﬂ\} S C.AL\).I

An area of the law that is changing very quickly in the modern world is the law related

to computer crime. Increasingly, criminals are using computers to help them commit new

crimes like_identity theft, and to make it easier to commit old crimes like theft or fraud.
Technological criminals may get into computer systems to find out confidential information
and use this to make money.

e e ISy salad) il o Glaiy o) O ) g8 pualeal) lladl a3 508 Ao jun iy (5315 58N e )
Sl ¥ Jand 5 cdpasd o glae 48 s Sl 5apan 23l ja AISE) e agiaebual il sall () 5a2in () 30 o)
LAY o pnlall Aalail ) Jgaad) sl (S Lin sl i€ ga yae JLiaY) 5 48 el Jie dapall o)l LSS

el et L gaaiinng 9 4y yus il slaa

Unfortunately, computer crimes are often more difficult to solve than traditional crimes
because the criminals are invisible and their actions may be hard to prove. It can also be
difficult to prosecute a computer criminal successfully because usually nothing is actually
stolen or physically damaged. Hopefully, in future, computer experts will discover more

effective ways of detecting such crimes.

10 53 iy o plall e s U (055 0 (555 L] comaml) e lne | o s 1505
) B (008K (8 g gl | R o) ed..\sl.ml\‘;‘Mdyw\w}.QMJ@J\Mé}H;@J.}ﬁY
Syl o3 Jia GLEST b dlled
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A particular factor in the growth of computer crime has been the increase in the number
of ordinary people who use Internet websites to buy things, to book holidays or to access their
bank accounts in order to transfer money or pay bills. This new type of business has attracted
techno-criminals who may order goods and services without paying, or break into the computer
systems of businesses or financial organisations and either move money to their own account
or send viruses which can seriously damage computers and the information they contain. These

viruses can affect millions of people worldwide.

o pid s V) ) ge (o slaaiony Al Gualad) Galall dae 8300 3 OIS G guladl A sad A paldd) dalad) o) -
28 Janll e 2paall g 5l 138y il iy 51 1 saY) st Cigs Sl agibibn 1 J5aal 5) Jlaall sl coluay)
sl ) Bl | a5 €l gmy ) 350 ol y o) ol sl (Ui 15300 a yoe it
Gl sl olad JSGy Al ) LealSaly Al b g il | by ) pald) agalad ) sa¥1 ) g O ) ALl 5 4 sl

Al U Gl e o 5355 ) (S gyl o34 L a1 sl

Computers with Internet connections can also be used more safely by criminals than face-
to-face meetings or telephone conversations to pass on confidential information or to plan
crimes. In addition to this, computers allow criminals access to millions of people worldwide
whom they may persuade to pay for something worthless or to support a fake charity
organisation.

Lo s LAl (e L3S) (aa yanall Jo (e Ll A8 S Jaid () L) (S i W) daal 5 50 Aliaiiall gl sall ()
Glondall celly ALzl L yall Lobaill ol dpaddll Gilagdaall o Japaslailed) ¢l gall o) jal gl aas
acal gl dadl) pde o b (o) g2y Ol age ag_‘}l&a\__}w'ajbeh_d\ Jsa ol pudle dPJﬂu.\AMGAM.}
et 54 A dman
Questions 4Ly
1- According to the text, there are many crimes that the criminals can commit by using computer.
Mention one of them. 8as) 5 S (o gulall e\:&iu\.g Oseanall LS 5 (.\3\‘).; sae Slllia ¢ yaill e lalaie
2- What is the ( aim, objective, goal, purpose) of criminals' to use the confidential information?
Apadtll il sheall alaiinl g cgulall o jae dde L
3- According to the text, there are many reasons/causes which make discovering computer crimes
more complicated. Write down these reasons.
Ll ol ) fagat K)o gulall Al s SLEs) Jaad A";“d\ Gl sae il (paill e lalaic)
4- Write down (Quote) the sentence which shows the difficulty of punishing the computer criminals?
f sulall (0 yne Adlae 4 graa yedai Al Alaal) i)
5- What is the main reason in the growth of computer crimes?< sulall a3l ja gail oo Hl ! L
6- According to the text, there are many actions that people do by using internet. Write down three of
them.
e D0 i) e Y aladinly (el L sy gal 20 lllia oaill e Talaie] -
7- Write down (Quote)the sentence that indicates to the serious affect of the viruses sent by the
criminals? e el (e Jus 3 Sl il g il pladll A1 ) i ) Alead) s
8- Write down two kinds of crimes that criminals commit by persuading people to do them?
Sl ALally Gl il LB, () el L 31 5l (a3 i) -
9- According to the text the writer says that computer crimes are often more difficult to selve than
traditional crimes. Is he justified in this? Explain.
s lld s Ja Al sl e i ol i o palal 285 ol sy S il e Vol -
10- Find a word in the text which means " the crime of lying or cheating to get money" .
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11- Find a word in the text which means " secret, private " .
12- Find a word in the text which means " the crime of stealing someone's personal details"
13- Find a word in the text which means " a bad program which damages computers"
14- Find a word in the text which means "secret, private'
15- Find a word in the text which means "not really" .
16- What does the underlined word " confidential " mean?
17- What does the underlined word " fake " mean?
18- What does the underlined word " fraud" mean?
19- What does the underlined word " identity theft " mean?
20- What does the underlined word " solve a crime " mean?
21- What does the underlined word " transfer" mean?
22- What does the underlined word " virus " mean?
23- What do the underlined pronouns refer to? szl 255 13 e
Critical Thinking:-
1- It is said that computer and internet are a double-edged weapon (have advantages<lws and
disadvantages—\iw). Discuss this statement and in two sentences write down your own point of
view.dkidea s SY (ilea (85 Sl oda (S8 aas 53~ 0l sa i W5 Cosudall ol JLa
2- The government should punish the internet criminals. Think of this statement and give three
ways to punish these criminals.

gl e dflaal ok S SH Cpilen By B bl B 4Sh AN e Bl O AagSal) oy
Answers:-
1- Identity theft 2- to find out confidential information and use this to make money. 3- because the
criminals are invisible and their actions may be hard to prove. 4- It can also be difficult to prosecute a
computer criminal successfully 5- has been the increase in the number of ordinary people who use
Internet websites 6- to buy things, to book holidays or to access their bank accounts in order to transfer
money or pay bills. 7- These viruses can affect millions of people worldwide. 8- to pay for something
worthless or to support a fake charity organisation.9- yes, he is, because the criminals are invisible and
their actions may be hard to prove.10-22 <llSll J g asl
16-criminals=them /it=to commit old crimes like theft or fraud/ criminals=their /It=to prosecute a
computer criminal successfully/ ordinary people who , their/techno-criminals = who , their / viruses=
which / millions of people worldwide =whom / criminals =they

Critical Thinking:-

1- Yes I totally agree, because computer and internet can be used in a positive or a negative way.
Computer and internet can be positive things because they help us to do our thing faster and better,
but sometimes they can be negative because they isolate W 35 from our families and friends.

2- There are many ways to punish the internet criminals. For example, the government should put
them in prisonga~l. Also, the government should banss<_=~3 them from using internet. In addition,
the government should fineag<: 5 them.

( Critical Thinking) 2Ll ,<isl) sa La

a2t o) a5l g s g A8l 5l dpal o aSall e callay Ladie calldall Lgpa g 4iad dglae s 281yl
el jaY)

ENEN |

e slaall adaial 22

(B gall 13y (3lat e Lualy 5l 5 Le (i g ial ) ;i) 3
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D

Words with more than one meaning
o (e SS) Lgd clals

B laia¥) 48 ) g ha L0 dadaal) & il A e 508l ga ) ¢ 12 dadia qulal) QUS (e 3 gdla (p pall) 38

to help you draw straight line.
A g Al e daive daki

lal<l O g
N. P il Jha
1 | Society - Club or orgar}ization f?r people 1- When .I was a student, [ was a member of the
W with the same interest. 4ws3e 5l 535 | Law Society.
Slalaia ) (udi agd il (ulill Ol a8 piac S (Llla i€ Ladie -]
e - All the - peop}e living ip a 2- A strong legal system is important in a
country. i 8Osy (pdl) (Wl IS | modern society.
ALl asinall 8 age s s sl o gilal) sl ) D
P uler - Someone 'in chargq ofa country, 1- Tutankhamun was a very famous Egyptian
s such as aking. (s34 ny pads ruler.
S AL Jie (il gl et b yemne LSla IS (5l e - ]
3 haa ) - Straight piece of wood or plastic | 2- I'm doing my maths homework - can I

borrow your ruler, please®
(i Jhaa 5 jlrins) Sy Ja —ilanaly 1l ol g0 80 )2
BIA (e

3 | property

- something that belongs to
someone. L gaddl 3 gy (Uady)e L

1 -Taking another person's property is theft.
A8 e piiay JAT (i Agle 34 -]

- kind, sort_aas g 5

Al
- land and buildings. <Ll o= ¥ | 2- The price of property in the city has
<l e increased dramatically this year.
sda € <G ala 5 a8 Al & cjplal) el o) 22
) Aad)
A [ - area where people play games 1- In the final of the championship, the players
cala like tennis and squash. <us OlSall were on court for two hours.
: Gl sSan 5 aiil Jia Slal¥) il 4 canly | e ls saad Caalad) 81531 () sae DU el hall g i -
daSaa - place where trials take place. 2-Three men will appear in court tomorrow
GlaSlaall 43 Jéa% (A} ISl accused of dangerous driving.
el 83U (regie AaSaal) (5 sedane Jla, A -2
5 Vi - (adj) very good, high quality > |I- He did a fine job of washing my car
- e Baga glas b et & aa Jasy o8 81 -]
- (n) money people pay as a 2- He had to pay a fine because he was driving
dal & punishment for doing something without insurance.
illegal Ol (50 358 S A3y A & ado adle a2
agald e iy giaS il dnday 53 JW)
58 e Jany
6 | type  write using a machine Stasiv 5 1- Secretaries used to spend most of their time typing
Al letters and reports.
& S Al b b 18 5 (ines o s S e o -]
g8 o

2- What type of music do you like best?
el ) sl 1 e-2
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7T | case
J Ja 1- an example of something 1- Take an umbrella in case it rains.
CHERCE | occurring; s s e Qe bl o Jla Al les 34
Axsile 4t | 9 4 [egal actionis 58 duxad 2- This case is difficult to solve.
dda Leda Conall (p Ayl oa -
3- a container for carrying things | 3- I carry my papers in a case.
LY Jaal Lo A 8 3 Jaal -
8 | mean:.x | |- signification to a word or idea 1- What does this word mean?
, dm 55 g ALl e Al 020 (n 13a -
RAE O ot generous; Jiz «a S ne 2- My brother is mean with his money.
y iy A
e i 3- the average of several quantities | 3_ What is the mean of this number?
Baanie dlua lilee Jane 9l ;Y1 o2 Jara La -
9 | note dBad | |- a brief written record; 1- T wrote a note to my teacher.selaa dadlae cuiiS
A 583 paite daadle - | -Please note down what I tell you.
L 2- a noise made by musical Sl ATl L Jaad ) s ) -
Aard Instruments; - Ci cal i e deid
A ge Al e Cigea | 2 1S a musica note.' i 94 .‘,_A C .
A 43 3- 4 picce of DADer Mone 3- I found three notes in the stairs. &30 G
P p pap Y AL e das el
A dd ) -
10 | spring J<i 1- a season; Jwab 1- Spring is my favourite season.
& 3 Jemial) Juaadl) p sl -
. 2- a rapid movement; 4 y 4S 2- I always spring up when I hear the doorbell.
wald) AL G pan! Ladie A 3881 Laila -
sla Jgta 3- a metal coil; Faze o=l 3- The door opens because it’s on a spring.
Al o de s i QU -
4- a place where water comes from | 4- We get our water from a spring.
underground (. slall 7 5 A (lSa Lol e el e Juanii o
=Y
11 | row <iw | l-anumberofthingsina straight | 1- There’s a row of seats in front of the screen.
line. aivee bad 3 sLEY) (e 2 LA Al sl S (e iaas llia
' 2- a fight. Jlad gl 3 2- Can you row a boat?
s el diaad o ikl Ja -
e 3- propel a boat with oars 3- Please don’t row — be friends!
Calasay el & sy leliaal ) 98 oS ) g aldll Y oS ga ) -

Ara 2014 -: ALl < giad) AL -

B. Study the following sentence and answer the question that follows. Write the
answer down in your ANSWER BOOKLET. (3 points)

Please don't start a row- be [mends!

What does the underlined word mean?
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-:a...'\ébb! A -
1- What does the underlined word " society" mean in this sentence?
- A strong legal system is important in a modern society.

2- What does the underlined word " ruler" mean in this sentence?
- I'm doing my maths homework - can I borrow your ruler,¢

3- What does the underlined word " property" mean in this sentence?
- Taking another person's property is theft.

¥
Q Use one of the words in 1 a-d twice in each of these sentences. (WB 5)
Jaadl o2 A o) cilalsl) Jaxin

a- The judge in charge of the................ carried all his documents in a black leather .................
b-The................ heard that the crime had taken place on a tennis................
c-The ................ weather made me feel happy, but my mood changed when the police officer
gAVE ME A..uvvennnnnnns for driving too fast
d — A- What does this word................ ?

B- o is the opposite of generous.

,Rgdl;;\d}u:\ﬂasé‘sé‘tﬁu}dida;w‘Jamtgﬂ\‘smté.\\u\ 1

ol ada 8 C A;mw);l\ub;ww\ 2
cm\)j\%ﬂ\‘;cmm&)uhhaéedﬁumF@\fﬂ‘ad@bﬂ\‘f\bm‘wﬂ:ﬂ

Qﬁ‘h«m‘b%\ﬂu -4

A8 (Se s Jaadd) -

(SB 10)
’s ~~You are going to listen to a talk about the law. Before you listen, guess and match
( Ythese words from the talk with their meanings.

(4.:1;‘)’\ i) Auliad) dalSil 2l Jua g o gllaall

> /i —

— 2 —
Words <lalsl) () QLS ha 10 dadaa A clalS )Meaning (siral)
1 | enforce s <) = to put into practice / carry out
2 | governaSs to control
3 | guilty—ide responsible for a crime
4 | innocent (5_» not responsible for a crime
5 | jury Osilae 4 a group of people in court who decide whether someone is guilty
6 | legal S 51 relating to the law
7 | principle I rule / belief
8 | property 4Sk something valuable which belongs to someone
9 | prove b to show that something is true
—2d8 il & g Al
governsasal, legal 458 , fineddllis
I- Astrong ............... system is important in a modern society.
2- The driver paida ............... for driving fast.
3- Every country has a set of rules which ........... all individuals.
Answers:- 1-legal 2-fine 3- governs
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Expressing opinions in an essay

M&Aééi}\dﬁﬁ,\aﬂ\

. WB page 7 4aii¥) QUiS g SB page 14+15 qllal) GUiS ¢a 3 gala cay pail) 13a -

D

Crsl N gl Al il g G
o0 Paragraph 1 Background to the topic & sasall (e Ala
% Paragraph 2 Argument for (D) & g sall 2o b S8
¢ Paragraph 3 Arguments against (<L) & g gall 2ia s S
&% Paragraph 4 Your Opinion (i el i

Today, more and more people in Jordan are using computers for
activities at home, at school or at work. Such is the demand that the national government
launched a scheme to allow Jordanians to purchase them more easily. Many people are
using computers for all sorts of things - writing letters, searching the Internet or just
playing games. It is a great thing that Jordan has embraced modern technology so
successfully, but in this essay I am going to consider two disadvantages of computers.
Aaiil el g Jeadl s e yaal b el 8 Ul Curd ol () gedii (a1 8 Gl Gea S0 ¢ sl
G gal) ) sendivey (ubail) (e aed) A s IS5 el s Gain ,S a3l Adadld) dida gl) da sSal) (33ULY
Cpadal a8 Ga W o) (s.\.lnc c‘sud ) Alal¥) A jlaa 5 ca isY) ‘f Caanll cdﬁu)ﬂ A0S LGy alisl
el el i iliLa (Alaall o34 L}ﬁ oSl ccl.:.u Ahaal) L ol gl

In my opinion, the main disadvantage is that people may spend so much time on their

computers that they see less of their friends and family. Children who spend too long

playing computer games may become unsociable and forget how to communicate

normally with other people.

O ) S agiliida o 8 B gl e S8 () geay L Q) gl A 1) &) ) el (-

e Gsnmean Layy i geSl Clall A jlan 3 1508 U 5 () gunay () JUY) JB JS5 agidlile 5 agilioal
CsAY Gl e ads IS0 ) shial g5 S () gy 5 e Lial

Another result of people spending too much time at their computers is that their health
suffers. Sitting for long periods of time can hurt your eyes, cause headaches, or damage
your hands and arms. In some cases this means that people cannot do their jobs properly.

gy Al gla ) il e glalla Lmall sleadl a5 5uaS 3 gl e U slal U5 (o) duaadl 5 Al dais
Y Ol O i 138 VLAY mmy s e j3 g ehay 3 ) gl oo laal) ol e (5350 O (Sae
e IS agilal 5 Ll () ol
There is no doubt that computers are here to stay. Some jobs and many leisure activities
would be impossible without them, but we should be aware of the possible dangers of
spending too much time at our computers.
Al O S Aagd il Ul fpe paell g Cails o) (oaxs 8081 Chas g Gy gnaS) ) LS el gl
Lilada e 50 G 80 Ay 3 Alkiaal) UYL e s o (05S5 o) o 01 00 el s
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Werite an essay in answer to this question, J\s«d) 138 e dilaly Aha 4,US Jgla €

&% Do you think companies should allow their employees to use work computers
for their own purposes?

$Aalil) agudal £Y Jand) Gl o Jleniandy Lgadlh gl grac o)) cilS H&l) o () Siias Ja -

Your reply should be 100—120 words. Use some of the phrases from the sample essay on
page 1. 1 dada 4 AEal (e Slalbiaal asg aadiu) | 46l 120 -100 Gm 0S5 O g (<lillis) elils)
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da yiha A3
Do you think companies should allow their employees to use work computers for their own
purposes?

$Aalidl) agua) £ Jard) Gud ga Jlariaaly Lgdla gl grand o)) cilS yad) o o)) itiad Ja -

These days all companies have computers which may be used for storing data, printing letters,
sending and receiving emails or getting access to some sites). But some employees use these computers
for their own purposes and that might have negative and unwanted effects on their work. In this essay I
intend to look at some of the arguments for and against using computers in companies for personal
purposes.

First of all, I will discuss the arguments in favour of using computers by employees for their own
purposes. An employee may need to print a very personal letter or send an email at certain time, so he
can use the computers in his company instead of taking leave of his work. Sometimes an employee
wants to make use of his free time at work by doing some projects using computer programmes, or he
wants to develop his computer skills.

And now I will look at the arguments against using computers for personal purposes. An employee
doesn't have the right to waste time using the computers of the company for playing games or listening
to music. Some employees may install some awful programmes that may have viruses, with the result
that the computer will not work properly.

In fact, I believe that the companies should allow their employees to use work computers for their own
purposes providing that they don't cause any delay or impediment at work or damage for computers and
other properties.

il 1) 22l 5 Js ) el )l s eclilall ) 530 Jantost 38 3l Gl ) b <S50 IS LY 638
43l Gy Lalall agal 2 Y clalal) o3 () sleaion Greadiusall any (K1 @8l sall Gany ) Jaal) 4y IV Ay )
Jlanin] S5 e aal) lans () BB (5 58l ANaal 020 (3 gl o Byse yo s Tl I E0 A 58 0 (R
Aaaddl) () e AU @l Al 8 alall

zling 28 Cala gl Aalal) pgal 2 Y Gpeddiuall J (e clialal) Jlenting o Al eaadl gdUla Ul oY

AENJUB AFEL UL -JP Y PPN | [ OPL Rp JUT SUISV L PREPORLI PRgil- R PN RTR TS NETIF  REE VPR L IR PR
L ol e sasla el Jlanialy Uil (amy Jams Jaall 342 58 cay il 2y Cala gl Ulal alee a3 L)
Al ) jlga y pha

8 gl agpatl Ball elley ¥ Cala gall dpaddll () e S aludall Jlasin) i gaall J) 6 kil Ul Y1
Lasy (o Apaal) gl ll (s 051 i 28 Cpandiuaall (mmy Glans sall ) g Laia) 5l Glad¥) Caall 4S50 clads, Jlaniadly
A dS5 Jasmy ) g o puladl Lt Al Ay (il 8 g

Y o Japs dalal) agaal 2y Jaall s Jlenialy agpadiivea et (f cang il a0 (b sief diaall 3
AV LU 5 clualall ) 5 Jaadl & Bile 5l 5al G ) s
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w An incomplete essay 4lisa & Alia  SB 14

Discuss these three questions in groups. Make sure everyone in the group has a
"1 chance to say what they think.
$akiay )ilay J 58l de ganall B (o JS ol 3B cile gana (b COGN L) o2 (jEEU -
e Should we build more car parks in our large cities?
05l Line & ST e jlans (3Bl e ol Lide an g Ja -
e How should we control or reduce traffic in large cities?
Sl Oaall (8 alaa V) e JIE gl Hlassd Ca -
e Should we encourage people to use public transport instead of their cars in large cities?
50l el 3 agh s (e Yo dalall o al gall Jilas 5 latinsd e il anii o comg o -

7 Read this incomplete essay and discuss these questions.
ALY oda (8L g Alai€al) 8 ABEA) 30 -

a Which of the three subjects in exercise 1 is it about?
€1 el & M gl pall Caaai 13ka e -
b What ideas do you think are missing?¢elaliic) i 33 il S8V Lo

1 Traffic is an increasing problem in most big cities of the world. This causes difficulties
for ..
..... _‘(g_\s:l_m) eliae G oda é‘n“j‘uﬁ 35Sl UAA\eLuLgam\)ud&M}A d)})«]\ebd)y‘
2 Currently, more and more people have cars and want to use them instead of public
transport. However, ...
..... Ja Gl e aladl Jail) Jilas 5 (e Yo Ll o) 190 59 o jlaas (5 5Shay alil) (e 2yl Jia 220 @lllia (Llla -
3 The main argument against restrictions on traffic in cities is ... Many people believe
that ...
...... Ol saing il e mpaadl L o el (B s el e A g piall 5l i s 11 5 SA ) -
4 In my opinion, there will have to be restrictions on traffic in cities. The government
should ... of 4esSall e cony el (8 gl e a5 dlllia (5 0 g gkt dga s o
I believe that if we do not introduce new laws to restrict traffic, ...
...... Osoal e 3 skl Baaa (i) 8 aa 53 ol 1Y) ) e L) -
Read the incomplete essay again. Match each paragraph with one of these
' summaries. ......abailall 038 ga 88 JS G Jua s A) e ALl B
( a The views of the writer <ulSll jlai cilea
b The arguments for restricting traffic in cities O2all (& )5 yall 2 255 ) \<ay)
¢ The arguments against restricting traffic in cities O3all (3 s el 2usi i ) j\S8Y)
d Background information § s<asall (e 4la
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' riting.

You are going to write an essay expressing your opinions.
5 08 gy ANie S
The driver in the photograph has been stopped for driving too fast in
&

a residential area. Discuss these questions with a partner.
oda (ymils A€ Adlaia 85 508 Ao juey 4008 Capesy 48l 23 385 ) guall 038 3 3L
ey e Ay
a- Do you think there should be speed limits in areas like this? Why or
why not?¢Y 13l $13Ld € 3hliall s3a 8 de yull a3t dllia ()5S o)) cany 43 Siad Ja
b What should happen to motorists who break these speed limits?
e puall 2 50a (5 sty (pAll Gl Casy o)) g 13 -

f2 You are going to write an essay in answer to this question:
ALy odgt iday) Lo Alia uiivy
Should motorists who drive too fast in residential areas be banned from driving?
3308l (e 23S0l Bhaliall & de puy () 68 gy ) il pie g Ja -
a Decide what your opinions are on this subject. Is your answer to this question ‘Yes’,
‘No’ or ‘It depends’? ‘_As: Ay 43} o) Y ?\ (.\’-L’ d\}uﬂ\ (Y ‘_As: LﬂL\AA\ Ja &}.A)AH 12 ‘f cﬂﬁ‘) Ada
b Plan your essay in four paragraphs. Using the essay in exercise 2 on page 4 as a model.

Write notes under these headings:
cand e S, 4 dnden 5D by (e (8 523 sall CillaaSlally (pmiasd il 53 g ) 8 lillie ks

O sbied) o3a
% Paragraph 1 Background to the topic g sa sall (o dla
% Paragraph 2 Argument for (Dlius) & sain sall aa s S
& Paragraph 3 Arguments against (i) & gun gall 2a 3 S8
&% Paragraph 4 Your Opinion (< ol i
,,r3 Write your essay in 100—120 words. ALl 120 -100 O illia cuis)
a Use ideas you discussed in exercise 2 above and expressions from the Useful Language

box below.

il 338l CLISH G5 s2ia o el s o) 2 el b Ll i) IS8V Jatiad -

b Follow your paragraph plan and express your ideas clearly and simply. Make sure
readers know what your opinion is.

okiden s o8 e O sagdy ol il ol 1aSlie (€ ddabi g 7 s s Sl ) 0p e gl aal) Jaladia ai) -

N Check B

,4 When you have finished writing, read your essay carefully, and be sure you follow
all the essay's headings.
ALl o130 aran Coali o8 iy asliy Al Slillha B AUl 450 Ladie -
USEFUL LANGUAGE 33ia cilals
%  Saying what you intend to write about 4585 &) & 5 les Eyaal) Juy)

Paragraph 1- In this essay I intend to look at / consider / discuss some of the arguments
for and against........

g e G HSEY) | ey (U1 /e W) B cal /0 lail) oy ) U AlEa o2 b -
- First of all, I will look at / consider / discuss the arguments in favour of / against ...

( s 3all 5_4S8) am il g cqn A JISEY) (E8ULL ¢ co b JS U -
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&  Presenting arguments J\S3¥) ayaii
Paragraph 2- The main point / argument for / against ... 3 /ae S8l /Ag )l ddadill o)
Paragraph 3- Another point / argument ... ) 3,88 5 4kt

%  Expressing opinions s ¥ (& sadl)
Paragraph 4-In my opinion / view, ... dga s cuea
-(In fact) it’s my view that .. & ki dea 5 A8l 3)
- believe / think that ... ) el
A LY Uiseies A AU Jgla alldall 20 Y -

5 L) ) saats Loy i e IS8 e g sints Lol U el ) oS b - 1) 588 -

D e Ll 5 Gl e g sua sally

Commuters 3Liall, businessestlaill JweY), school childrenos el Jikl, emergency
services (s_)shll Gladd expense <oladill

bl Al e ¢ gaall Tabudi 14500 8 84N -disadvantages of cars <5t Jie pollution ¢
4l cldlnay) traffic jams _ball <danger.

GO ldl Gliia e ¢ guall aladi AR 5_yadll _advantages of cars Jic .l ) Cilis
duad il 4 2l personal freedom 4!l ¢« conveniences
Al C88) a9 gyl Al bl (g saling Gl they really need cars in certain situations

Jal) Jilas 5 Guend () A Sl e any DN | g gua sl b ) Gl (s - dag) ) 384N -
sdlimprove public transport s Sl i o S ¢ gridlock e sws 312 s Sl ¢ pollution
will get worse.

Should motorists who drive too fast in residential areas be banned from
driving 24:Swl) GSla¥) (84S puy (8 gy () BALEN (e Gtilead) pda g R
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da e 4l
Should motorists who drive too fast in residential areas be banned from driving?
Bl (pa dpiSal) (ghalall b AS juuy agl) sl (19298 Gl Cilial) aa Gy Ja

Road accidents, especially in residential areas, may cause death and injuries to many people in
our society. And most of these accidents occur due to exceeding the speed limit, with the result that
motorists become not able to control their vehicle properly. In_this essay I intend to discuss the
arguments for and against banning motorists who drive too fast in residential areas from driving.

The main argument for banning motorists who drive fast from driving is that driving fast may
cause terrible accidents that kill people in residential areas and cause great loss of lives and money.
Another point is that it makes people feel horrified and insecure when crossing the street.

But the main argument against banning motorists who drive fast from driving is that some
motorists may have logical reasons for driving fast such as taking a patient who is in need to be sent to
hospital as fast as possible. Another point is that the motorist may drive fast to prevent an impending
crime or help to catch a criminal.

In_my opinion, I think that some motorists should be banned from driving if they break the
speed limits frequently and threaten the safety of people. On the other hand, other motorists shouldn't
be banned because they have acceptable reasons to drive fast in certain cases, such as helping people
who are in danger.

03a Calely Uinaine 8 el (ya 2nall Clilial 5 0 ya b 28 ciSnl) BRI 3 L sumt ¢ sk 2l 5a
OSiy i o e 5 lpll e G 0B e () smanany ¢ siilaa) Gl Lagilly aaaadl de pull 5 5La Cany Giaad ol 5l
Bkl L8 (e AnSd) Shaliall b Jas Aoy 9958 ) i) pie A g e eaal) AL (5 0 ANdall 020 8 v

ol gl sl i 38 A ey B sl 58 (G 8L (30 Ay 8 sy () () il T ) 33 )
el e 5 Cmge e O sy ) (Gl gAY Al Jall 5 sLall 8 dagdae 8 e () st 5 A0Sl (3laliall b (il Jis
& A G Lexie ;

il e L 51 il Gmny G 5380 a A sy () 5y () Gad) (315l e B gl A3 ()
GoAY ALEl Say Le g yuly dditual ) da O s siall Ge @A (g 3 ladaial Jiede o 3l 5008 dalaie
ponan Alaa¥l 5l 4085 Ay > il Ao Bl 258 38 Gilall Gl

Ol (5930 5 ) S Baaaall Aol )55 sl 13 B jbad) 33L8 (g ) griag O iy (i) mmy @l i ¢ o ) A
Jia YAl Gang (Ao ju s bl 3alal A e Gl aaie Y 1 saiay Y 0 s (oA O sile AT Lals e )
obA e ) Ll Bae L
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Lildle 5 4y Guided Writing d¢a sal) AUt Al 3 ) 560 J)ige il g

What should happen to motorists who break the speed limits?
- ban from driving
- fine for driving fast
- put in prison

26 ordaaiy o MY dallakr e U gals




The law SN il - 3y 5 e D Sl 8 A ) S e« 0772111116 —wsaBall (35 5a e -slac - ﬂ

Derivation

(Al—aiy

wrireall g Bl B Lagi a5 o)) dapdy (s AT AalS (e AalS (305 () ga - o 3ELEY)

Qﬁ&ﬁ#ﬁ#éﬁi&&\ﬁh\@*wdﬁdﬁ@ﬂgﬂ@bwc)iﬂ 1 o
B0l Al e Leal) Gulatl) b agall 48y s Juadl

GRS Aalal) a0 1) I ceipal ) Sl o T Al 480 (3 Alaal o) Ul (A alas Las
_:‘;h

E

N tO e W _“‘)L_d,df Gk

Ao ) Al B Al ol A g o gl o)) g W) AL g Lgeagdi o Bac L) oda

wrirall g Bl A Lagin a6 o)) dapdy (s AT AalS (e AalS (305 () g - 3 BEREY)

NS89 Al (pa i B (Jad (e and (31ES O Mia
-t e JS NG e g8
slawd) (1)- Nouns:-
(JS]\ ;\);\QA\A)&&QQ;MY\M&\S\ &\ﬂ‘écuﬂu‘umcmy‘émd\cﬁa\mu|dﬁ
slaw¥l Aalall suffixes Galslll azy e s Jsaal) 138 5 5 AY)

ness  illness, happiness, ess waitressiela
sleepiness, usefulness princesss !

ance  acceptance, importance, = ist™® scientist

ence  difference, dependence, economist (gl
balance, assistance.

ment development, ship Friendshipdlxa
government Partnership
achievement, agreement. Championship

tion®  introduction, derivation ity activity
occupation, nation, responsibility,
action community

er, or  Minister, officer, visitor, = dom Kingdom,iSls

eer actor wisdom, freedom
engineeryslige criticism

- idie L e b Gremnadiall GaladVU Gleti i elawY) go st Jaxind
7 si>aa journalist: -
= M‘>’)

27 kialy e M) Al e U gadls




The law AN Caslal) - S &y 50 o A Ma ¢ & Adad H) S 50 ¢ 0772111116 Aseliall 38 50 e -olac] -

- selau) ?Mula L;J-u C)YU
—pa) ?ZC;AJMMLQJJ .(a, an, the) 5_Sil) g 48 mall <l ga) il gaY) M2y -]
1- The.......... of Jordan was in 1946.
(independent , depend, independence)
Gl LAl (i o) Lale GlIAT clasd (585 Gl s Auiall AaISH 1Y Of o3 (e g 18 Leriy () The 2525 BaY
slaw¥) Bal 5l e o8 5 ence— gl 3 independence O 2 il 8 Gal sl Aals
2-The ........ of weapons has to be reduced.
(produce, production, productive)
ion = ¢t Y production s s asl (N zlad Lei) an A8l 45, Hlall Gl
3-The........ you made for the situation is reasonable.
(assess, assessment, assessed)
Gxthe ssea s you
4- 1 think the ........... in Jordan is going to be with much quality.\
(educative, education, educate)
Oxthe »» < a5in
my, our, your, his, her, their, its, Ali’s -:4Sll jilaz 323 -(2)
1- We need your ....... in the project.
(participate, participated, participation).
participation 4elS sa 5 causl 2 sllaall Gllaill jraim a2y )l a8
this, that, these, those 3_L&Y) Qi gaa) 13 -(3)
I- This......... is great.. (achieve, achievement, achieved)
achievement s s ment - (o¢iiall Lesl HUa S ¢ 3 LAY ddin ey g all 285

any, many, much, , a little, few, a few, only, other, another, - :4:a8l) Claiaa 2y _(4)
(no
I- Alittle ......... is always needed .
(encourage, encouragementaaii, encouraging)
2- A little patience is always wise.
3- I have no hesitation in recomending Angella for the advertised post.
~14slal) ¢5 229 (of) 22 -(5)
1- Yesterday, I read the new government’s .........
(decide ,decisive, decision)
2- The Jordan’s ......... is being developed these years.
(economical, economically, economy)
3- My father’s....... is endless. (generous, generosity, generously)
4- The....... of the hotel is very big. (enter, entering, entrance)
bedd s Jadi aaly 48 gaa ¢4 985 Y () b s morre 2 -(6)
I- We needs more........ next days. (produce, productive, production)
_(au\\.g.’_.\"u"u\..dté Lﬂ]ﬂmoregﬁ:ﬁ)&:\ﬁ\ duf\wdaja,_;jemlg‘y
lball BELE o) yin e 138 5 A ) sSin LI (8 45 5K Jladl 2a) more Ui aa 5 131 (1
~:dadl) 3 g ddal) 2y (7)
1- The successive....... made its best to save people from poverty.

(governmentally, government, govern)
ol I3 ey 4ld A il 13) S ¢ Ll the e (il 43 Caalad LS

- Jl
The city is Irbid.  (beauty, beautify, beautiful)
Adia § 1Al 5 A g ) Al a1 anl) ol TaaY (S cand Lz b Gl the - @il dlaall ) LaaY
R TS T dia [P . .o
A_QJL_ A r'u.n‘ L _daa __uJ.La

One , Two ..... / first, second -:a8_¥) 2, 8
1- One implication in the survey that the people enjoy some jokes during hard work.
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"~ (2)- Adjective Derivation: i—ial) §L—8id) -
S o130 (oo by (e ciliaal) el Al g ol e G i () cuag clbual) GUELE) 7y 14 o) O
- rcilbally Laldll suffixes (33 sl pars g gs Joaadl 13 g, s AY

adaial) Adjective adaial) Adjective
dal ddall
able comfortable ing boringJda« , interestinggios |
amazing (e
ive creative ic Economic, academic
ful beautiful, successful ant important.
meaningful
al Educational, social, ent patient, competent, different,
practical
ous dangerous, generous ian Jordanian, American
less careless ory Satisfactory <\S ¢aita
obligatory '3V |
ed educated, ary revolutionarys_ s ,voluntary
P.P4 Jil) eatend sSke (= sk
Galll) iy puail) opened ¢ sie

- 1A 1 gaY) B Alaad) B 180 1By 1Y) cilisall S o

as adjective as = W as......... as 0= -(1)
1- Footballisas .......... as rugby. ( differ, difference, different)

* as + adjectivet+ as  / as dangerous as/ as complicated as.

- sYleaiaal W SiSH e g o g lal) g culaS pall g ciladaal) 3y -(2)
very, so, too, really, extremely

1- The film we saw was very ........ .(interest, interestingly, interesting)

2- heis extremelyla .. ... ( generous, generosity, generously)—s b 2

3- Her own mistakes made her very................ of others. (tolerate, tolerance,
tolerantly, tolerant).s ) ) J) 5w

4-The students were very................ for being late.(apology, apologetic,

apologise).s_) )5 J) s

5-Munaisreally................ she writes poetry and short stories. (creativity, create,

creative). sk 20 /i) )5 J)m
( comparative and superlative). Juaiill g 4 8l Jox 2 most 3 more 2= -(3)
1- Ali is more careful than Muna. s ¢ 103> ) e
2- This book is more expensive than yours. i€ (e e3e i) QUK 1aa
3- Football is the most complicated game in the world. allall 3 sic¥) 233l 5 S
4- Muna is the most beautiful of all the girls.<ulidll JS o Jaa¥) & e

- () 25 iS5 look, seem, feel, become , Jia Jladi 3y -(4)
1- After the elections he became .......... (fame, famous, famously)
2- My mother seemed...... when I had disagreed her.
(nerve, nervously, nervous)
3-The elephant seal is huge and looks................ (monstrous, monster, monstrosity)
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A 5 ) 5 o0 ALl (g pal A5 S Jladl ey ddall 5 Llle

1- That plan is well- prepared. Itis ................ to achieve the aims. (viable, viability,
viably)

2-Physical exercises are ................ (stimulate, stimulating, stimulates).

3- It is very important to be................ so as to accept others and their opinions.

(tolerance, tolerant, toleration)

o Jss_&éw_um R Bt ik

(3)- Adverbs Derivation: -—i g ——1l 81
- i cclalall );i ‘A\ ly a8laly Jad JasEs ab -

glad s e gladly s
successfulzab successfullyzlan
furiousuale furiously sz
obviousgeal s obviouslyz s
Sleepyb ¢puels sleepilysadly ¢oslaiy
- 1S Bamy Alaal) & Ja) Ly
- :J2dll diadl-1
1-Muna waited her mother.......... (tearful, tearfully, tear)

(S5 oA 3 -1 L B ) RSl Lol 0 e
2- The man walked quickly.de yu Ja )l (e
- :M‘ J,é -2
1- His new car is....... beautiful. ( absolute, absolutely, absolution)
2- the book is extremely difficult.

(G iy ) B Jadl) ddeal) S -3

I- Qasr Amrais ........... decorated. (high, highly, height).
Qe da )2 (e b e il
2- The food was badly cooked. oo JS b aladall
—sdliald oany g &1 )8 i (AN Alaal) &y (8 -4
- ,she agreed to participate in Al-Sabilah programme.

(will, willing, willingly).
2- Fortunately, I was able to find a new Job.
- sdadl) Chuad A0) clal) 8 Jadl) J (08 (s 8 LS -5
A)- Modals verbs 3l sall Juadl + ............ + verbd=s
G Jaill 5 313 5l s 18 s 131 (81 J5¥1 Clanyemil 8 Jid Lty Ll 313 gl Jladl) (6 ala LS
ik i ) oy il Ll
He can pass the exam. glaie¥) jlisy o aokaivn 5
) SMagall Jad o)) laaV¥ean)dsh s pal J2é 4x (pass(
Syl iy £ eV Jail s 3N sl Jad o 13 10 13 oK)

He can pass the exam. (difficult, difficulties, difficulty)

B)- Be + + Adjectivediall 5 435Sl Jladl

-His new car is beautiful. (absolute, absolutely, absolution)

-Qasr Amar is decoratedllill <oy yaill Jd4da  (hight, highly, height)
C)- Subjectdels + + Jzdverb

-He successfully passed the exam.oaie¥) Jlia) ~laiy sa
-She ironically spoke to her friend.

Leiynn pa oS5 &y ns Ll
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(4)- Verbs: -Jlad¥)
o) el aany N fy, ize, ise, ify, en, ate, ieve, ide (!5l s3a Canai JladY) BlsY -
A Jsandl 8 e s LSy gaill ie AISH e ki A0 G il Aaadle ae Ciliiall
a5 aaly sl LK g ol da iy Jlad) ) Ll sat] elaws¥1 4y 8 A80LS oy i Sl

sl
au) g Adual) Jadl) aa) g Aduall J—adl)
beautyJlex beautifyJex terror—ta ) terrorize<e »
hardsa (a8 harden—x summaryta3a summarizeu=h
civil S civilizee recognitions =5 ¢ jual | recognizess yx ¢ e
gloryxa glorifya compensationua; 523 compensate = s

~rh ety Bale Jadl) aadiey

14 504l t09 Modals 2 sal) Jladi a2
- You must enclose the CV.

- He is expected to improve himself.

1- The aim of the exam is to assess~& how mush you learned. (assessment,

assess, assessor)

Jeall Jadl 22y don’t doesn’t , didn’t ,

-Did Mary send the letter. ( send, sending, sender)
-1 will visit Agaba tomorrow.(visitor. Visit)
-The government tended to ......... a new decisions for the
unemployment.(creative, create, creation)
-We don’t ...... in French more than English.( interest, interesting, interestingly)

4l (51 S sa JaiS 10 il Ly S0 ¢ Ay jaeadl) o Db Ll § 1l U o) caaa s 131 S ;3]

1 ¢ srd LS Jud Gl g sl Laaey S

[ will go to Amman. Olee A adl g
I want to visit Ammanglee A cadl o 250 L)

i e oS

1y Johall S5 Uil s gab g o Al B (5 21 13 22
1-different people......... in different ways. (reactdelih, reactionde\ds, reactive e i)
Aalisg (3 Cdlisag )
always, often, usually Jia diaj¥) & Una ¢ pa A1) Ay ) S5l i g ) 22y -3
1- This company always........ brilliant things. (offer, offering, offered)

e -
LR R R R R R R R R R R R R d]h .y\ U‘A"A LR R R TR R S R R R R R R R R R S o
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ALY adda

130 Fals 1A J 5 Adeall 5 ansd) Lat 5 peaic aal e anall Jaall gan b 10 2ay il -]
ddasile Ll 4Y ( Verb to BE —is, was, are , were, being, been) S
Jadsale 4y modals sl to ¢ AN i IS 1N 22
JS&O‘MYJ_?M‘&@_)_A&JPJ\ the, a, an &Jﬁﬂ;\@ﬁ‘éb\&bﬂ\ﬁd&\b\ 3
@'AZ\JIA.H Y Lés e.u\ '&\)ﬂ\ 2y S g '&\)ﬂ\ Jé the <l 136 AT o2 (Jia @ '&\Jﬂ\ Aa_{.\..JLA
Ada
Jie <yl ol too, so, very, become , look, seem, feel Jie ClalSl sda gaal ol 13 4
Ao Jlsale 4 really s extremely
u)hum@huu‘_}ut\)ﬂ\dﬁ@\h\ -5
GJLJ\);.J\G&:u)&uu\)ﬂ\ubw\d.\\.@@&bﬂ\@\ -6
B Q) salld i &1 81 8 S
) Gl gald dda ¢ @l Jd IS 1A -
Ada () i he Juadl (e Jad g1, J S 13 -
Jad Clsalls jem )il J8 S
Cada LAl 8 5 al 130 (S0 el ol sl o ale W Jad 1,40 U S 13 -
) il gl
N3Sa 5 anal Laday il galld ol Ladey (1136 ¢ Cagallita B8 Gu aaniand O B Y -7
Adeal (gm0 Y 5 e (s 4 i Y -8
538 (e chalal) 5 50l IS Lete siad Lkl g claa o pa g 2&l e )€ llia o) Y -9
aall
38 &) 5l a3 g g 13l 2SS U8 ddin pulai M e Jladl (e J2d 1A U (S 13 t
B o o) elilad Al ¢ 1l aay IS 13 8] A b ddiall & )l 2y S
13 28U () 8 s g Db aes) oms 3 (5 sl 51 Wl sal s the ¢ 18l 08 S 13 -
Lol &1 )4l 2y LS 1A GST ca) puiad gy G 1,400 22y (1S 13U &\)ﬂ\.\:uu)&u
Ada i
aay Jad dsa g ane (e aSUE O U Jad i N Jeld §) modals g8 J8 QS 13 -
gl it () lilad Slad s 5 130 o )l
— G Al 52l 5 Y 210
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2381 baail) o Derivation GWIEY) o 48 jiia o sl

C. Choose the best answer form of the word from those given to fill in the blanks and write it
down in your ANSWER BOOKLET. (6 points)

I-TwWO...covvninnn. potato crops led to mass starvation in Ireland.
(disastrous, disaster, disastrously)
2-The .....cccennn.e of the world's migrants move to find a better life.

(majority, majorly, majorize)
3- The people of Tristan da Cunha left because of volcanic............... .
(act, active, activity)

4-The............... success of the 1960s and 1970s was funded by oil.
(economy, economic, economically)
5- These workers were able to find a better life and help with the........... of the region.
(develop, development, developed )
6- Some human activities are ............... the natural world.
(destroying, destruction, destruction)
7- Unemployment is falling as more people find ............... work.
(permanent, permanently, permanence)
8- Average ............... are expected to double in the next ten years.
(earn ,earning, earned)
O-Ithasbeena............... year for the tea industry.
(disaster, disastrous, disastrously)
10- Storms caused the ............... of most of the crops.
(destroyed, destruction, destroy)
11- The...coovveeeneee. success of the 1960s and 1970s was funded by oil.
(economy, economical, economically)
12- These workers were able to find a better life and help with the............... of the region.
(develop, development, developed)
13- No rain has fallen in the region for two years. This hashada ............ effect on crops.
(disaster, disastrous, disastrously)
14- A huge earthquake caused the................ of San Francisco in 1906.
(destroy, destructive, destruction)
15-Massive.......ccceeeueen. actions took place yesterday after the match.
( chaos , chaotic , chaotically )
16- According to doctors, smoking is the .................... of many health problems.
(‘origin , original , originally )
17-Crime and violence .................... the basis of our society.

(threat , threaten , threatening )

18-The demonstration started peacefully but later became....................
( violent , violence , violently )

19- With no -one in charge the situation was ....................

( chaotic , chaotically , chaos )

20-The meeting ended in .................... when demonstrators threw tomatoes at the speaker. ( chaotic ,
chaotically , chaos )

21-He got very aggressive when I asked an .................... question about his past life.

(innocence , innocent , innocently )

22-1 feel really .................... about not having written to you for so long.

(guilt, guilty , guiltiness)

23-Your sudden defeat shouldn't .................... your confidence.

( destroy , destruction , destructive )
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24. The war brought death and .................... to the city.
( destroy , destruction , destructive )
25. Most teachers' .................... have increased by 5% lately .

( earning , earn , earnings )

26. There are signs of improvement in the global .....................

( economic , economy , economically)

27. Can you show a little more .................... in your attitude? (flexible, flexibility, flexibly)

28. The twins are .................... I can hardly recognize the one who has raised the flag.

(identically, identify, identical)

29. It is very important to be .................... so as to accept others and their opinions.

(tolerance, tolerant, toleration)

30. Why don't we try to ......cccceeuneee. our old glories? ( revive, revival, revivalism)

31. Afteralong .....cccceeuennne the two parties reached an agreement. (negotiation, negotiator, negotiable)
32. Muna is a really.................... ,she writes poetry and short stories. (create, creative, creation)

33. Intimes of ........coccuueeee. my friends find paying a great relaxation. (stressed, stress, stressful)

34- Sand Gazelles use their speed and .................... to avoid predators. ( agility, agile , agilely )

35- A huge earthquake caused the ............... of San Francisco in 1960. ( destroy , destruction , destroyed )
36-The ....ccevvennnenne success of the 1960s and 1970s saw the Arabian Gulf countries.

( economy , economically , economic )

37. These worker were able to find a better life and help with the.................... of the region.

( develop , development , developed )

38. In some areas, ............cu...... lands change into desert. ( produce , productive , productively )

39. In summer, sand gazelles don't .................... together. ( congregate , congregated , congregation )
40. We should save all .................... species. ( rare , rarely , rareness )

41.Some plants are grown in biomes where the temperature and humidity are .................... controlled.
( careful , carefully , care )

42. The aim of this project is to ................. people on the importance of plants.( educate , education ,
educated )

43. My friend caused a very .................... accidents last month. ( danger , dangerous , dangerously )
44. Many people in the world live in an .................... (isolate , isolated , isolation )

45. My friend was ..........cc........ in finding a new house. ( success , successful , successfully )

46-. e , many animals emigrate twice a year.( nature , natural , naturally )

47-. Many people believe that zoos are .................... ( education , educational , educationally )

48. Zoos help to ..., animals that live in danger.( protect , protection , protected )

49, e, , some soya beans are also being turned into food for human consumption.
(increase , increasingly , increasing )

50. Despite our increasing .................... on the information stored in the computers, we still need papers.
( dependence , dependent , dependently )

51. Birds travel .............. distances .( extensive , extensively , extend )

52- My weekly............... are twice as much as they were last year. (earn, earned, earnings)

53- The wind was blowing ............. ( violence, violent, violently)

54- During the court, the man was found ............... (guilt, guilty, guiltily)

55- During the court, the man was found ................ (innocence, innocent, innocently)

Answers:-

1- disastrous 2- majority3- activity 4- economic 5- development6- destroying7- permanent§-
earning 9- disastrous10- destructionl1- economicl2- developmentl3- disastrous14-
destruction15-, chaotic16- origin 17- threaten 18-violent 19- chaotic 20- chaos 21- innocent 22-
guilty 23- destroy 24. destruction 25. earnings 26. economy 27. flexibility 28. identical

29. tolerant 30. revive 31. negotiation 32. creative 33. stress, stressful 34- agility

35- destruction 36- economic 37. development 38. productive 39. congregate 40. rare
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41. carefully 42. educate 43. dangerous 44. isolation 45. successful 46-naturally

47-educational 48. protect 49., increasingly

50. dependence 51. extensive 52- earnings 53- violently 54- guilty 55- innocently.

_;.LJA;J‘ Jaaily [EVOEN ‘5&3&‘!\

I- My weekly............... s are twice as much as they were last year. (earn)
2- A huge earthquake caused the............... of San Francisco in 1906. (destroy)
3-Two..coiinenne potato crops led to mass starvation in Ireland. (disaster)
4-The ............... of the world's migrants move to find a better life. (major)
5- The people of Tristan da Cunha left because of volcanic............... . (act)
6-The............... success of the 1960s and 1970s was funded by oil. (economy)
7- They find a better life and help with the........ of the region. (develop)
8- Some human activities are ............... the natural world. (destruction)
9- Unemployment is falling as more people find ............... work. (permanently)
10- Average ............... are expected to double in the next ten years. (earn)
11-Ithasbeena................ year for the tea industry. (disaster)
12- Storms caused the................ of most of the crops. (destroy)
13- Many people believe that the murder and other.......... acts. (violence)
14- There is a........ situation in society if there were no ....... systems. (chaos/law)
15- He left court a free man because he had proved that he wasn’t ........ ( guilt)
16- The jury said he was .......... (innocence).

Answers:-

1- earning 2-destruction 3- disastrous 4- majority 5- activity 6- economic

7- development 8- destroying 9- permanent 10- earning 11- disastrous
12- destruction 13-violent 14- chaotic, legal 15-guilty 16- innocent.

N|  Verb Jad) Noun a¥) | Adjective 44all  AdverbJwll pd) ira

1 | act activity active actively Ll
action
2 chaos chaotic chaotically ad
3 | destroy destruction destroying destructively Dked
destructive

4 | develop development developed gk
5 disaster disastrous disastrously 48
6 | camn earning earned N
7 | economize economy economic economically Aot
8 guilt guilty guiltily il
9 innocence innocent innocently B¢l
10| legalize law legal legally Os8
11 majority major Anlle
12 permanence permanent permanently alla
13 | threaten threat threatened g
14 violence violent violently e
15| infect infection infection il
16 day daily =

a Many people find out about the world by reading a
b During the storm, there were

¢ Omar felt very

dThe ccceeeenn.
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e No rain has fallen in the region for two years. This has had a ............. effect on crops. (disaster)
f because there was no clean water, ................... s (infect) spread very quickly .
542014

B. Complete the following sentences with the suitable words derived from the words
in brackets and write the answers down in your ANSWER BOOKLET.
(4 points)

l. The man's =-----eceemenm was not proved and so he went free. ( guilty )
2. Many wild animals can become ------------ if they are captured. ( violence )
wia 2014
1. ]_;ack. ﬂf SEcunty will create -~-------------situations in a society. ( chaos)

2, T’he govemment encourages schemes for women to-------money. ( earnings)

A il

st Vsl ad Sl 0SS OT L LY @

Sl wisle s 3 ol s e a Loy ST gn e Slis ) @

Il Gt (SN 15 pod Sty 35 4 3]y L Sl 35 0T @
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Migration 2

Bagdl (ALl 3aa gl
Why do people leave their home countries?
gl 90 Jgd bl ey 1Ll

SB 16

This article looks at three reasons why people emigrate and gives historical examples.
4a, )0 Alial A6 aay g (i) 3 jangd Gl A6 (a jay JUal) 138

Aals) el Meaning
1 | success s | a period of great wealth xSV ¢ jilI 5 5%
2 | development _ski | the process of modernisation sl Ll
3 | deteriorate A e | to get worse | s pruas
4 | emigrate o2l | to leave your country to live in a new country
oAl 8 hellelil a3 jilza
5 | famine 4elas | a serious shortage of food leading to great hunger

on a large scale
el s i e 5 S delae ) g0 slaball b i el
6 | industry 4clia | economic activity concerned with raw materials

and manufacture goods
Anieaall )y LA 3 gally Jasi ja (goleaifl Lol

ECONOMIC NECESSITY 4::Lai®y) 3 g puall

The early 19th century, the most important industry in Ireland was agriculture. But the farmers
were poor and they used old-fashioned methods. Because they heard that they could earn four times as
much in America, some farmers emigrated. But between 1820 and 1840, the economic situation in
Ireland deteriorated and in 1845 the Potato Famine began. Disease destroyed 75% of the year's
potatoes- the main food for most of the population. During the next two years, 350,000 people died of

starvation and there was a huge increase in emigration to America. By _ s

the end of 1854, a quarter of the population of Ireland had left for the =~
United States.

O ) 3l S0 Aoy 3 il il yy) 8 el SISV Aelial) ¢ pdie il ol Jill 4 5
o Cilanal o )1 150y () gy 433 ) gmans 2 5 e (3 5k | slasinl 5 ) i ) 5ilS E
@aBY) sl (18405 1820 Ol 8115 sala (e ) ) (mmy (1S 5l 3 laial)
Uyl ua%75(,_L.;;l_ul\ Ll delas colasy 1845 ple By psaaslail yl 8 S
saly )l S5 e sall G lsile el (50 350,000 ¢l i) JOA Sl el Gu.uj\ R ‘;A\,mﬁ,ﬁ\

Baafall Yl ) ) se 8 1l S ) 18540 ke 1S sl ) 5 sagd) 2 dads
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NATURAL DISASTERS 4yl & ) o<l

Tristan da Cunha is a small island in the South of Atlantic
Ocean. In August 1961, earth tremors started and gradually became
more frequent. At the beginning of October, the government decided

that the island was no longer safe and the whole population of 268

people was evacuated to a nearby island. A ship picked them up and
took them to South Africa. As they passed Tristan da Cunha, they saw the lcano erupt. Later the people
were taken to England, where they stayed for the next two years. In 1963, the volcanic activity on the
island stopped and most of the people voted to go back. However, not everyone returned: 14 people had
adapted to life in England and decided to stay there, and five elderly people had died. There were other
changes too: ten couples from the island had married, and eight babies had been born.

D) Campal il g il dca )l @ 5 (1961 ale Ol el el Ll Cgin B ppia 5 & LS 1y (i 53
A 850 b ah aagd a5 268 ) Sl IS5 JISH ALl (55 Gl 8 el O 8 A sSall (I (B e Al g 1SS
o an 2l o Gall) aay Lad iy LSl Vgl ¢ LS o iy 53 (95 a1 538 Lan s Ui 81 gl (1 w5 agills dipdus
Gl Ao 3asall ) g gn (ulil) lama s i35 5al) e S ) Blill ¢ 1963 sle o) i) saal |6 aa o i)
Jsile a3 (e (ala ) Gl g el EpSall V5585 ) yilad) 8 shall g | 505 38 Ladd 14 3 1oaliiV) S g ol (s
Jlahal Apled Gladl wi g o) g g 55 0 jad) ezl ) e (lal) s AT &l juad llia (IS

ECONOMIC SUCCESS  (s3uaiy) zladl

The economic success of the 1960s and 1970s saw the Arabian Gulf countries transformed into

modern and wealthy states, funded by oil and other precious natural resources such as natural gas. The
need of the oil and construction industries led to a huge demand for skilled workers. Many thousands of
people moved to the region to help build high-tech cities all over the Gulf. These workers, from many

regions of the world, were able to find a better life and help with the development of the region.

L) Aol g3 ey Sua diie 53 ) shata J g (A (al) glddl J oo JUEI agd 28 Cilyimand) g cliiiul) 8 gabaBY) Al ol
Jiaall (1 €l ) ) Aalasy) 5 ddadil) Cleliall 3 dalall | _asdall 5Lall Jie 5 521 il dpnglal) jaladll
e dbanl) eV 5a galal) lad) S b oo sh Sl Al Ald (e oy (b e Luaall Akl I 16550 ulil) ) (n adl 3 el
Asbiall st b sacLaall s Jumdl) slia lagl e 508 1 58S callall b 3halia sae
Questions 4liuy)
1- In the 19" century, agriculture in Ireland suffered from two negative factors. Write them down.
LSO b cplale (e ila il l el e il a1 b -
2- Quote the sentence which shows that the Irish farm workers didn’t earn the same wages like the American
farm workers. (S ¥ Jleall ) (i e ) shiany )53 65 &l cpail ji¥) & )l 3l Jlae jedad Al Alaal) il
3- Write down the sentence which shows that most of potatoes in Ireland were damages by disease.
oLl ey Caadand 38 1l ) 3 Usldal adime (o) ) s ) Aleal) i) -
4- What was the main reason of people death in Ireland? 12 ) (& (sl 5l o} o 1) sl La

5- Write down the sentence which shows that there were many people died because of lack of food.
kel 8 i) s )il (g aal) llia o) N juds S Alea) (S
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6- Write down the sentence which shows that a large number of people left their home country to the United
States.saaiall CilY sl ) agib s 15 0e (el (g 1aS ase o I i il dleall (i)
7- Write down the sentence that indicates to the date of the first small earthquakes in the island.
€Y 5 piall <l el ) ) el Al Aleall i)
8- Write down the sentence that shows that the government moved people to another place.
AT Ol I Gl s e sSall ) el il Alaall i)
9- According to the text, how many people who were evacuated?€aelss &3 cpdll (ulill 23e oS aill e lalade) -
10- What was the main reason that made the government decided to evacuate the whole people?
(ol S gt ) 5 A Sl Jas (o3 s )l ol La -
11- What were the three places that the people were moved to gradually? L (-l Jas a3 ) 83 Syl o4 L -
Sl
12- Quote the sentence that shows that some people chose to go back? 15 sl il Gars o yedas ) Alaal) i) -
33 gall
13- According to the text, the writer mentions that the vote to go back wasn’t successfully achieved. Write
down two reasons?. o S Lalad laali (S5 al 83 gall ey paatl) (L S5 Gl i) e lalade -
14- What are the two factors that helped Arabian countries transformed into wealthy states?
e Jgn I Jsatll ) Aadall A all Jsall haebis ulele i€ -
15- Between 1960s and 1970s, there was a huge demand on skilled workers in the Gulf. Write down the

reason.Jx
sl S Al a5 el Jleall o S ol clllia (S ccilipnadl 5 i)

16- According to the text the writer thinks that the Arabian Gulf Countries experienced an economic success

requiring large numbers of workers. Explain this statement justifying your answer.
Jlaall (ga 5y dlae ] Callahy Lboal Wl Catgd 38 o jall ) Js ol iy (il ol Gaill e Iolaie -

17- Find a word in the text which means " to get worse".

18- Find a word in the text which means "to leave your country to live in a new country"

19- Find a word in the text which means "a serious shortage of food leading to great hunger on a large
scale.

20- Find a word in the text which means " a period of great wealth"

21- Find a word in the text which means " the process of modernisation"

22- What does the word "success" mean?
23- What does the word " development " mean?
24- What does the word " deteriorate " mean?
25- What does the word " emigrate " mean?
26- What does the word " famine " mean?
27- What does the word " industry " mean?

28- What do the underlined pronouns refer to? lacall 3 g3 13 e

Critical Thinking:-

- There is not one particular reason for people to emigrate. Discuss this statement and write your own point of
view on two sentences.

(S g3 y<al) sda 8L ulall B ymed dase e Sl G -
Answers:-

1- He farmers were poor and they used old-fashioned methods. 2- they heard that they could earn
four times as much in America, some farmers emigrated. 3- Disease destroyed 75% of the year's potatoes- the
main food for most of the population. 4- starvation 5- 350,000 people died of starvation 6- By the end of
1854, a quarter of the population of Ireland had left for the United States.7- In August 1961, earth tremors
started and gradually became more frequent.8- the government decided that the island was no longer safe and
the whole population of 268 people was evacuated to a nearby island. 9- 268 people. 10- because the island
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was no longer safe. 11- a nearby island, south Africa, England. 12- In 1963, the volcanic activity on the island
stopped and most of the people voted to go back. 13- However, not everyone returned: 14 people had adapted
to life in England and decided to stay there, and five elderly people had died. 14- oil and other precious
natural resources such as natural gas 15- The need of the oil and construction industries led to a huge demand
for skilled workers. 16- I think this statement is true because of the need of the oil and construction industries
led to a huge demand for skilled workers 17-27 = ClalSll J gaa (30 (Slaall 7 ja50)

28- they, they , they= farmers/ them,them,they,they,they= whole population of 268 people/ there= England
Critical Thinking:-

- In my point of view, there are many reasons which force people to emigrate such as starvation. Also, there
are other reasons like finding works or avoiding natural threats.

*#*Find adjectives from the article that have the opposite meaning to these words
(IS Jall s ) sl LKl e Ll AN (o Al clioal) o Hok

1 | tiny pea hugeadia

2 | Modernduas old-fashionedad 3l )l
3 | late_ali early)_Su

4 | young = elderly e

5 | rare Frequent__Sie
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Animal Migration

Olgaad) 5 aa

WB 9

1 |temperate Ji=e | having mild temperature Axina 3

2 | raise = 8 bring up children JalY dy

3 | creature (slas a living thing/ animal e /a2 (5

4 | extensive sl | very long la Jysb

5 | original = first Js¥!

6 | recurrent ,_Sie Occurring often or repeatedly  _Sie 5l Llle sy
7 | forge s advance steadily sban s

When we talk about animal migration we mean the movement of an animal from the place where it has
been living to a different place and the return journey to that animal's original home. Most animal
migrations are recurrent events which happen at certain times of the year. Animals usually migrate to find
food or to raise their young.

Osanll e 83 gall Aa 55 Caline (S )40 Girms 520 LA (e (o sl QL) i (i Al giall 5l e Caadi Ladie

= sl alalall sl sale il gl jaled Al (e sarae il gl b ans il 55, Sia ol a Al gall Gl jagll alixa LY

\a i
Incredibly, most migrating animals follow the same route every year and from generation to
generation. Land animals may cross mountains or forge rivers, while birds and insects travel extensive
distances, sometimes across continents and oceans. Fish and other sea creatures may migrate half way

round the world. For example, the grey whale can travel as much as 20,000 kilometres.

o 31 Ol e ey o l) il paal) o ) i e s S Gl i algal) S pinl) s By ¥ S
Layy Ay yad) s il e Wa e g @llesY) ilagmall g ol Ul ums Ulial g cdlald cililise il &l jiall 5 ) gulall Laiys ¢l
)’MJS&SZOOOO&\PJALHU\@LSMQddLAJ\ S gall ‘dud\dgmujc s WIS aat Jea aled

Many animals migrate to northern regions during the northern summer because the long summer days
mean that there is always plenty of food. In the autumn, when the weather gets colder, many animals migrate
south to find food and warmer weather (the southern summer). Some animals migrate every year, doing the two
journeys in one year, but others migrate only if they need to find food or for more temperate weather.

Lail @lia ol a3 A phall Canall sl Y el 5,SH a Cara 34 Alal Blliall L1 ale <l goall (e el
Cias Cipaa) (dlal) ailall ladall s Lrsia ) gonl e el aled el raay (il Ladie cciy Al Ly ol (e i)

dala 8 S 13 dad jales (il pall) ¢ A1 OSD o s A il Il bl s JS jales ) gall Gy | (o siall 380
Ylsie) S Guila Jal (e ) aladall 2ail
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Questions 4Ly
1- According to the first paragraph, what does "migration" mean?s s 4l i 13l ¥ 5 58l e slaic)
2- According to the first paragraph, the writer mentions the main reasons of animal migration. Write them
down.. L5810 sl 5 mgd At Sl ¥ S8 Sl cpaill e e -
3- Quote the sentence which shows that the migration of the animal occurs often and repeatedly.
S JSG Eaant Al a3 e ) Q\ﬁ.ﬁﬁéﬁ\ﬁ@\gﬁ\-
4- According to the second paragraph ,What is the amazing (surprising, strange) thing in terms the animal
migration from one place to another?¢ ) () (e (3 O sl 3 g (Blaty Lad (uall oaliall) (faadl ¢ L2 L -
5- According to the second paragraph, mention three kinds of animals in terms of their migration ways. ,<3 -
Lo 5k (3laty Lasd Ul gl (e ) 530 4306
6- According to the third paragraph, Why do many animals migrate to northern regions during the northern
summer??‘gm‘ 3 SI Caad Cana JOA lladl) glaliall Sl gall e daell jales 13l -
7- According to the third paragraph Why do many animals migrate to southern regions during the southern
summer??‘##\ B)SS\ Al Ciua DA :\:u}.\;ﬂ LBLLLJ\ ‘_;\ QU\):\AJ\ O A.\wdad\ ol Jalal -
8- Find a word in the first paragraph which means "bring up children".
9- Find a word in the first paragraph which means "first".
10- Find a word in the first paragraph which means "occurring often or repeatedly".
11- Find a word in the text which means "very long"
12- Find a word in the text which means" advance steadily"
13- Find a word in the text which means" living things/animals"
14- What do the underlined pronouns refer to? ylaall 3 23 13k e
15- What does the underlined word " temperate" mean?
16- What does the underlined word " raise " mean?
17- What does the underlined word " creature" mean?
18- What does the underlined word " extensive" mean?
19- What does the underlined word "original " mean?
20- What does the underlined word " recurrent" mean?
21- What does the underlined word " forge " mean?

Critical Thinking:-
There are many advantages and disadvantages of Animal migration. Think of this statement, and in
two sentences write down your point of view.

Answers:- <y

1- The movement of an animal from the place where it has been living to a different place and the return
journey to that animal's original home. 2- to find food or to raise their young.

3- Most animal migrations are recurrent events Which happen at certain times of the year.

4- Incredibly, most migrating animals follow the same route every year and from generation to generation.
5- land animals, birds and insects, sea creatures and fish.

6- because the long summer days mean that there is always plenty of food.

7- to find food and warmer weather

8- 13 el Jga sl
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14- it = an animal/ their , they, other = animals/ which = recurrent events. 15- 21-WISl J g3 aal

Critical Thinking:-

- In my opinion, there are many advantages for animals like finding food, raising their young and
finding temperate temperature. However, there are several disadvantages such as being hunted by
hunters or Kkilled by snow or winds.

it i

*. Read the whole article againes 3 3« 48al) JulS ) 2, Are these statements True or False?
a- Animal migration always involves—la® returning 322l the same season. ( F )
b- Most animals migrate to escape<s_¢l! from their enemiessl=¥.(F )
c- Many animals migrate at the same time every year. ( T )
d- Animals make the same journeys as their' mothers' and 'fathers' did.( T )
e- Many animals migrate south in the summer.( F )
f- Finding food is rarely!_2\ the main reason for a migration. ( F )

**According to the article. Which is the best definition of the verb to migrate?
5 yael) SV Cay yaill L 63 il e lalaic)
- move somewhere to find work
- sleep during the winter
- travel to live in a warmer place

***Read the article and answer these questions.Aic¥) s3a e caal g °Jliall Jals | )
1- Why do animals migrate? Why do others not migrate? ¢ s AY) jalgd ¥ 13 Sl pall jales 3L

2- Why do some animals migrate northwards in summer and southwards in winter?
Celitll L Lgin s Chall 8 Ylad cilil goall Gany aled 13l -

4- What do you think are the advantages and disadvantages of migration?
% yaedl tha}um‘;h Lo cdlalsie) Caus -
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**x*kComplete these sentences with words derived from the words in brackets. You could check your
answers in a dictionary. (589 Ja)a lalsl) ¢a diidia CilalSy Jaadl Jas

1- My weekly............... s are twice as much as they were last year. (earn)

2- A huge earthquake caused the............... of San Francisco in 1906. (destroy)
3-TwWo..coovennnnne potato crops led to mass starvation in Ireland. (disaster)

4-The ............... of the world's migrants move to find a better life. (major)

5- The people of Tristan da Cunha left because of volcanic............... . (act)
6-The............... success of the 1960s and 1970s was funded by oil. (economy)

7- These workers were able to find a better life and help with the........... of the region. (develop)
Answers:-

1- earning 2-destruction 3- disastrous 4- majority 5- activity 6- economic 7- development

y
@ Choose the correct words to complete these sentences. Joal) JLS¥ dasaal) LlaY) A3 WB 10
1- Some human activities are (destroying/destruction) the natural world.
2- Unemployment is falling as more people find (permanent/permanently) work.
3- Average (earn / earning) are expected to double in the next ten years.
4- It has been a (disaster/ disastrous) year for the tea industry.
5- Storms caused the (destroyed/ destruction) of most of the crops.
Answers:-
1- destroying 2- permanent 3- earning 4- disastrous 5- destruction
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Past Perfect
L) aalall

x x I At 10.30 @
Past Present Future

45
S had + V3
S hadn’t V3
Had S V3
4NN
By+ ¢»)/ Afters /befored®/ because/ When Lis/ as soon as Llls/ PAUL

Past perfect alill alal)
*kkkkWe use the past perfect to - sl alall Jaztions
1- Clarify which of two past actions happened first: Yl Jwas alall b cfiaall (e s g gil
- Irish people emigrated because so many had died of starvation.
Aclaall (e gila 28 LAY Y g sala o saadl yy W lSdl -
(People died and as a result others emigrated.) (oLl sals lld dagi ) gila (il )
- By 1854, a quarter of the population of Ireland had emigrated to America. (They emigrated before 1854.)

2 talk about a situation, state, feeling or action in the past: alal) bhailly )gdd) @Al (il oo &aaill

- Tareq felt nervous because he had never flown before. .J# (e syl Y gl 28 5l
(Tareq was nervous at some point in the past. The reason he was nervous was that he had not flown before
this point in time.)
(28 51y Aaalll 638 J Ly ol 4d) (S 1 5 gia 435S 8 el el b Ama Alaal i | i gie IS (3L )
- When 1 read the letter I couldn 't stop smiling. I'd passed all my exams.
(Aia¥ )5 Al 36 8 U Jums il ) lilaial US b can 28] sl e il i) ol ALyl ol 8 Laie -

3 provide background information about a past event: alall 3 a8y &ita Joa Baolua Cilaglaa ayail
Past event:
In 2000, January 11, Fiona Thornewill arrived at the South Pole. (=i} lasll el gm g2 U g lanil) Caaal)
She had completed the 1100 km journey in 42 days.
She had walked an average of 26 kilometres a day.
(Gaaall) il il W cibia s iy 5 U <2000 ple G G 5S Ga e salall i orudalall B adg La uaa
3242 8 S 1100 A ) e 5 o -
asll 826 Jiear ol B & -
- By 10 a.m. on the last day the clouds had disappeared and the sun had come out.
W88 8 Guadl) g i) 8 gaal (Bilad) o sl 3 Lalia el Jglas
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Shad V3 /Shadn’tV3 /HadS V3
1- After S had v3, S v2/ S v2 after S had v3
2- Because S had V3, S v2 S v2 because S had v3
3- Before S v2, S had v3 S had v3 before S v2
4- When S v2, S had v3 S had v3 when S v2
5- By + =), S had v3, S hadv3
1- By the end of 1854, a quarter of the population of Ireland.................. for the United States. (leave)
2.1 the gate of the garden before the visitors arrived. (open)
3- By 1963, ten couples from the island.................. (marry)
4- Irish people emigrated because so many ............ of starvation.( die)
5 - By 1854, a quarter of the population of Ireland ......... to America. (emigrate)
6- Tareq felt nervous because he ........................ before. (not, fly)
7- When 1 read the letter I couldn 't stop smiling. I............ all my exams. (pass)
8- By 10 a.m. on the last day the clouds ............ and the sun had come out. (disappear)
9- After two years , five elderly people............ ( die)
10- After two years , eight babies were ........ born. (be)
11- James was very nervous when he arrived at the airport, He'd never ......... before. (fly)
12- After Eman .......... twice, she didn't feel very confident about taking her driving test, (fail)
13- Sultan didn't recognise his friend, Hani because he .......... him for ten years. (not see)
14- Faisal found it difficult to get up this morning because he ......... late the night before. (work )
15- When Laila read the letter she couldn't stop smiling, she ........... exams.(pass)
16- Zaid couldn't contact his brother because he ............ phone off.(switch )
17- Because I ............ ill during the night, I went to the doctor's this morning. (feel)
18- AfterI............ ill during the night, I went to the doctor's this morning. (feel)
19- Because I had felt ill during the night, I ....... to the doctor's this morning. (go)
20- After I had felt ill during the night, I ....... to the doctor's this morning. (go)
21- I went to the doctor's this morning after I ............ ill during the night. (feel)
22- before I went to the doctor's this morning I ............ ill during the night. (feel)
23-Tareq felt nervous because he ......... never......... before. (flew)
24- By the end of the earthquake, most of the city's buildings .................. destroyed (be)

Answers, 1-had left 2-had opened 3-had married 4-had died 5-had emigrated 6- hadn’t flown 7-had passed
8-had disappeared 9- had died 10- had been 11- had flown 12-had failed 13-hadnt seen 14-had worked 15-
had passed

16- had switched 17-had felt 18- had felt 19- went 20- went 21- had felt 22- had felt 23- had, flown 24- had
been

**%**_Study the following pairs of sentences and answer the question below. Write the answers in
your ANSWER BOOKLET.

a- In 1854 a quarter of the population of Ireland emigrated to America.
b- By 1854 a quarter of the population of Ireland had emigrated to America.

- Which sentence indicates that the people emigrated duringd>a 18542
- Which sentence indicates that the people emigrated beforeds 18547
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**%**_Study the following pairs of sentences and answer the question below. Write the answers in
your ANSWER BOOKLET.

a- Irish people emigrated because so many were dying of starvation.

b- Irish people emigrated because so many had died of starvation.

- Which sentence indicates that the people were dying whileleix others emigrated?
- Which sentence indicates that the people died beforeJ: the emigration?

****_Study the following pairs of sentences and answer the question below. Write the answers in
your ANSWER BOOKLET.

a- When they sailed past Tristan da Cunha, the volcano erupted.
b- When they sailed past Tristan da Cunha, the volcano had erupted.

- Which sentence indicates that the volcano erupted at the same as <8 5l (sduthey sailed past?
- Which sentence indicates that the volcano erupted beforeJ: they sailed past?

WB 11

W Talking about past events (saball &laa ge Gl

t Complete this story of a family who left England to live in Jordan. Use the past simple or past

perfect form of the verbs between parentheses. (Write two forms if they are both possible.)
Al pdalall g sl ualall ihsa addind 03 ¥ (& Glaall ) jilad) cpale Alile oo A Aall) Jas)

In 1975 my family (1) ............ (leave) England on an aeroplane. Five hours later we (2) ............
(arrive) in Amman, Jordan. My mother (3) ............ (be) worried about the plane journey because she is
scared of flying. But there (4) ............ (be) no turbulence and she (5) ............ (sleep) through the trip.

In Jordan my family (6) ............ (live) in a lovely apartment, which was (7) ............ (provide)
by my father’s new job. My father helped to run an engineering firm that (8) ............ (build) bridges. We
9) o (go) to an international school and (10) ............ (attend) school with children
from all over the world. At first, it (11) ............ (be) difficult getting used to being away from home, but
we all (12) ............ (work) hard to fit in and the locals (13) ............ (be) very friendly. In 1986, my
family and I (14) ..., (return) to England, but I (15) ............ (love) my time in Jordan. I
(16) .ouenn... (learn) so much about an interesting culture and (17) ............ (make) so many good
friends.

Answers:-
1- left 2- arrived 3- was/ had been 4- was /had been 5- slept/ had slept — 6- lived 7- provided 8- built 9- went
10- attended 11- was 12- worked 13- were 14- returned 15- loved/had loved 16- had learnt 17- had made
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) B e Eilaa) Ciua g

. WB page 12+13 4ii¥) GliS 5 SB page 20+21 sl GliS ¢ha 3 gala quail) 134 -

m Talking about important events in your life (SB 20)
dibia B daga &laa) g uaal)
nlrmluclmn “adie

f1 are going to hear a woman talking about emigrating from England to Australia.
Ll (AN s e B paed) e Caa Bas () s -
ook at the photographs of where she used to live and the place she moved to. Discuss these questions with
a partner.

gl il 3 LAl g s et S G IS Ca ) gaall )il

a How do you think the speaker felt when she heard that her family was moving to Australia?
Ll il ) el Lealile o) Camans Ladie AalSiall ¢ jads ey cas -

b How different do you think she found life in Australia?
Ll yind b AalSiall a5an 5 520 (30 Gl Blall b DAY S -

key words 338 clals o
crowds, rush hour, commuters, train, station, busy* lake, yachts, parks, trees, skyline
slaudl éﬁ\ c‘)la.u\ cala Hite o gdn sEH\ ¢Jlds) (ddasa cJLLfé 09 8le cehjj‘\ Aclu od gdall
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g Laiul
Tapescript 2.4 alaal) Jala (e 3 5aka Jradtl) 130
I was born in the south of England and that’s where I lived for the first twelve years of my life. Then, one
day, I came home from school and went into the kitchen to get myself a drink. I got my drink and was about
to go into the garden to get some fresh air, but my Dad said, “Hang on a minute. We’ve got some news for
you. You’d better sit down.”
i g A el e cll ) Cues ¥ aa) g el o il e Lele 2 5] Cufie G | jiladl (agin b coal g L -
oy Ll Aad o 0wl " JU8 ) S Gimiall o) sl Biiin Agaall N Cia a5 g gmas D3A) sl Gasy J5Y bl
" mda O i) e 581 LAY
I sat down rather nervously. I couldn’t imagine what my Dad was going to say. “I’ve been offered a job in
Perth in Australia and I’ve decided to take it. It’s for three years, but if we like Australia, we may decide to
stay.”
sq.j/l_@_ﬂ Lo Gl o 585 Ll i 8 Gy Aipne o digdh s J Caetd a8 o)l g Lo JiaS i) ol pseme (S0 s -
L sl ) yiias Ly ) il L 131 (3 el i G0
I couldn’t believe it. Australia! I’d seen films and television programmes set in Australia and I’d always
wanted to go there for a holiday. But to go for three years! That was fantastic. I’ll never forget that day.
Al o OV s 8 Laal) cand) o ) Ladls i€ 5 Wl sl (e 0 3408 el Ladtal <ol 381 1L i) lld Gyt i) ol -
el Gy ) Gl 1) 13a 1) gi SO L)
The first thing that struck me about Perth was how much open space there was around the house. And the
weather. Of course I went swimming every day — sometimes I spent the whole day at the beach.
Uil L g2 Aol v 3as Ul qally sl s ol J s - siball slimill Aaline aS g Gy dinne Jan ) 50 e 3 J ) -
bl Lo agll JalS il
That was six years ago. I’m in my first year at university now — I’m training to be a doctor. We never went
back to England to live, though we have been for holidays. I just love everything about life in Australia, but
of course I'm still English and I keep in regular touch with all my English friends.
OIS 0l e L Gaall )yl 1oyl aad ol Al (5 5SY (g Aalall 3 ) Al 3 (V1L g a8 OIS Vs -
SalaiY) Sl we ) jaialy Jaal 55 & adadl <3 L SV el i) g 3Lall Jsa oo JS can) i ) Jhaall (g S ellia
Fill in the table below with information about the speaker and her move abroad. Then, check your answers
with your partner.

Age when she left England 12 years
Wiy Gojals Ladie W jee
Where she moved to and why Perth, Australia: because her father was offered a job
\.JLA} Goala ol eJ‘ there.
Length of intended stay / actual stay 3 years
Alaall 3aall /lead & oSl L.,SJ-‘AM 334l | 6 years
Her occupation 4ada gl A student

Advantages of migration Jiwl) il g8
- That it’s a great chance to see somewhere new and exciting.

laliae g Janaa LS 2ol (o) 58 dua il 4d) -
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You are going to write an email to a friend about a significant event that changed your life.
uﬂﬁ\ﬂ;)mggﬂ\}euuhucuﬂl@maﬂ:u‘s)ﬂ\\myuﬁu -

"1 An Email 45,3
You are going to talk about an event which changed your life in some way.
Laddy gl liba 8 diaa e Euaadti Cull-
a) Choose the event you are going to talk about. It could be a major change, like the speaker’s move to
Australia, or a more minor event. Examples:
- dba g g Caa gl Ll i) ) alSEall By Jie el ) |t (5 5S O OSaeall (e ade sl 3 g8 gA aaald) Al -
» Your first day at schooliw_all & &l o gy J » Changing schoolsus_lall & yuas

» The first holiday you remember _Sit dlle J5b An interesting journey 4aiee ils
b Make a few notes in answer to these questions. Ayl ol ciblal JS& e ALl cillaadle aa
1 How old were you? & e oS oS
2 Where were you?<us ()
3 Who was involved? dadl & ¢las (IS (10
4 What happened?deas 13k
5 How did you feel? < =i caS
6 What were the results of this change? _xaill 13 (e milll Lo
'3 Write an email to a friend telling him about the event in the past that changed
your life.oalall (& dliba & G (e 0 pdld diyaal 435 g sl Al s
a) Using your notes from exercise 1, write a paragraph plan for your email. You should aim to write around
100—120 words.
AQlS 120-100 (s S5 ) sy @y 5l 3 il aladie (iS¢ ] (g pal) (8 lilaaDlal elaladiinly -
b) Briefly describe the event, how you felt about it at the time and how you feel about it now.
OV A u Sy gl I e oS el Cin jeaiie JSi -
c¢) Use vocabulary from the unit. Use the Useful Language box below to help you describe the event.
Soall Cua g e eliae bl Jau) adall ClalS aadin) | (3_aell) 4l sas gl (e SlalS aadil -
Don’t forget that emails are usually written informally.
Avan ) e A8y sk Bale (iS5 gy Al )l Of (ot Y -
USEFUL LANGUAGE 3 cilals

Talking about past events ~aball & Elaal e Eaadl
(Then) one day, I ... U ¢ oY) aa) gl dayg
I was about to go into the garden to play football, when ...
,,,,, Losie i) 5,8 CaalY diaall ) Ll cu€
Two months / Ten minutes / Three days later, we ... o) &3 J8 /@8 jhe /0 el
The first thing that struck me was ... O /seals (Jera ) Abal o 2 J )
That was six years ago. <l yis 41w Jd &l i<
I can remember it very clearly. 1 gual g JS& elld SX aplail
I remember thinking / feeling ... J=&) <uiS ¢ S8 oS ) <X
I’ll never forget that day / how I felt that day.a sl <lld & 2l oS o gall Gl Il sl )
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Write an email to a friend telling him about the event in the past that changed your life. dlu cuis)
el B il b Eida o b Al iyl Ay )
I was born in Irbid in the north of Jordan and that’s where I lived for the first twelve years of my life. Then,
one day, I came home from school and went into the kitchen to get myself a drink. I got my drink and was
about to go into the garden to get some fresh air, but my Dad said, “Hang on a minute. We’ve got some
news for you. You’d better sit down.”
I sat down rather nervously. I couldn’t imagine what my Dad was going to say. “I’ve been offered a job in
Dubai and I’ve decided to take it. It’s for three years, but if we like Dubai, we may decide to stay.”
I couldn’t believe it. Dubai! I’d seen films and television programmes set in Dubai and I’d always wanted to
go there for a holiday. But to go for three years! That was fantastic. I’ll never forget that day.
The first thing that struck me about Dubai was how much open space there was around the house. And the
weather. Of course I went swimming every day — sometimes I spent the whole day at the beach.
That was six years ago. I’'m in my first year at university now — [’m training to be a doctor. We never went
back to Jordan to live, though we have been for holidays. I just love everything about life in Dubai, but of
course I’m still Jordanian and I keep in regular touch with all my Jordanian friends.
Gl g A paall e ) () Gy Y1 2a) (g el o Sl e lile 12 8aa] culie dua o ¥ Jledi 8 2 ) (A& Sl g adl -
o Ll 43 (g lanl " JB ) oS oGlimial o) sl BEELY Aaall L Can A g 6 pmas A juasll (s JEY el )
" gmdad O Jhdl) e ST LAY
13 Y el sian 330 B0a) Ll Lga Gl (o oy g g0 B Akl g ) a8l ) shans Lo (i3 i) o] o JS Cuida
Qe ol ) i Ly ¢ 22 Ll
Ll il ) oS3 Al b Lal) candl ) 3y ) Ladla i€ 5 a4 g9 360 ey s Lada) CaaaLs il 1 n lld 3yt wlaiasl o -
sl I ) 5 0 13 1l g S
JalS amils Ll e s alonal] o 3las Ul qlally ¢ tlall 5 ) Jgmn - sl olimil) dalise oS 58 3 Jsn gl 0 o o5 ) -
shlall e o sl
Al IS 4 e el Giaall o0 I 1yl 2 o) Ala o sSY il Aaalall 3 oY1 Al & YUl s o 0B S s

Y GBaal el sataly Jaal 585 43 5) 3 Lo (81 ¢ 3 8Ll g oo S ol Jas ) Jlaall e i€
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. WB page 12+13 &l QUiS ¢ya 3 gala cupail) 12 -

m Describing a sequence of events in the past

‘ Read this student’s essay and put the sentences in the correct order.
(il Jaall i i o) mmal) i il Jaad) i i ae )5 lUal) 1aa Allaa T8
(CABLGD.EHF ) US55 deall s 5
A night to remember

(i ¥) S ALY

-I had gone to bed just after midnight and I was only half asleep when the wind started blowing.
-Ten minutes later my bedroom window shattered with a terrible crash.
-Immediately, I leapt out of bed and rushed to my brothers’ bedroom to check that Tareq and Ali were all
right.
-When I went into their bedroom, I found Tareq staring out of the window watching the storm.
-Our younger brother Hisham was still sleeping peacefully.
-Luckily, he had not been woken by the noise of the wind and rain.
-Next, Tareq and I went to check that our parents were okay. We knocked on their bedroom door.
-There was no reply, so we opened the door and went in.
-Our mother was still sleeping, but our father was already dressed and doing everything he could to protect
our house from the storm.
QUL g iy Ladic Al Caai Jadd i€ g ) Caatia aay () 8N () Cund 8 oK
) Dpen aa e g Ad e 3AL Cuiadaat (GEY ydic ey -
elle e e s Goth o e SEI J5a) a5 dd e e g s el e 3 ¢ sl e -
Adalall il 838Ul (e (3aay (3 la Caa g a gl A8 e ) Cuad Ladie -
oSt Lals 13 Y alia L jraa¥) LS (S -
easidde QLU Hh 5a WS Ll s of (e 2SUI Liad Uiy 3 ¢ lld aayg -
Ll g Ll late GlIA) ¢ o ) ellia (S0l -
Abalall (e Wiy Aglead dan g (8 Le S ol g 4unDla (g3 Lall 5 IS 815 cdails il e cailS Lisall -

Look at your complete version of the story and underline the words or phrases which
helped you to work out the correct order. These may be:

e time or sequence words and phrases: ten minutes later

® pronouns: he
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3 Choose something that actually happened to you, or use your imagination to make up a story. Use some
of the linking words and phrases that you found in the example story. Write 100—120 words.

Ladll 8 lgiam 3 ol jluall g day ,1 el jamy Jenins) Guad 3180 SLA Jamind of cclae Sad Joma Lo L 45l

) ) ALK 120-100 S) A8

_saldal) A il

elais o lie Unialy gl 4] 2iiad 30 oL e of lile

@\hﬁwiéjqﬂéﬂ\;ﬂ@)ﬂ\@@gw\di

cosseall e e Ay e (o g LaadIS A8y (50 Ao i (53 Gl

i) Gl il my % % % Jlal) 3 s gl (00

i Al 6 of &Y aanil) 138 Jie 05 (s Jpaad o mlaall gl 5aY1 JS

sl a5 0 9 Aol s eliad (e At Judadl 5 uaal sl daual g Calaad y JISEL Ladadil) 8 cile L as ¢l ()
Jainually G 13ke GeSl g Ji 1] rund i alal o8 L Ly (o Cand Agaal) 2aSal)

& X & & X X X
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Precious resources

WB 14
1 |cloth (i material or fabrics used to make clothes il aical Ll o) 3 50
2 | fibre <l a very small piece of paper, wood, cloth, etc
@\ ¢ oiladll cdAl ¢ 3yl e lan B piria dalad
3 |rot (s decay (=i
4 | sustainable aliwac yiua | a practice or product that can be used or re-used without cost to the
environment.

) e FK5 ) 0 daladial sale) ) Aeladinl (S 53 griie ) Ll

5 | wood pulp «sall Gl wood after it has crushed "s_&dll ) H1" adalS aay Al

€ Paragraph One A5 5 Al

The first paper was made from cloth nearly two thousand years ago in China. Although paper can
be made from all kinds of materials, such as cotton fibres, grass or sugar cane, these days wood pulp is
.the material most commonly used to make "new paper' - that is, paper which contains no old or recycled
paper.

Sl Jie o) sl ) 531 JS G Lgminat (58 55l ) (e a Sl s Gl (G da (Al ot Lo J (Alalll (e driia 5 (3 )5 J )

Y s Gl sl -Mananll sl gieal alarivea le gid SASY) salal) o il ol e LY a3 Sl Caal g Cadiall (il
L s alaa 5l dapd (315l e (5 sing

Questions 4Liu!

1- When was the first paper made? G, J) gaial & e

2- Where was the first paper made? G J) sl &3 cpl
3- What was the material that the paper made from in China? L G, sl a3 Al 3oLl cuilS 13l

4- According to the text, there are many materials that the paper can be made from. Mention three of them.
54 Friaaly o Sul) Al e Ul
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Oleie COE SN Lgia (55l Aeliva (Say 3 sa sae @lllia (il e lalaic)

5- What is the main source in making new papers? Gl gia (& (i)l jradl
6- According to the text. What does new paper mean? sl 3 5lb Jai 1 ¢paill e laaie]

7- What does the underlined pronoun "that" refer to?

8- What does the underlined word "which" refer to?

9- Find a word in the text which means "material or fabric used to make clothes"

10- Find a word in the text which means " a very small piece of paper, wood or cloth"
11- Find a word in the text which means " wood after it has been crushed"

12- What does the word "cloth" mean in the first paragraph?

13- What does the word "fibre" mean in the first paragraph?

14- What does the word "wood pulp" mean in the first paragraph?

@ Paragraph Two 4Gl 58

The modern world uses so much paper that environmentalists have persuaded us that we should
recycle old paper as well as making new paper. There is an increasing awareness in Jordan of the need to
recycle both paper and other materials. Paper-recycling containers can now be found in some parts of the
country and some government agencies have begun paper recycling programmes. Also, there is greater
education in schools about the need to take care of our environment
) Alal andll (3 531y 08 aed () oty 40l U el Al graliatial (ld A (55 501 e S Jasiosy paal) allal)

S sl 533 g o) A1 sy sl e IS s Aalall b W1 8 S e g lllia sl 5 5 ) Aelina
Ciaal (B S (g s dun 5 Alllia L) Bl s Bale) el by 38 A gSal) gl (mny g bl ela ) any & Laas ()
Uit eliie M dalall Jsa
&% Questions 4Ly
1- Write down the sentence which indicates to a piece of advice given by the environmentalists?
02l slale (yo dadia dageat N i i Aleal) (S -
2- What do the environmentalists persuade us ? el &l gualiaial J gy 13

3- Give two evidences that there is an increasing awareness in Jordan in terms of recycling materials?
£ sall o sy (lay Lad (53 )V (B ) e oo s llin f e alidy SO0 -

4- Quote the sentence which indicates to the government's efforts in schools in terms of protecting the
environment.
Al Aoy (3lay Lagh o ylaall 8 e Sl 3 g 1 s ) el (gl -
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@ Paragraph Three 43 5 jadl

Although we use wood pulp from trees to make new paper, it is not true that recycling paper saves
trees. Trees are a commercially grown long-term crop, so that when they are cut down, new ones are
planted. Also, papermakers use the parts of trees that cannot be used in other industries such as building

and furniture making. Nearly all new paper is made from wood grown in sustainable forests.

J\;ﬁ:‘}”.\A.uéjjj\‘):\‘93_']'831_0\u\.\\;ﬂmuﬂjuﬁc.J_}.JAJ\&JJJ\%M)M‘}“UA&J)J\JJMLU\U_A&JJ\U_‘Q
é‘)‘pj\&t_uauucha_}\L@:\c\‘)‘)égﬁdﬁhdﬁu‘weﬁgum uﬂ&ﬂ&d;#\ddd\éc&JjéJ&deA)MY\ﬁ
RPN | QMM\GSHL’;J]\ Al e

& Questions ALy
1- It's said that "Trees are a commercially grown long-term crop." Do you agree? Justify. ;
Ay 5 @8 5 da Mdashal) gad) e g 3 g lat dseane (8 JaSYI b J& -

2- According to the text. Mention three uses of trees.  saill ¥leatind &35 KA aill Je alie
3- What is the main sort of wood that is used in making paper?3_ sl delica 8 Jazivall Culiall oo Jl Hradll b

4- Find a word in the text which means " a practice or product that can be used or re-used without
cost to the environment"

5- What does the underlined pronoun "it" refer to?

6- What does the underlined pronoun "they" refer to?

7- What does the underlined word "ones" refer to?

@ Paragraph Four 4x_l 5_adl)
Here are some of the facts related to producing recycled paper:
o930 laall (3 ) sl L Aleiall (GlAa) any Ly Lad

. A large proportion of household waste is paper or cardboard. About half of this is newspapers and
magazines.

ka5 i e B ke Lgdhal (s 0558 5l B 0o Bk Aal yial) QAL (e B S A -
o For every tonne of paper used for recycling, we save 30,000 litres of water, 3000—4000 kwh of
electricity, and reduce air pollution.

o) sed) G gt Jl8s g cely 5eSH e dal 5 S 4000-3000 ¢slall e 51 30.000 53 ot ¢y ol 3ale PO Gl e b -
. Recycling paper is less harmful to the environment than burying it in landfill sites. This is because
paper that is buried in the ground rots and produces methane, which is, a powerful greenhouse gas.

i 35 el e iy ity 0 a5l Y 138 L) (0 al pa b Leiha (e Al |y pum Bl 5 (35l ssaled -
(Al s (e 33 Gl e aal ) Al 4y gill ol ) aal)
. Despite our increasing dependence on information stored on computers, there will always be a
demand for paper. In the interests of our environment, we have to make sure that we continue to recycle as
much of it as possible.
S5 O g it llal G5y sl) D dals Lails g sSiias elllia sl sall 8 45 3a il slaall e ) il Uslaie) a& s -
o Uil 38 40 3y 3l sainale et o) e (paSlia
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&% Questions 4Ly
1- What is the most of household waste? 4 jiall calalaadll yiS) L

2- Mention three advantages " benefits" of recycling paper? Gl s (e 21 g8 &3 <A

3- Why is burying paper in landfill sites considered more harmful to the environment?
Rl e |y pum ST B e 8 G5 sll (B ey 13l
4- According to the text. What is methane considered? — ot Jle i Dl Gaill e lalaic)

5- Write down the sentence which shows that we can't always depend on computers in storing
information. <le slaall 1y 335 ‘_,,J Gealall e aldie Y Lala @\Lﬁ..u oAl i ‘;ﬂ\ laal) S|

6- According to the text. What should we do to save our environment?
Oty dlaad alaii ) Lle (a5t 13le patl) e ol
7- What does the underlined pronoun "this" refer to?
8- What does the underlined pronoun "it" refer to?
9- What does the underlined pronoun "which" refers to?
10- Find a word in the text which means "decay".

**%* Find out whether these statements are True or False. Correct the false statements.
1- All paper is made from wood. ( )

2- Paper can be recycled more than 10 times. ( )

3- Recycling paper saves trees. ( )

4- Most household waste is paper or cardboard.( )

Questions 4wa) <Y g ddlay) ALild)
1- According to the text, there are many materials that the paper can be made from. Mention three of them.
Plgie O SN Lgia 35l Aeliva Sy o) s sae @lllia (aill e lalaic) -
2- Write down the sentence which indicates to a piece of advice given by the environmentalists?
Sl slale (pe Aatia dasead a3l Aleal) (€I
3- What do the environmentalists persuade us ? Liel) 4l gpabiaial) J sy 1ila
4- Give two evidences that there is an increasing awareness in Jordan in terms of recycling materials?
O3l sall 53 Gl Lo (32 Y1 3 i e e 5 ollia () e gy 30 -
5- According to the text the writer says "Trees are a commercially grown long-term crop." Do you agree?
Justify.
A3 5 0 5 a sl sl Gl g5 s ad U pemna b Lt ol Jl -
6- According to the text. Mention three uses of trees.  aill C¥laain) 3 K aill Je lalaic)
7- Mention three advantages " benefits" of recycling paper? G_sl s s¥i (e 23 s &3 <Y
8- Why is burying paper in landfill sites considered more harmful to the environment?
2l e |y pum ST il B e 8 sl (B ey 13l
9- Write down the sentence which shows that we can't always depend on computers in storing information. <
il slaall (30 35 8 o gualald) e alaie V) Ll godaiost o1 Wil Wy 3l Aleal
10- Find a word in the text which means "material or fabric used to make clothes"
11- Find a word in the text which means " a very small piece of paper, wood or cloth"
12- Find a word in the text which means " wood after it has been crushed"
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13- Find a word which means " practice or product that can be used , re-used without cost to the
environment"

14- Find a word in the text which means "decay".

15- What do the underlined pronoun refer to? ezl 3 23 (0 e

16- According to the text the writer says there will always be a demand for paper. Explain this statement,
justifying your answers. <l 5 ns a3l Aals Lol ellia ¢ sS4l J 4y il

Critical Thinking:-

- Recycling materials has many advantages. Think of this statement and in two sentences give your point of
View.i\\)é e \.gJ J\}d\ R e I X\r

Answers:-

1- such as cotton fibres, grass or sugar cane, these days wood pulp is .the material most commonly used 2-
The modern world uses so much paper that environmentalists have persuaded us that we should recycle old
paper as well as making new paper.3-that we should recycle old paper as well as making new paper 4- Paper-
recycling containers can now be found in some parts of the country and some government agencies have
begun paper recycling programmes. Also, there is greater education in schools about the need to take care of
our environment. 5- yes, this statement is true because Trees are a commercially grown long-term crop, so that
when they are cut down, new ones are planted. 6- building and furniture making. 7- we save 30,000 litres of
water, 3000—4000 kwh of electricity, and reduce air pollution. 8- This is because paper that is buried in the
ground rots and produces methane, which is, a powerful greenhouse gas. 9- Despite our increasing
dependence on information stored on computers, there will always be a demand for paper10-14- Jsi> a2l
<Y 15- it = that recycling paper saves trees/ Trees = they , ones /

paper or cardboard=this / paper =it / methane, which / paper= it. 16- I think this statement is true because we
need paper in every fields of workdeall (24 and our life such as documents, newspaper, books for schools.

Critical Thinking
I think that recycling materials has many advantages so that recycling saves energy, saves environment and
reduces pollution, saves natural resources.

wkxkxt*Read the article again and complete these sentences with words or phrases from this list.
There are two more terms than you need.

air pollution ¢ s¢dl 555 environment 4wl greenhouse gas s8> Jle
household waste 4d yw Cldlia  materials2lse  sustainable forests 4elaiue Clle

1- Grass and sugar cane are two of the ......... that can be used to make paper.

2- Trees used for making paper are grown in......... ......... , Where new trees are planted to replace ones
which are cut down.

3- About 50% of the paper and cardboard in......... ......... is made up of newspapers and magazines.

4- Burying paper in landfill sites does more damage to the......... than recycling it.

sV gl Legalasind oSy )5 cpiale Lat Sl g Cadall -]

Leadad 3l e Yayp ) 35 baaall i) Cua dalaiual Gl e 555Gl pha  Alaatua) el D
Dkl g aall (e 45 5 A Saall iAo 558N s 3 ) 00 %50 (s -3

o053 (e ST Al ) jlad Gy el il & (5 ) (o -4
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3

SB 24 /WB 15

Colour Meaning
1 | out of the blue unexpectedly, suddenly  3lad dddvally
2 | red tape paperwork and administration (ewy csisi s Y )5 48 55 Juel
3 | in black and white printed, written, clear, obvious <« 558« ¢ sias ¢z goa 9
4 | seered very angry | cuale
5 | give the green light to say yes, agree, to give permission (3! oy ¢34 5
6 | put someone on the black list tell the public that someone has done something wrong.

bl (o)Al dga o) paddy el gy gl (610 sud) LA (& (add ) -

**Replace the underlined phrases in these sentences with the correct form of one of the colour
idioms in this list.diul Ol oY) Clalhuas i Lghad Al clalhuaal) Jagi)

out of the blue red tape to be in black and white to see red

to give the green light to put someone on the blacklist

1- When he accused me of being wasteful, I got very angry.

2- We’ve got to stop companies from polluting the environment. We should tell the public they have
done something wrong.

3- They’ve said yes to the building of a new incinerator.

4- The rules clearly say that we must not leave rubbish outside our homes. Look, it’s printed here.

5- It’s almost impossible to get a passport quickly. There is so much paperwork and administration.
6- I heard this morning, unexpectedly, that I’d won a writing competition.

JES Cunad (e (Gl Siegdl Leie -]

i el Caald 38 Ly Gl i o g Al 5 (e IS ) (i g3 ) g 22

A (8 el ani | 58 28] 3

LGS (Al o Qlail J 5kl 2l Al @ 5 Y ol Lale qang 4l 55 goal 5 JSi ol 580 ) -4
AV g A ) ) Jlae V) e N @lllia Ao pon jiw ) sa e Jeand il Wle Jiatoe Y 43l -5
A Ale sl ) ddaally g rluall 138 Cimas -6
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***Complete these conversations with one of these colour adjectives.
There are some words which you do not need, and others that you need to
use twice.

[ black, blue, brown, green, red, white, yellow ]

Workbook page 15

1- A -Is that a letter you’re reading?Wl & il dlu ; o34
B- Yes, it’s from an old friend. It came this morning — completely out of the ...........
dbaallys luall 138 Lgiativd 280 a8 3a0a (e il /ani -
2- A- Have you heard? The government has given the.......... light to the building of a new airport.
Aaa el s guall Calae | 28 40 Sal) () € Canans Ja -
B- I think it’s just a rumour. 4eL3) 3 yaa L3l Siic|
A-No, it’s in the newspaper. Look — it’s here in.......... and......... .
L O giSa sl ylail g_q;..al\‘_g‘).\;.“ Oy -
3-A- Calm down.|)
B- Sorry — someone accused me of being lazy and I just saw..............
Jaa Cuzale Uy JgnS Al Siegdl 38 adas) -l -

Answers: <L)
Choose the correct colour words in this text.oaill (8 dsuliall o)) o) Clals 33

The authorities have just given the (1) (blue / green) light to the building of a new airport. The
news has come out of the (2) (black / blue), and shocked many villagers. The thought of a new airport near
their homes has made many of them see (3) (black / red). Unfortunately, the plans have already been
prepared — I’ve seen them in (4) (black / white) and (5) (black / white).

o aaall jUaall 3 S8 g8l e IS Cradia 38 5 cddaall CilS LAY aas jUa L] jadW) ¢ gall chlae ) a8 caldalldl -
Z 50 5 B 53 Ll ) 38 Ul 5 laslae ] a3 8 cillaladiall i caall ¢ sud s anale agie KN Cilaas agl oy
-ina 2014 Al il giad) i -

1- My father was unable to get his visa application approved due to .................
(out of the blue, black and white, red tape)

-1 5 2014 ALl ¢ giud) ALic) -

A. Study the following sentence and answer the question that follows.
Write the answer down in your ANSWER BOOKLET. (3 points)

The government has given the green light to the building of a new airport.

What does the underlined colour idiom mean?
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hree-part phrasal verk

o) 32 5 Jladi

CQ%

Multi-part verbs Meaning
1 | keep up with &l « Sl g know the latest information about J s> <l staall JAT o jay
2 | cut down on Ji& reduce u=idy
3 | come up against 4>l s face , meet 4als
4 | look forwardto I el ¢ ki | wait with pleasure for something to happen

Janan o 20 Balann iy -

5 | come up with invent ¢ s, discover <iS | find
6 | put up with Jesiy ¢ Jaiy accept Ji, stand J«a% | tolerate (something unpleasant) g zelodhy
7 | go along with To continue; to progress (8 a3k ¢ o jaiuy
8 | run out of iy come to end sl e dli

**%***Find the three-part phrasal verbs in these sentences, then match each verb with one of the
meanings below.  Wilaa (g Win Jea ol ¢ Jaad) 03a B 48 jal) JladY) 22

Student's book page (24)

a -Things are moving so fast — it’s impossible to keep up with the changes.

_Q\ﬁm\@\ywlwﬁ\_zﬁsac}»gé)iﬁ)yw-

b -Supermarkets should cut down on packaging.

i) (g JIES T A lail) 581 al e cang -

¢ -We’ve come up against serious problems in our plan to recycle rubbish.

Aaladl) Ly pmisale Lild L35 laall JSLEN dal gl o s -

d -I’'m looking forward to the day when 100% of our rubbish is recycled.

5520 (0 5S5 Aalaill (10 96100 4 (52 o sl (§ gy ] i) -

e -Scientists have just come up with a new way of reprocessing plastic.

LSl e 3ale Y s A5y yha ) pddES) 28 clalall -

f - People living near the bus station put up with a lot of noise.

e oY) e LS G glaady (il ddase il () galimy ) (il -

Answers &Y :- Jgaal) (e A pal) JudY) laa Gis)

JJandl i o Y ASE JudY) daa i) —cdlald AL

1- Study the following dictionary entry and answer the question that follows.
What does the underlined multi-part verbs mean in these sentence?

1- People living near the bus station put up with a lot of noise

2- Scientists have just come up with a new way of reprocessing plastic.

3- Things are moving so fast — it’s impossible to keep up with the changes.

4- Supermarkets should cut down on packaging.

5- We’ve come up against serious problems in our plan to recycle rubbish..
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6-I’'m looking forward to the day when 100% of our rubbish is recycled.

7- The oil resources will be run out of by the end of this century.

8- Tariq has been going along with his project despite the current problems.

Answers:- 1- to stand, accept 2- to discover 3- know the latest information about.
4- to reduce 5- to meet, face 6- wait with pleasure 7- to come to end. 8- to continue.

“ihna 2014 -

2. vou should try 10 —-—--—-e-- - the amount of driving you do to help the
anviranment,
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alking about wis

SB 25 ciluialll oo daaadl)

****Wish + past simple  Jwwl) oalal) 2a

1- We use wish + past simple verbs to talk about regrets in the present and impossible conditions:
—rdanina &.4)}&).\4\;5\&(:3.\3\& il (@U%M@M\ww\ewwh Jazias -]
- I wish I had my glasses with me. (I don't have my glasses with me.)
(Y e ol (i UaT ) | ore (U ) o el -
- I- wish I was ten years younger. (This is an impossibility.)
(Jiae yal 138) (pis plmy yroal i€l il -
- I wish I studied Massmedia.
(Ju:w oy ‘55 ‘_,,_mﬁ\ -
2- We use wish + could to express regret about inability to change situations we don't like:
e Y G e lia V) s e s all aae Jsa adi e unill wish+ could dxma Jaxivs -2
-1 wish I could go to your party, (but I can't) (ekind ¥ oS1) clilia I Ol Gadain) ) i)

- I wish I could read more quickly. (I read slowly and would like to read more quickly.)
(ST ey T3 ) 3505 edas 1581 U1 ) g yuad S e a1 aalaias) o) el -

3- We use wish + would to express criticism or annoyance about certain behaviour:
—omaa Asla e zle Y5 MY e ueill wish + would Jesivd -3
- I wish you wouldn't do that. (The speaker is telling someone to stop doing something.)
(Cone e dae e i 5iy () AT i (o ol ISR ) el o ol Sl ) el -
-1 wish I would get up earlier. (The speaker is unhappy about his own behaviour.)
(oaba) 48 sl s e SIS ) S il 1 ) e -

g , | ! wish | could swim.

e | wish | was ten
centimetres taller.

b (d 1 wish they'd stop
- making so much
noise.

Basaie &l LA g Cpeasd (o Jadl) iy sl LadA )
*wishS  v2  (v)/*wishS __ fixed  (fix)/ *wish S _had  (have)/ *wish S waswere  (be)
*wish S could  (can)/ *wish S would  (will)/ *wish S couldnt (not can)/ *wish S __wouldnt  (not will)
*wish S didntv  (not V)/ *wish S didnt fix  (not fix)/ *wish S didnt have  (not have)/ *wish S _weret,
wasnt  (not be)

I-TwishI............ my glasses with me. ( have)
2-I-wish T ............ ten years younger. (be)
3-TwishI............ Massmedia. (study)
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4-TwishI............ go to your party.(can)

S-TwishI............ read more quickly. (can)

6- I wishyou ............ do that.(will, not)

7-TwishI......... get up earlier. (will)

8- I wish people ......... take the problem seriously. (will)

9-1Twishwe ......... recycle plastic more easily. (can)

10-I wish every country ......... a system like that. (have)

11- You're making too much noise. I wish you......... be quiet, (will)

12-Twish I............ coming with you. (be)

13- Look at the rain. [ wish it......... stop, (not will)

14- Muna hates being old. She wishes she......... young.(be)

15- I wish you............ make up your mind, (will)

16-IwishI............ have another chance to do it again, (can)

17- I wish you............ leaving the company. I'm going to miss you. (not be)

18- Rami wishes he............ more money so he could buy a new sweater, (have)
19- TwishI............ short so that I could be in the basketball team. (not, be)

20. I wish you............ watching television while I am talking to you. (will,stop)

Answers:- 1-had 2-were,was 3-studied 4-could 5-could 6-wouldn’t 7-would 8-would 9-could 10-had 11-
would

12-was,were 13-wouldn’t 14-was,were 15-would 16-could 17-werent 18-had 19-wasn’t, weren’t 20- would
stop

whkkdkwdt Complete these sentences using the verbs in brackets.

1-Ican'tride ahorse. IwishI............ ride a horse, (could, couldn't, wouldn't)

2- Nawal isn't here. I wish she ............ here, (wasn't, isn't, was)

3- My father is in hospital. [ wish he ............. (isn't, wasn't, wouldn't)

4-I'm not at home, but Iwish I ............. (had been, wasn't, were)

5-1don't know her, but IwishI............. (didn't, did, was)

6- I'm too busy this week, but I wish I ............. (wasn't, wouldn't, didn't)

7- We don't have a swimming pool. [ wish we ............ one. (have, don't have, had)
8- There's too much violence these days. I wish there......... (isn’t ,wasn’t ,wouldn’t)
9-1 have a headache. I wish I............. a headache, (didn't have, don’t had, wouldn't)
10- You always come late. I wish you............. (didn't, weren't, wouldn't)

Fr*ikxx**Study the following pair of sentences and answer the question below.
wish Yleia) & clhg Al (adla s
1- We use wish + past simple verbs to talk about regrets in the present and impossible conditions:
2- We use wish + could to express regret about inability to change situations we don't like:
3- We use_wish + would to express criticism or annoyance about certain behaviour:

1) a- [ wish people would take the problem more seriously.
b- I wish we could recycle plastic more easily.
-Which sentence indicates that the speaker expresses regret?
2) a-I wish every country had a system like that.
b I wish they wouldn't do that.
- Which sentence indicates that the speaker expresses criticism / annoyance?
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3) a -I wish I were ten centimeters taller.
b- I wish he would stop smoking.
- Which sentence indicates that the speaker expresses criticism /annoyance?

4) a- Mr.Samer wishes his wife wouldn't go shopping so often.

b- Mr.Samer wishes his wife was five years younger.
- Which sentence shows that Mr.Samer expresses annoyance about his wife behaviour?
Answers:- 1b/2b/3b/4a

' UNI

. wishes () Jasaill dbici -

Az~ Complete each of the following items so that the new item has a similar meaning to the one
before it, and write it down in your ANSWER BOOKLET. (6 points)

can can't will wont V-/Vs don’t, doesn’t V
could couldn’t would wouldn’t V2 didn’t V
am,is,ar am not,isn’t, aren’t (too _so) (very well/good — better)

wis, w wasn’t , w

. wishes () Jagail) i -Jg¥) Jiaal)
1- I can't ride a horse. 17- Going to the theatre is expensive.
Iwishl ..o Twish oo
2- Nawal isn't here. 18- I'm really tired, but I can't sleep at night.
Iwishshe ........o..o oo Iwish D ..o,
3- My father is in hospital. 19- The weather is too hot today.
ITwishhe............ oo Twish oo
4- I'm not at home, 20- You waste too much paper.
ITwish ..o, Twish oo
5- I don't know her, 21- I'm very shy about talking in public.
ITwish ..., Twish oo
6- I'm too busy this week. 22- The city centre is really busy this morning.
Iwishl ..o, Twish oo
7- We don't have a swimming pool. 23-1 can't sing very well.
ITwishwe ..o Twish oo
8- There's too much violence these days. 24- I'm really tired this morning.
Iwishthere............ ..o, Twish oo
9- I have a headache. 25- My friend won't give me my CD back.
Twish ..., Twish oo
10- You always come late. 26- It's too hot to go out today.
ITwishyou.........oo oo Twish oo
11- I’m not old enough to go to university. 27- 1 can't remember where I left the newspaper.
Twish oo Twish oo
12- I’m not very good at maths. 28- Her music is too loud for me.
Twish D .o, Twish oo
13- Hani speaks really quickly. 29- Mr. Ali says the English exam won't be easy.
TWish oo Twishit. oo
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14- I can’t speak French. I wish the English exam............................
Twish T .o, 30- The English exam will be difficult

15- You’re always losing things. Twish oo
Twish oo

16- We have to start work very early tomorrow.

Twish o

1- I wish could ride a horse 2- was here 3- wasn’t in hospital 4- were at home 5- knew here 6- [ wasn’t
so busy...7- had a swimming ...... 8- wasn’t too ... 9- I didn’t have a headache..... 10- didn’t always
come late. 11- I was old ....... 12- T was better at maths. 13- Hani didn’t speak loudly. 14- could
speak........ 15- you weren’t always losing ... 16- we didn’t have to start... 17- Going to the theatre
wasn’t expensive 18- could sleep at night. 19- the weather wasn’t so hot . 20- you didn’t waste ..... 21-
I weren’t very .... 22- The city centre wasn’t really busy this morning. 23- I could sing 24- I wasn’t
really tired 25- my friend would give .... 26- it wasn’t ...... 27-1 could remember ....... 28- her music

wasn’t so 29- would be easy.. 30- the English exam wouldn't be difficult.
raleal) iy g IS (a 4 da Jaa

1- You waste too much paper. (stop wasting paper)
ITWisSh you ..o
2- My brother spends many hours talking on the phone. (not spend so many hours)csee < sl (3 2lail 5 =le 3l
I wish my brother wouldn’t ...
3- I’'m very shy about talking in public. (not so shy)
Twish oo
4- Newspapers and magazines contain too many adverts. (not so many)
I wish Newspapers and magazines ...........................
5- You eat too quickly. (not eat so quickly)
I wish youwouldn’t ...........................
6- ’'m a very slow reader. (not such a slow reader)
IwishI ...,
7- We don’t spend much time together. (spend more time)
ITwishwe ..o,
8- The city centre is really busy this morning. (not so busy)
I wish the citycentre ..............ccoevvviiiniinnn...
9- He’s lost his keys. (find his keys) (4a8lie oyl aieUainly o Jiail) 4a5ilie gLl (he's = he has)
Iwishhe .............oool.
10- You’re always losing things.
Iwishyoudidn’t....................
11- I can’t sing very well.
Iwish ...
12-I’m really tired this morning.
Iwish ..o
13- My friend won’t give me my CD back.
Iwishmy friend ................oooiiiiiiin..
14- It’s too hot to go out today.
Twishit ..o,
15- I can’t remember where I left the newspaper.
Twish .o
16- Her music is too loud for me.
I'wish her music ...
17- Many people in my village smoke too much.
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I wish many people in my village would ..........................

18- Our city doesn’t collect rubbish often enough.

Iwishourcity .......ooovvviiiiiiiii,

I wish our city would................oooiiiiiiii,

Answers:-

1- didn’t waste so much paper/ could stop wasting so much paper. 2- wouldn’t spend so many hours .....
3- [ wasn’t so shy.............. 4- didn’t contain so many adverts. 5- eat so quickly... 6- wasn’t a such
slow reader. 7- spent ..../ could spend..... 8- wasn’t so busy 9- could find his keys / hadn’t lost
.......... . 10- didn’t always lose. 11- could sing better 12- I wasn’t feeling so tired/ wasn’t really tired
this morning. 13- would give ......... 14- wasn’t so hot today/ was cooler today. 15- could
remember......... 16- wasn’t so loud for me. 17 — would smoke less. 18- collected/ would collect ......

illal) cilaada
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' Interpret and discus

l‘ Look at this bar chart. What does it tell you? Discuss your ideas with a partner and write down three
key facts illustrated in the chart.
Gany @l 5) Jabaall 8 Aaia ga Ay ) (3ilia 6 ) ellia ) ae ST 380 9 yas 3l U Lol Jalad ) (pe ) -
(s sikal) s Y)
Example: In 2009-2010, a total of 4.500 million tonnes of household waste was recycled.
Ly 9 o3 Al Jial) QA (e ha (g 5ake 4.5 de sana e ¢ 2010-2009 Gaalal) 8 1 JVia-
- In 2008-2009 , a total of 3.500 million tonnes of household waste was recycled.
- The overall amount of recycling has increased every year.
e IS caala3) 3y sl ale Y Allaa ) el -
- The greatest overall increase in recycling is in green waste.
o padll ) & cnlS sl 6 dllea 53l ) LS -
- The smallest overall increase in recycling is in metal waste.
Ol lélae ciilS g gl = Adlea) 32l 5 J8) -

) Paperand card I Green wiaste B Other materials

5,000 - . Glass . etal
4500
4,000
3,500
3,000

2,000
1,500+
1,000

500

Thousand tonnes of
household waste
&

2]

2004-5 2005-6 20067 2007-8 2008-9 2009-10

byl

g2 Read this report based on the chart in exercise 1.cn<ill (& an )l e adiny g3 Jul) 5l ) 3)
a Does it contain any of the key facts you wrote down?
i€ Al A ) Glaal o (s e N (5 5in0 Ja -
b One piece of information in the report is incorrect. Can you find it?
flaslay GlilSal Ja Fiamaa e il L3 Cilaslaall aa)
- The fifth "key fact" is wrong: the second largest amount component was paper and card, then other
materials. .3 sall (B a5 055 S5 G5l B juaie S| SG AklA dlal) Al
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Waste and recycling 2004—2010
2010-2004 o e sl ale) g clalasl)

.. Key facts i) 3ilda
L4/ During the year 2009-2010, 4.5 million tonnes of household waste was recycled.
~ L 50 a3 4 jiall Gl (e e (5520 4.5 < 2010-2009 aladl J3a -
L4/ This is almost twice the amount of waste recycled in the year 2004-2005.
- 2005-2004 alal 5 ) s2all Clalaall dpaS Chmiza Ly 55 12a -
L/ Five different types of waste were measured: Paper, Glass, Green waste, Metal,
and Other materials.
(A N a5 ecpalaall el pumal) Ll erla W el s b s Lealasial 5 L (p Ailisa ) 53 dusad -
0 In the first year of the survey, more paper and card was recycled than any other material, but by 2009-
2010, Green waste was the largest component with about 30 percent of the total.
2010 -2009 ale & SV ecs AV 2 sall (ga ST Lo 935 a3 ¢ 55 5SH 5 30 (e 2 el e(usl all) rmsal) g (51 Al 3 -
(S E sanall Ga Tl 30 ) say SV yeaiall CulS 6] pumdl) il

[
L/ In 2009-2010, the second largest component was Metal, 28 percent, then Glass,
20 percent.
Al 20 gl & (e Adally 28 palaall S juaie 181G 2010 -2009 ple (A -
{2 There was also an increase in the amount of other materials recycled.
a5 &5 il (5 AV ) el A 8 Loy 5ol lllin S

K f3 Write a paragraph of 35-50 words headed ‘Conclusion’ to summarise the key points given in
exercise 2.

) el (8 At Sl Bl (adlil MALLDIAN () sie i S 50 35 (e 0585 58 (iS) -

A )l Jalaal e 558 (pa ST S5 0 i) Cua (A e 5 )

Conclusion 44
The chart shows that, between 2004- 2010, there was a steady increase in the amount of waste which was
recycled.
In the first year of the survey, paper and card was the largest component recycled, but after year Green
waste became the largest component recycled. Also, there was an increase in the amount of Other
materials recycled.
Lo o35 dlaal) chlalaall AneS 8 aili 3ol ) elllia « 2010-2004 (ole o 430 jeday Sbad) o )l 13a
eaiall Cinteal ol pumdl) ililaall A aay oS3 ela 153 S SSY) eainll il 55 S G5 sl cormnall a5V Al
Lo o35 dlaall (gAY 3 gall A 8500 ) clllia Lay) | g2 Y
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A report 5 4US (SB 27)
*You are going to write a report based on waste and recycling statistics.
Al o Bale ) ciliiluan) o aalayg |y i (i -

Planning and Writing JEFERppsm R

2 You are going to write a short report containing information shown in the bar chart below.
Jind ) s 5l 3 sUnaall il slaall e (5 sing | ppa |y 585 S -

B Landfill B Recycled/composted I Inciner ation

100+
a0+
804
704
G0
504
404
30
204
104

Thousand tonnes of
household waste

Greece [tahy Finland Luxembourg Austria
Landfill @<Ll cSa | recyclede s 93 dea / composted 2w , incineration(<liliall (§,a) dua il

a) Look at the chart. What does it tell you? Discuss your ideas with your partner and write down four or

five key facts.

b) How do the five countries compare with each other? For example, which country recycles the most

material? Which country buries most waste in landfill sites?

LS () sl 335 A 50 (5 Tl e e L3ST ) e 903 a8 A 50 (g Ul Qo e Slgaiany e Guadll Jsall Calias (oS -
eentanl)

¢) What conclusions can you draw from this chart? (You can include ideas of your own that are not given

in the chart.)

expressions from the Useful Language box below. Keep your language simple and your
sentences short. Use bullets [+] to separate points.

(o sl Aalll (3 5niim (e il Jaminal 5 Aadla 5 A ) ilia ) (il inll Janin A41S 120-100 (8 & i iS) -

Neany e Tl Juadil () il ool Jasine) dpad dllan s Aags lial Jual i)

@ Write your report in 100-120 words. Use the two headings: Key facts and Conclusions, and
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* Introduction “eia
oA (& sl Al gl 3l g gua sall (o Aadiall () 5S -
* Key facts al_¥1 g (silial)
() B Ta Jas (8 iS5 3 paeal Jaay ¢l a1l 8 4 siall sl 4] 55 Le (s -
* Conclusion 4adal)
cj\ dj'ﬂ\j C_I‘}.\ua” O g_u.ul\ ‘53 uLAS.‘m _5\ BJL:”)H UL:"‘ -
* Recommendations <luea sil)
Sliise atl) Gaeail &) 581 ) eadd) 50d Lad 3 sha o QA @llia (S 13) 63LA31 Cang La -

USEFUL LANGUAGE s ) 45 318 cilalS g jgilad
- This reports studies the cso% a8 s (Sl am )l ) sie Lia (iiS)
- The figures shows that () i B8N (DAl 4yl 48

- With reference to the figures in this bar chart,.. Stal) sl 128 8 218 Y1 ) ol
- There was an increase/ decrease in ... olbsasi/sals ) clllia

percentage 4w half i increase 534

just over S S| in general ple JS decrease Jlali

just under Su J8 about , nearly L s amount 4xS

a quarter g second largest ,S) G twice haa

a third &b the highest i) three times “alaal O
rose a&i) less than ¢« J8 the same (&

fewer than ¢ J3 in comparison with— 4 ia whereas iy

Suda daa
- X percent of waste material was recycled / burnt / buried in a landfill site.
I 8 g b L /lghya / Ly s i ) A (e Sl X -
- The main method of getting rid of waste in Greece is ...
........ @ sl (b Slalaa) e palaill Ayl 48y Hhall -
- Of all the countries, Greece buries the most waste in landfill sites.
- Austria burns 10 percent of its waste, whereas Luxembourg burns 50 percent.
Al 50 Bl g seens) Lai clgililia (e 43ally 10 (a5 by il -
- In comparison with Austria, Finland recycles ... half / a quarter / twice / three times as much as/ much

more than / less than ...
O J8 / e ST /e Calaual 526 fiania /o /a9 Bake s 12l o 685 oy jiad ae 455l -
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A Guided Writing 4¢2 sall 4L
*Write a report containing information shown in the bar chart below.

B Landill B Recycledfoomposted I Incineraticn

Thousand tonnes of
hausehold waste

Greece [tahy Finland Luxembourg Austria

This report studies the chart of thousand tones of household wastes in certain countries.

Of all the countries, Greece buries the most waste in landfill sites, whereas Austria buries the least.
The main method of getting rid of waste in Austria is recycling/ or composting waste.

In comparison with Finland, Italy incinerates nearly half less the amount of waste.

The main method of getting rid of waste in Luxembourg is burning waste.

The figures show that Austria is most friendly country to the environment because it recycles or
composts most of its waste where as Greece is less friendly to the environment because it buries its waste
in landfills.

With reference to the figures in this bar chart, Greece should be more friendly to the environment.

llal) da) i)

‘ 13 Ll (8 otio mdiodl Gt o

(s a8 gall D) 5 Ly 5 il gl (BilEn o Cayat s, Alssall JISEY) 5 unill e i aaf alSia dlle (i i Lodic
Caodlia s Yoo i asl @l jela
CelBaa) cladl Lead a5 jala 5 e Lie (5S35 o) oy
A JA Caal gall (g a2 M) e Clala o 5an 5 43S BIA 5 g Hlall 3 s 4 jra (& A pdall ASa) s o bl )
M L] (i () 550 53 pe] CAY) e i o
| U e el ) b ey (f it 2o ol Lot (8 1305y 5] S 3 il 6l ) Jimiy
Ll il pall ¢ saagy 521 (20 siall Gl 5 (585 L Tl 5 bl ¢ shon (3l Y 58 il ol (555 Lo Llle
a5 Y5 0 sleny ) W 385 ¢y sbany Vg 050 0l e 3 e ) ¢ 5L ity
02 (& b gl ol W A 58l ) )Y caalia s a5 Bl 5 ol ildanay 15 a0 o 0050 gLl Aas ) Gl Sy Y
Cetdhaddl
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A Guided Writing 4¢2 sall 4Ls!)
*Write a report containing information shown in the bar chart below.

Percentage of Materials Recycle
City of Norman
City of Norman

s o _ B 2008
6 B 2000
4 -
3 =}
2 —
‘| -
0—
Metals Glass Plastics Paper Other
4a ik Al

This report studies the percentage of materials recycled in the city of Norman in the years 2008 and 2009.
® 2% of all metals were recycled in 2008 and 1% in 2009.
® 4% of glass was recycled in 2008 and 3% in 2009.
® 1% of plastics were recycled in 2008 and 0.5% in 2009.
® 5% of paper was recycled in 2008 and also in 2009.
® 1% of other materials were recycled in 2008 and also in 2009.
The figures show that the percentage of materials which were recycled has decreased in
20009. It’s a bad sign, proving that people are losing their enthusiasm for recycling.
With reference to the figures in this bar chart, environmentalists should use awareness-raising
campaigns in order to highlight the importance of recycling.
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The Earth at risk
ric

(g.a,.\,\hl\ alladl) ‘;'m\ sl
Jhigéu'aﬁﬂ -2 dayl ) Baa gl)

The spread of the desert
) auall i)

Words Meaning

1 | climate Flwl weather conditions in an area over a period of time

el (g 8yl Aalaie (84 sal) gyl
2 | cultivate =¥ =4 ¢, % | to use land for growing crops

3 | dust ke dry powder made of very small pieces of earth
Gl e B s ol Jal (e O 5Se Sl (§ sauna -
4 | erode JSU «al il to destroy slowly shu e
S | graze =2 to put animals in a field so that they can eat the grass
gﬁﬂ\dsu&g;go&gghu‘}gﬂ\eb}_
6 | soil 4 what plants need to grow in
4 gaiil il aaliag e -
survive sab to stay alive sball 28 e 3y
8 | wildfire Jila i~ fire that spreads very quickly | 3> 308 Ao jpun 855 (3 (5 yal)

Desertification, which is the process in which productive land changes into desert, is an
increasingly serious problem in over a hundred countries of the world. One billion people, out of a
total world population of six billion, suffer from its effects.

u)éhesu\‘f:djdﬁw)ﬁ\‘fﬁmﬁ\)ﬁaﬁ)#mg% 6&\#&‘&”()@)Y‘Lﬁ3dﬂg\w‘ ¢ il -
L5l e @ silan ¢0adl A annae AL Allad) G daal (g sl
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Desertification usually occurs in dry areas where there is no rain and where the climate is
harsh. In these places, the top layer of soil is destroyed so that the land can no longer be used for
growing crops or grazing animals. This means that people who depend on the land for food have to
move to 'greener’ areas in order to survive. A proportion of the population may survive by moving, but

others may die because of shortages of food and water.

Ll ALl ¢ SLa) o2 8 Lald () 65 pliall G Lyl 5 jlae 2a 5y Y G Qi) (Bhalial) 8 oaay Wle paall -
e Osaaing M Gl o ey 13 Ul sl e ) 5 dalaall de) ) 3 sl IS Jiis o ()W) @llAL a4 jill
| st o8 Sl (e A 0 (g Blad) 28 e ) iy (K11 juad JSTY (Blalie I JEEY) agale Can st plakall o) (e ()Y

el o133l i sy (58500 ey oAV 81 edis L

Although natural changes in the climate often start the process, the activities of human beings are
often the real cause of desertification. Because there are growing numbers of people to feed, farmers tend
to overcultivate their land, with the result that the soil becomes poor and unproductive. Other farmers
overgraze their land and this permanently kills off grass and other plants. In addition to the effects of
farming, deforestation - the cutting down of trees - also erodes the soil. Trees are usually cut down to
make more agricultural land, but once there are no longer trees and plants on an area of land, there is
nothing to stop the wind and rain from blowing or washing away the top layer of soil. The dust which this
produces can travel long distances and affect the health of people living in cities thousands of kilometres

away.

il Gl (Sl Llle i) el ()l o amaill) dlead) fass Lille Ll (8 dpmpdall <l a4 a2 1

L Al Aty ¢ agia Aol i ) () shaay 050 ) alld cagaladal cung (b1 Gulil) (g 3l i alae ] clllia (¥ 5 il

ALVl (s AV bl e ) Ji) ails JSGs 138 5 pgain )l (3 oo U 05858 (s AT (el e Anie e 55 8 manai 4y il

S aSTae ) )y (al ) alag¥ Leakad 2ty Lile LtV 3 i) JS 1 (g0 Ll - lani) adal -l A1) 5] e il <l i )

Dbl A il el Al da) ) 5 iy et e haall 5 2l )l (a8 5 a0 DU (a YT (e dilaie (8 il g el @llia ()5S Y Ledie
e LI WY da ) aall A pdamy (Al il Aaa e i g AL gha il ) Ja f (g 038 anii )

But this is not the end of the story: desertification can create conditions which produce strong

winds and dangerous wildfires and this leads to even greater pressure on the Earth's most precious resource,

water.

ST (ke b ) 53 Vi 55yl ALk (330 Ll et g gyl (B () (Sma il Al 2l o 3 (51
slall 525 ¢pa ¥ (& anb juae ) o
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Questions:- 4LiuYy!

1- According to the paragraph one. What does the word Desertification mean?¢ jsaill Jizy 13 (il e aldie! -
2- According to the paragraph one. How many people who suffer from Desertification? ¢ ¢ silay (Ll 232 oS-
¢ il

3- According to the paragraph two. Where does Desertification usually take place? saaill Guaay gl

4- According to paragraph two. Why do many people move to another place?

5- What does overcultivation lead to? 4€iSall 4c ) 1 (ga55 13k

6- What does overgrazing lead to? &l el gam b e

7- What does cutting down the trees lead t0? Jlai¥) adad (525 13k e

8- What are the main affects of cutting down the trees? Jla-5Y) adasl dpusi Hll UYL

9- What is the main affect of the dust? _ball dulull BV L

10-What are the two activities done by the farmers that affect the land? e fim 5o 3l lags p sy () UL W -
?u&:)&\

11- According to paragraph three. There are many activities 4kisl (reasonswbl) (causes—b! )of
desertification. Write down three of them.

12 - Quote (write down) the sentence which indicates (shows) that the people behaviours are the main reasons
of spreading desert. ./ aaall HJLEEY oo )l Canall ga alill & glas o) ) 5085 Al dlaal) uiS) -

13- According to the text, the writer thinks that the activities of human being are often the real cause of
desertification. Explain this statement , justifying your answer.

REAEN \))M&B)M\b&)u&Mw}\u@\ﬁb@ﬂd\%\uhﬁfwﬁw&\ ‘uaﬂ\sjs\ﬁuﬁz,

14- Find a word in paragraph three which means " dry powder made of very small pieces of earth

15- Find a word in paragraph three which means " to destroy slowly "

16- Find a word in paragraph two which means " to use land for growing crops"

17- Find a word in paragraph two which means "weather conditions in an area over a period of time "
18- Find a word in paragraph two means "'to put animals in a field so that they can eat the grass"

19 - Find a word in paragraph two which means "what plants need to grow in "

20 - Find a word in paragraph two which means "to stay alive"

21- Find a word in paragraph four which means "fire that spreads very quickly"

22- What do the underlined pronouns refer to? s lgisi Al ylaall 3 g il e

Critical Thinking

1- Desertification may lead to migration. Discuss this statement and in two sentences write down your own
point of view. . 3l 258 of (Say auail

2- The writer considers desertification is a global problem. Is he justified in this? Explain this.

Answers:-

1- the process in which productive land changes into desert. 2- One billion people. 3- in dry areas where there
is no rain and where the climate is harsh.4- in order to survive.5- with the result that the soil becomes poor
and unproductive. 6- and this permanently kills off grass and other plants. 7- 8- the soil. Trees are usually cut
down to make more agricultural land, but once there are no longer trees and plants on an area of land, there is
nothing to stop the wind and rain from blowing or washing away the top layer of soil. 9- The dust which this
produces can travel long distances and affect the health of people living in cities thousands of kilometres
away. 10- farmers tend to overcultivate their land, Other farmers overgraze their land 11-deforestation - the
cutting down of trees, farmers tend to overcultivate their land, Other farmers overgraze their land 12- the
activities of human being are often the real cause of desertification.13- I think this statement is true because
farmers tend to overcultivate their land, with the result that the soil becomes poor and unproductive. Other
farmers overgraze their land and this permanently kills off grass and other plants, so that these activities help
in spreading desert.

14- 21- Lehaia e el 138 5 Aalaiall AaS 5 58 cilalSl) e 408 lic s )

22- which its = Desertification,/ where these =dry areas/ who =people/ others=A proportion of the
population/ their =farmers/
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their =Other farmers/ this= Other farmers overgraze their land/ this= wind/ dust which/ conditions which
Critical Thinking

1- this statement is true because many people who depend on land for food or shelter have to move to greener
areas.

2- Yes when he said that it is an increasingly serious problem in over a hundred countries of the world.

wwwxxkkComplete this text with appropriate words from the list below. 4suliall cilalSlly yail) Jasi (SB
32)

average Jas cloudyale  cold 2Lt crops Jualas  seasondasd

dry<ss  hot Jla lightning,d!  rain ksl

stormy —uale  sunny (s weatherpsib

How is climate different from weather?
foudhal) oo Flall CAlid, (i
e -Weather is what happens to the air and the atmosphere outside. It may be cold or (1)

................ , wet or (2) ................, It can be calm or (3) ................, clear or (4)
................ , The atmosphere changes depending on whether it's rainy or (5) .................

e -Thunderand................. (6)are also part of weather.

e -Climate, on the other hand, is the (7) ................ weather in a particular place over a long period
of time. A place where it doesn't (8) ................ over many years has a dry climate.

e A place with low temperatures for most of the year hasa (9) ................ climate.

e -Here in Jordan we celebrate wet weather because we need the rain. Information about climate is
useful for (10) ................ forecasting. It also helps farmers to know when it is the best time to
plant their {11) ................

S 55 o Saall (el Ly uL.J‘u.;}\ 1l S Ly z Al 3 gall ol el gell Jeany La s Guihall .

Lasadia gl 1 ylale 43 € Gaiball Cren iy sl Ladle ) Ll lale
ol (e s e L Laa godlgae I -

Gl s Bac (s o 4 jhal Y Cua S gl (e ALy ka3 il 5 Aiea Aslaia 3 (pihall Jara o5 Al Aals e ¢ FLI o
Ll Wl (55

S e 0sS Al alaedd Aumidia s e ISl .

ae bt Loay) Lgdl Agead) 5 piill 5 jie #Lall Jga cilasheal) ¢ plaall Aala 8 L6y oo )l sally Jiing 00 ) 8 Lia- .

agualas del 3l Jad¥) gl sa Lo dd jaa b Cue ) 3l
Choose the best word to complete these sentences.
1- A country where the sun always shines has a dry (climate /
weather).

-~

Sl Led 48 e Laily (uadd) Cypa A all -
2- You feel cold when the temperature is (high / low).
................ b‘)‘_)aj\%‘)du)&uma‘)ﬂb Pt
3- When there is no wind, we say the weather is (calm / stormy).
......................... oshall (L Jsii by elllia (555 Y Leie -
4- Farmers listen to the (climate / weather) forecast to decide
when to harvest their crops.

petialas (sdanis e )8 3l I ¢ smainy cpe ) all -

Answers-
1- climate 2- low 3- calm 4- weather
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aestroying
climate
FUal ety Gl gal) alakaf
Words Meaning
1 | consumption gl the eating or drinking of something ¢ & < 4 5 JS)
2 | devastating e very destructive 13> jede
3 | export yy<an send something for sale in another country
dﬁ\ujﬂb\.\ﬂ;@id\u)\

4 | global <l\e affecting the whole world alall S e )
5 |illegal &5 e against the law ¢l aa
6 | tool sl a piece of equipment for doing a particular job

Ao 34 5 oLl il 30 Anled

The rainforest of the Amazon region of Brazil in South America covers five percent of the
world’s land surface and is home to at least 30 percent of the world’s animals and plants. The area is
also the home of 220,000 people from 180 different tribes who live deep in the forest. The rainforest
itself is an important environment but, because of its size and location, it also plays a vital part in
controlling the world’s climate. It does this by taking in carbon dioxide and releasing oxygen.

U s e %30 JBY) (e I ha s (g allall Ay o (50 95 (aad a1l (8 &kl (5 jleY) Ajle dslaia o -
Loy A plaall Al LG Slael (8 (0 giany () AL 120 e Gl (00 220,000 3 Ol e Lia) dakaial) allall il
U 280l Gl o8 Ll allall liag oSl 8 Lol o S onli Ll Lgild cLghsa s Lgana Cannas (S0 5 Hagn Ay i

S Y1 (33Ul 5 (0 53 S S

1- How does the rainforest of Amazon help in protecting the environment and climate?
ALl Al Alea A5 pdaall o Yl Ale aelud cas -

2- How many different people live in the rainforest of Amazon?
oY Ale (8 gl (pdll Gl axe oS

3- How many different groups live in the rainforest of Amazon?
Sty e 8 Gled Il Cile sanall 220 oS -

4- What do the pronouns "who, itself, who, its, it, this" refer to?
5- How much does the rainforest of Amazon cover? oy e aai oS
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Recently, however, large areas of the Amazon rainforest have been cut down to make more land for
farmers. In the last three years, for example, 70,000 square kilometres have been destroyed — this is
the same as six football pitches every minute. Much of this destruction, which leaves the land dry
and dusty, is illegal.

Gl O gl A e ) el ST (ol ) Jerd Lgadad &35 phaall ()5 Y1 Ale (a3 aS GBhlie (Jla &) e o a5
Olaal) 138 akaea 3883 S 428 35S oo Dle & Jia (5 sbosy 138 - L 50035 5 23 3 i s1S 70,000 ¢Jbiall Juaas e 3 53y
(o= e 6y Adla (= )Y & 53
1- According to the text, what is the main reason of cutting down the Amazon rainforest?
oot Ale Qi 6 e 1 ol s el e Tolaie) -

2- Quote the sentence which shows that there a extensive spaces that are cut down?
Leadad s Al cilaline () ) i L Aleal) (i€

3- The writer says "Much of this destruction is illegal". Is he justified in this? Expain.
elly jud lly 5y da e b e g Jleall 134 e SISl
4- Write down the sentence which shows that some of cutting down of rainforest is against the law? i)

5- Find a word in the text which means " against the law"

6- What does the underlined pronoun "this" refer to?

Farmers use most of the new land to grow soya beans, which they export to other parts of the world
to be used as animal food. Millions of chickens in western European countries are fed on South
American soya beans. Increasingly, some soya beans are also being turned into food for human

consumption; many vegetarian foods are based on soya beans.

kS aadinl Allal) e 5 Al ;\ﬁi@jju”;q&m sall Jsd Aol 35200l sa¥ el o se )l Jastion
Jsd (am ) Jie sad o o siall S e L seall J 58 Lgaladal oy 4 jal) 4 ) o3 Olald) 8 zlaall (e DUl guall
Lopeall Jsd o adiad 4Ll daadal) (e 22l ¢g pdull G alada M Ll g o Lyl Ly guall

1- What is the main crop that the framers grow? (e 3l 42 ) 3 A (st )l J omnall 58 Lo
2- What are the uses of soya beans? b swall @¥lexiul & Lo
3- Find a word in the text which means "the eating or drinking of something"

4- Find a word in the text which means " send something for sale in another country"
5- What do the underlined words " which, they' refer to?
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Other areas of the rainforest are cleared by ranchers who use the land for their cattle, by
loggers who sell the valuable tropical hardwood from the trees they cut down, or by oil companies
who are trying to find more oil. These activities help to improve the economy of the region, but at the
expense of the future of the global environment.

Gaob e s cagindlal G )Y (O slanian Al 81 sall £ ) e Slaal Jid (ge Ledl) 3] o5 400 i) UaaY) e (g s AT (3hlia
Al Jglas Al dadtl) Gl p5 5y yha e o Ll gadaly (Al Y el Y] Glaall Qi) ¢ saam ) Gulial)

Agalladl 2l Jitse o e (€1 cdilaial) sl G el cllalill o3 aclug | i Lads
1- According to the paragraph four, write down the three groups that destroy the rainforests?

Aghadd) U adaad Al DA cile sanall ES) Aay 15 e olaie ) -

2- Find a word in the text which means "affecting the whole world"
3- What do the pronouns "who, their, who, they, who"

In addition to destroying ancient forests and changing the world’s climate, deforestation is
having a devastating effect on native populations who are dependent on the rainforest for everything

they need, from food and tools to medicines and shelter.
) Cmlad) Sl e 8 pere JU dcgd cUlall A1 3] lieallall Flia sr s daaill cial) jpeas ) AL -
Lokl 5 3 501 () <l oW1 5 2138 e e salling o Ay shaall Al e () saaing

1- According to the last paragraph, write down two uses of forest by native populations?
Omba¥! Gl Ja e Al pallaatiis) (<) 3 AW 5 adll e lalade -
2- Find a word in the text which means " a piece of equipment for doing a particular job"
3- Find a word in the text which means " very destructive"
4- What does the underlined pronoun " who"?
4- What does the underlined pronoun " who"?
5- What does the underlined pronoun " they"?

244321323
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) sl
A prefix is a word or group of letters which is added to the beginning of a word and changes its
meaning..Wlize i s 4alSl 4y I il i) 5 Gaal) e de sane sl AalS 4 d8a3U) -
Example: misunderstand = to fail to understand something correctly. (mis means wrongly.)
(s IS i mis A3 ) usaa IS o 20 agd (B Jil = agdl) o 1 b -
(mis = wrongly or badlyshla s s JS5)  (re = again 3 3e) (over = a3 §8) (under = )2 )
1- I spilt tea on my homework, so I had to rewrite it.4US sile) Je il ¢ ool Je gLl el
2- During the storm, three houses were destroyed and had to be rebuilt.
Ll sale ) Camy g pedi < g A5 (Adialal) (DA
3- I misheard you. I thought you said we’d meet at 9 o’clock.
Al 8 aaiain L) 8 ol caaie) (B Lo plaw b cidad]
4- The children were very good. None of them misbehaved in any way.
da gl e Gl clad aal Y las cpiala | 5IS JlakaY)

Complete these sentences with the correct form of the verbs in the list.
misheargems ol | reorganisembii 1oy | misusedenivl e, redo dee 2y

al’msorry, I............... you. I thought ©asie) you said you’d prefer tea.

b I did my homework too quickly, so the teacher asked s« <lbme ............... it.
¢ As we have some new employeescxib so, we will have to............... our office.
difyou............... the equipment <=4l it will not work properly.

(Ll Juads @bl i @bl casiie ] dasa aand ol cciia Ul -]
Al y\g\@@k@\dﬁ cl&:ﬂ@;‘y@dﬂ-z
JSa a5 e ol Lile Cang c2aa (dlh g Lal 43Y 3
A IS Jasd ol Lild cclaral) alasiial il 13) -4
Choose the verb with the appropriate prefix to complete these conversations.
TB (page 61)
a A: I thought you said we’d meet at 8.30 p.m.
B: I'said 9.30 p.m. You must have (misread / reread) my email.
b A: I didn’t think I’d spend so much money. I haven’t got enough left.
B: The shop assistant must have (overcharged / undercharged) you.
c A: Why aren’t you eating those potatoes?
B: They’re too hard. We obviously (overcooked / undercooked) them.
d A: Be careful. Those chemicals are very dangerous.
B: They’re only dangerous if you (misuse / reuse) them.
e A: I want to listen to that side of the cassette again.
B: Then you’ll have to (overwind / rewind) it. o
elie Caail) 5 45l 8 sl Ll el obi) e |
Al 5e) 8 cotlaal 38 @bl g 0y | aill 5 Aenlil) Ao lud) Cl8

S e g o) Jlall (e S s 5 e Y -

Ul oda (5 5l sl Y 13La) -
Sl it Uil gl gl (e Al sl

.‘J.AB‘)#:‘.:\SL:\A:\SM A\)Al\b& c‘).AAGJLQS-i
Mgl 285l sl 131 Jah 5 jdad i) -

(A B e oy ) (e AN dgall N st o 20 -
Al Qs ) elile 13 o
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Linking words Lyll slgal

xplanations and result
s g

We use the following words and phrases to introduce explanations:
-1 ) paadil) agalil &) jland) g ilalsl) Jartiosd -

1 in order to + infinitive:
(J TN chS (Baga) (e 31aY) o2 L}j\.ﬁj -
o (et Jad Ll Lgay -
Lebauy 8 o) dleal) Ay 8 Sl
(¥ S) s s (in order not to ) gesai s 31V & (Say -
-Some people move to greener areas in order to survive. <ig: sl pad 3hlia ) gla 5 (Wil jany
sl
-In order to survive, some people move to greener areas (3balie (A sla ) (Wbl any lail) Caag
gl i
- The students studied hard in order to pass the exam.olaie¥! | 3tiaal an | g ja QO
- In order to pass the exam, the students studied hard. 22 1 g 3 4kl Glaia¥) 15 sl
2 because + clause:

(OY) ey B12Y1 020 i -
i Jold (e dla8 dlas Ll Lealy -
Ledans s ol Alaadl dglay 8512V o2 -

- We need to produce more food because there are more people to feed.
pgalala Gl (e S aa gy Y aladall (e 2y 3l i O Lide cang -

- Because there are more people to feed, we need to produce more food.
padhall e 2 3all i o ile Cang cagaladal Gl o SH) aa gy 43 -

- Because the exam had been difficult, all the students failed.

T because .......oeveiiiiiiiiiiinnn.

* The Amazon rainforest has an important effect on the climate of the world .......... it covers
such a large area.

( because, in order to )

* Loggers cut down trees .............. sell the wood.

( because, in order to )

* Loggers cut down trees .............. they want money from selling the wood.

( because, in order to )

3 to + infinitive:
Y h\}d\}u‘;wﬁﬂ\wﬂ]ﬂjc inordertoJéﬂ\JM\je@d@m&‘;ﬁ}(ésJ)@w‘;'in_
Aabla Lago adlaY! clS 1)
- Trees are cut down to make more agricultural land. . S del ) ol slag¥ Had) adad 2
LS 31aY) e Yy (t0) 311 Jleaindl (Say -
- To pass the exam, you must study hard.
- You must study hard to pass the exam.
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D

**We use the following words and phrases to link actions with results (causes and effects):
(5 Sy ) bl Clan Y Jag 53 A ol Jlaall 5 RS Janios -
1 so that + clause: ‘
(AL\.\A cuﬂlﬂ)&ug'&)\.:\ﬂ\ AT ‘é_'a'\:\_
Aaall oy Adasd S5~
iy Jold (e dlad dlas Leasy -
- The soil is destroyed so that the land cannot be used for growing crops.
Jaalaadl de ) 3 Ldaiul Sy Y Gia, Y G e 38 3 1) -
- I studied many courses in English language so that I can get a fine job immediately.
2 be the cause of:
(k__\gu)‘s.'\ug'é)l._:ﬂ\o;\h ‘;SU_
Alaall lasg 8 dasd Sl
x50 Apens) Alan 4k Lty -
- The activities of human beings are often the real cause of desertification.
il il sl Wle A sl el o -
- burying paper in landfill sites is the cause of air pollution.
3 with the result that + clause: ‘
(&ﬂl'ﬂ dagh odua (SN ) 2 BlaY) oda gs—.’.u -
ALald; 38 yuuee Aleal) oy 8 Jah 35 -
iy Jold (e dlad dlas Leay -
- Farmers tend to overcultivate their land, with the result that the soil becomes unproductive.
Aaiie e Caal 4 il Al Aagis cagaia ) Aol ) RESS e )50 905 (5 )l Sl -
- Abdullah studied hard, with the result that he got 92,1 in Tawjihi Exams.
4 to lead to:
(e ¢ e« ‘;‘\gga}g)‘s&@‘éh\i\ YN 5 -
Alaall lasg 8 dasd Sl
- Wildfires can lead to greater pressure on the Earth's most precious resource: water.
el sa Y su'a‘)\}!\‘;‘)wd}ﬁ\éc )ﬁdké\ééﬁu\u&.}b_ﬁ\.\ﬁ\@\ﬂ\_
****Complete these sentences using one of the words or phrases from the list. More than
one answer may be possible. (WB page 25)
Because, in order to, so that, to, with the result that
1- The Amazon rainforest has an important effect on the climate of the world............ it covers
such a large area.
2- Large areas of forest have been cut down, ............ the soil is now dry and dusty.
3- The rainforest has been cut down ............ make more farmland.
4- Farmers need more land............ they can grow more soya beans.
5- Loggers cut down trees............ sell the wood.
Answers — 1- because 2- with the result that 3- in order to 4- so that 5- in order to

(a2 haai) -:uS2llgin order to (Y so that S can V (w Jagadll
deall e g 5l 138 o 2o ] 8 il
*1* - So that S can v-/ *2*- So that S can't v *3* inordertov / *4* in order not to v
- in order to v-/ - in order not to v- -sothat Scanv / - sothatScan'tv
1- Samer studies hard so that he can get good marks in English Exam.
Samer studies hard in order ............oooiiiii i
2- He studies hard so that he can't fail in English Exam.
He studies hard inorder ............coooiiiiiiiiii e,
3-Samer studies in order to get good marks in English Exam..
Samer studies hard so that he...............cooiiiii
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4- He studies in order not to fail in English Exam.
He studied hard so thathe ........ ...
5- We should stop burning oil and gas so that we couldn’t cause more global warming.
We should stop burning oil and gas in order..............coooiiiiiiiiiii e
Inorder ..........oooiiiiiiiin. , we should stop burning oil and gas.
6- Many people recycle the rubbish in order not to use up the resources.
Many people recycle the rubbish so that they ............................
7- Many people left their homes in order to escape from floods.
Many people left their home so thatthey ............................
Answers:-
1- to get good marks in English Exam/ 2- not to fail in English Exam.
3- he can get good marks in English Exam/ 4- he can't fail in English Exam
5- not to cause more global warming 6- cant use up the resources. 7- can escape from floods.

(32%a (pa JLER) ) aal) haall)

1- to , in order to, in order not to V

2- , with the result that S +V/ s can

3- So that S can/could +V

4- because S+V

5- cause of, because of, lead to, led to N 3 =8 (552 dran dlas 405

1-Some people move to greener areas .............. survive. (with the result that, cause of, in order to )
2 survive, some people move to greener areas . ( Because, Cause of, In order to )

3 - The students studied hard .............. they could pass the exam. ( leading to, so that, in order to )
4- We need to produce more food .............. there are more people to feed. ( because, cause of, so that )
S there are more people to feed, we need to produce more food. ( Because of, Cause of,
Because)

6 - Trees are cut down .............. make more agricultural land. ( leading to, so that, to )

7 - The soil is destroyed .............. the land cannot be used for growing crops. (because, so that, in
order to)

8 - I studied many courses in English language .............. I can get a fine job immediately. (so that, to,
lead to)

9 - The activities of human beings are often the real .............. desertification. ( because, cause of, in
order to)

10 - burying paper in landfill sites is the .............. air pollution. ( because, cause of, in order to)

11 - Farmers tend to plant lands, ......... the soil becomes unproductive.(with the result that, cause of, in
order to)

12 - Wildfires can.............. greater pressure on the Earth's water. (so that, in order to, lead to)

13- Amazon rainforest has an effect on the climate of the world............ it covers such a large area.

( because, cause of, in order to)

14- Large areas of forest have been cut down, ............ the soil is now dry and dusty.

(in order to, with the result that, cause of)

15- The rainforest has been cut down ............ make more farmland. (in order to, with the result that,
cause of)

16- Farmers need more land............ they can grow more soya beans.

( because, so that, because of)

17- Loggers cut down trees............ sell the wood. (with the result that, cause of, in order to)

18- In the future, sea levels will rise ................. the polar ice is melting. (led to, because, cause of)
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19- People are cutting down forests ................. have more land for growing food. (led to, in order to,
because )

20- Many people recyclec s s their rubbishagfilas. . ... use up the world’s resources. |58 3w
?ﬂ.z]\ JJLAA

(in order not to, in order to, lead to )

21- Scientists are trying to produce new fuels ................. people can continue to use their cars .
(because, so that, in order to)

22- Some people are moving out of their homes on the coast ................. escape future floods. o< ) s e
Glibcadl)

(in order not to, in order to, lead to )

23- We should stop burning coal and oil ........... cause more global warming.cs_oadl Sl e 3 jall s
(in order not to, in order to, lead to )

24- Scientists are worried about climate change................. it is a threat to life on Earth.

(led to, because, cause of)

25 - burying paper in landfill sites is the .............. air pollution which damages the environment.

( because, cause of, in order to)
1- in order to2- In order to3 - so that4- because 5 - Because6 - to 7 - so that8 - so that9 - cause of10 - cause of11 - with the result
that12 - lead to 13- because14- with the result that 15- in order to 16- so thatl7- in order to18- because19- in order to
20- in order not to21- so that22- in order to )23-in order not to24- because25 - cause of

paal) aadll qaa oy 5l

1- to,inorderto,inordernottoV  (__ use/ _survive/ escape/ make/ cause/__have

2- , with the result that S +V/ S can

3- So that S can/could +V

4- because S+V (__theyuse/__ I don’t/__the exam is/__there are/ you get/ he is/ | want

5- cause of, because of, lead to, led to N Mz s Leans/ haa 4 ( desertification/  greater pressure.

1- We need to produce more food. There are more people to feed. (because)
pealala (sl Ol e Sl s g | aladall (e Sl i Gl Ldde g

2- There are more people to feed. We need to produce more food. (because)
pladall e all m35 ) lile Gy agalala Gl e SN s g

3--Some people move to greener areas. Survive. (in order to).)sa . &) pad hlia sl ;) ) (yany

4- Survive. Some people move to greener areas. ( in order to).s) =i (3lalic M ) gla 5 (il aany ) gaiy

5- The soil is destroyed. The land cannot be used for growing crops. (so that)

6- The activities of human beings are . Desertification. ( the real cause of)

7- Farmers tend to overcultivate their land. The soil becomes unproductive. (with the result that)

8- The Amazon rainforest has an important effect on the climate. It covers such a large area. (because)

9- Large areas of forest have been cut down. The soil is now dry and dusty. (with the result that)

10- The rainforest has been cut down . Make more farmland. (to)
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11- They can grow more Soya beans. Farmers need more land. ( so that)

12- In the future, sea levels will risex_» s>l s sis, The polar ice is melting. (because)— s shdll ulall oY

13- Scientists are worriedo 88 about climate change. It is a threat to life on Earth. (because)u=a,™M wags 43

Answers:-
1- We need to produce more food because there are more people to feed. /2- Because there are more people
to feed, we need to produce more food./ 3--Some people move to greener areas in order to survive. /
4-In order to survive, some people move to greener areas . / 5- The soil is destroyed so that the land cannot
be used for growing crops. /6- The activities of human beings are the real cause of desertification./
7- Farmers tend to overcultivate their land, with the result that the soil becomes unproductive.
8- The Amazon rainforest has an important effect on the climate because it covers such a large area./
9- Large areas of forest have been cut down, with the result that the soil is now dry and dusty./
10- The rainforest has been cut down to make more farmland./ 11- Farmers need more land so that they
can grow more Soya beans./ 12- In the future, sea levels will rise because the polar ice is melting. /
13- Scientists are worried about climate change because it is a threat to life on Earth.

2014 (5 55 ;A8 e & gia ALiaid

B. Combine each pair of sentences below into one meaningful sentence, using the
given words and phrases between brackets. Write the answers down in vour
ANSWER BOOKLET. (6 points)
1. You get the opportunity to meet students from other courses of study. Joining

a university club is a good idea. ( because)
2. You can identify your bags. Make sure your bags are marked. ( so that)

2014 Aua - Ailu <) gia Adind

H. Comhine cach pair of sentences beloyw

Suita bie amed
ANSWER BOOKLET.

inte one mewningful
by

senfeng
W, und write ::I-I:;-:“:gjir:g'u%f
(6 points)
People can improve their life style. Many changes have taken-place lately
II in order 00t to,  with the result tha ] }
—
2, The manuscripl was i '
|| | hﬁﬂi}illul:":;::;i: publishier rejected the author's latest work,

|
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Describing Photographs
Lyall cag

SB 34/ WB 26

m Describing Photographs _s<all dia g :&iaadl)

lllrodll(:li(.m: NOIE TaKING ISR IR R

USEFUL LANGUAGE 8 jylad g cilals
- You can see ... 2L o) il
LA el and Jlaninnls 8y guall 3 b sal) w3y i 5
Position words @& sal) cial cilals
On the left / on the right of the photo, there is /are .. <lla /5 ) sall ey / s
/ In the middle ... b5 &/ At the top e /at the bottom ...dawl 3
It seems that ...438 5 ) 935/ It’s clear that ... 43 gl 5l (e
Both photographs / pictures show ... ol ek ol sall 31
The photographs / pictures illustrate different aspects of ... (e 4dlida 3l a5 ) sall
The problems are caused by / are the result of ... O 43l A1)
L.?Jt_“ms Caa Sall 2aaT o) aay
there is /are....... clilia
you can see........ s O il
the sky is ...... elanill
general adjectives dals cilia
small, long, short green, blue, wooden (255

Weather words o«dhl) cilals
ClOley (-\:\Lf‘—, clear L-i\.a.a, rainy )-H-A , stormy aale , calm 2 , warm Z;\;’ sunny adia
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Describing photographs Ll Cias
WB (26)

1-b

G -

Match descriptions 1 and 2 with the correct
photos A—C. 404l sall Con

I- In the middle of this photograph, there is a
small tree. In the background on the right, there is
a row of much taller trees. On the left are some
other trees, with a wooden fence in front of them.
The sky is cloudy. It looks like it might rain.
@@M\@,swsﬂéﬂm‘b}d\ou@}@_
Glia Sl e 5 5 Jshl il (e e lllia (e
Aile eland) Lgalal i gl ge s AY) eV (any
i 35 i) a5

2- In the foreground of this photograph you can see a tall tree
surrounded by short grass. Obviously, it is summer because there are
leaves on the tree and it is a warm sunny day. There are several other
smaller trees in the picture. The tree could be in a residential area,
because there are buildings behind the tree.
(9 .MM&\A‘U&}LEMLEJ:‘O‘@ME)}A‘ oda Q\_AJSALH—Q,
,;-‘;\Au»mi'meﬁ‘\jb'é‘)#d\‘;\s B (e HuaSl elllia oY Canall ) cc.'a\_,ﬂ\
Aahaie 85 yadill o) Isamg 3 gall 8 (5 AV 5 pmall a3V (e el lllia
) Boail) Cald bl e SN olla (Y S

3- In the middle of this photograph there is a tall tree. In the

background you can see several trees. The sky is clear and it is a

sunny day.

Shute el i o) GLSal Gl 5 Al gha s yad a5 geall Jany 323
Losadia a5y 5 dilia olaudl
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Write a description of this photograph using position words, adjectives and weather words. Write
60—75 words.
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Describe these photographs _s<l) iay
SB (34)

1- On the right of the photograph, you can see a gas industrial factory, it is clear that the factory
is polluting the sea and the air.
el s el Gl winadl () il o ey Sl ) A0 aiias (5 5 O iS5 ) gaall Gaan (S -1
2- In this photograph, you can see some animals grazing, this photographs shows that there is
desertification in this area, it is clear that some trees are cut down. The sky is clear and it is a
sunny day.
g cdahaial) b&&)}.&éﬂdﬂ.& O 285 3 ) guall 03 w’b\}#\‘;c_)whau&uﬁu\&&b cSJ}.A\b.'JAL;-z
(osasia o sall s Adlin cland) dlgadad 23 Jlal¥) axy o zaal Sl
3- In this photograph, you can see floods. In the middle of the photograph, you can see two cars
are covered with water. In the background of the photograph you can see that the house is almost
covered with water.
b5 el (e (4 o (55 0 SHSAL 66y gl Ty b il (5 58 () ALy 05 ) gl 038 oy -3
) L oLy ke 3l o 55 ) SBSAL 5 ) seal) il
4- In this photograph, you can see some trees that are cut down. In the middle of the photograph,
you can see a wood factory. Cutting down the trees causes desertification.
O dall biias (5 55 o)) SlilSaly 3 ) gaaall Jans g (8 Lgaphali o5 1 eV (iany (5 5 o)) GlilSaly 3 ) uall 028 34
il Gy Y alad
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SB (35)
You are going to write a reply to an email on water shortage, suggesting ways of consuming
less water.

[ Read

@ Read this email from a leading scientist on water shortage. Then, look at the incomplete
spider gram and complete it with your own ideas.
Aalal) & ISal aleS) g Jaia il ane )l I lail &5 olaall (i e 8 550 alle (e (x5 IVl |
CNS NS a, (@]
Dear...
One of the most important issues in the twenty-first century is a scarcity of fresh water. A lack of
water presents major hurdles to human development. Aside from fulfilling our need to drink,
fresh water also plays a central role in agricultural production.
Aaiill s I sl Jie o) (i o) Aodad) olsall 3503 g8 pliall g galadl Al 8 LLadl) e.%i (e Baal g
o= Z YD (8 L ) |50 i Ll A3l slaall (8 e Hll Liiala 4005 (e a4y )
Water preservation is a major global challenge. Greater development and a perpetually
increasing population has led to unprecedented demands on all of our resources, which has in
turn led to an increased water shortage.
e Gomall e Qllall ) gal 28 adla JO Gl dae 30l ) g 5 Sl Al | ool ) (alle (g2 g8 bl e Llia)
'a\:mj\ ‘A.:- .J:g\)ld\ uas.ﬂ\ &;\ Lgd\ o) g Lﬁ'ﬂ\} ‘UJJLAA dS
This has prompted Jordan to support new water conservation programmes, which
improve the efficiency of irrigation systems in rural areas. This includes empowering local
cooperatives in the implementation of their knowledge to help improve lives through the
conservation of water.
S Jadiy 138 il (shaliall (sl dalail 30US Gy (5301 5 colyall Jaind a0 el aed e 2 ¥) 138 Gas s
ohall o Blaall A (e agils G A agih yre 2458 A dlaall Gl
Ultimately, we need to curtail the unwarranted consumption of water if we are to prevail
over the challenges facing Jordan today. Do you have any suggestions about how average
Jordanians can contribute to cutting back on water? Please let me know your ideas.
da asll Y asl 5 A sl el o Bal 13 ) e e olaal) eSlgial (ge aalldalay caig ¢ diledl) 8
AISE Gl e s dlliad (e Sobuall Jlanind (el 8 ¢ 5250 ,Y) agen ) RS Jsa al il ol el
Many thanks 2t s 1S5
Dr Abdulhameed (s e 5o

olall JB) MUY B jh 7 il g colal) gali Jga Jaad¥ 3 Alla ) QS -
A reply 1 Ay

{eamples of good usage)
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Qz Using your spidergram, write a repl‘y to t‘he above emai.l, suggesting ways 'in which
Jordanians can consume less water in their day-to-day lives. Make the email around
100-120 words and include two or three suggestions.

J3 olsa Iga Lellaninly ¢y s y¥) adiiany U pla o= 53815 ¢ (alad) Jaai¥) e 3 Ay iiS) e (aladl Jaladiall Jeins) -

a0 ) A 5 pal S8 dbaca s 4alS 120-100 Ssn b Al ) e sl agila A
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i ke Al

Dear Dr Abdulhameed

planet, so we should use our water wisely and avoid the unwarranted water consumption.

soon as possible. And I think it is also important to educate people how to use water wisely.
Yours sincerely

T Sh G o Al QUS (e 130 U )

Laila a3l iy (e Cimall Lad) g Ladla o padl s (e s 58 -

pgand il Aalay | guad alaall Jla 5 aall sl 5 (5 g Canaal QBN
lebae ] Cng syl ey e -

palaills Lail 5 coadl 23l e dias ¥ o

daid L) 2 5a sl amy &l Gia ) W1 (e Jaall 21 13-

alaxi Lo 2y 35 O A i il Laily Jard () 8 Balaal) ol

Ja ol & Aluad s 3yl 3 Jles sl

Aol ) CauSil Lglony (o Y lillaaly s Jlmy (o lipa

A A LK e oy yi Adlaal)

Cogoa o e AalS Al

ga sall 25 Y s 2 ghiall b SE Y

e JSgle la s Laall (e 238 (e

G IS ()5 Sl dplall dall)

Dol a5 oadl Ala ) )

dal lisale g pd iedaall el

I've read your email about water shortage in our country, Jordan. In fact, water shortage is a very
important and global issue and all of us know that water is the most precious and vital resource on our

Actually, there are many reasons for water shortages such as the unwarranted great consumption of water
by households, wasteful plant irrigation and breaking water pipes. So, we can decrease the daily amount of
consumed water by following some ways. For example, we can take short showers instead of long ones,
wash dishes by hand not by a dish-washer, water plants when necessary and wash our cars by a bucket .
Also, when we see a broken or damaged water pipe we should call water authority to come and fix it as

paallae ) giSall 5 55

J.ha.nl\).é sl u\ejubﬁjwb}wamﬁ)& a\_mnua_h cM...\S;“G_S UJJY\ bﬂsjahd‘uﬂd);gﬂﬂu)u\)é
oo ) el gl it e Ulin Jasi (o) can 13 ¢ S 58 3 ¥ 5 (omilas¥)

o) e 5 G gl L (5 el 8 olpall ) yua yad) Sl gAY i syl il ilansl e i gl M1 b
O3S () O Yy by yos L 34 G et Sle 300N (3 dally olsall (e ASlgiunall Ae sall A0S (o ) Sy AN oLl
olie 5l a3l Lanie ¢yl s slag 8 bl st 98 )5 pudall die il B ¢ saall Alluny Gud s 2L () saall Jut Y shae
Ay elaall ool s ol (R Cany 43 i)y Ao a0 galiay o |5l byl dakus 301 Can o

llal) da) sl
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A world of plants

(A Caildal) - BUELY & 53 o BUERY Sa - B dday) ) IS e ¢ 0772111116 -dsalBall 3dga Jo-dlae) -

- =

A world of plants

A whole planet under glass
Tlasl il s oSl Jals

exhibit u=_2«

show (=2« |, display u=_=

DN | —

exotic «u &

unusual gale 2, foreign <2

The Eden Project, which opened in the year 2000, is a living plant museum in the countryside

in the south-west of England. It is a very popular attraction and millions of visitors come every year

to see plants from all over the world growing in this special environment.

A LA e i b i) Bl e ) Ll Cani s 2000 ol o 8l 53 (o g g ke
b st allall eladl aan (e 83 pale il A5 50 ale JS 10 Gadhe (Al s laa Qs 5 sedie (186

ualall dag) o2a

1- When was The Eden Project launched? cie g 5 e 3l e

2- Where is The Eden Project located ( situated) ? e & 5w ady il

3- What is the reason that makes The Eden Project popular? 1) sedia 03e & 5 e a3l

4- Why do many visitors come to The Eden Project every year?

i JS 3o g 5 e I i) i 13l

5- What does the underlined word "which" refers to?
6- What does the underlined pronoun "it" refers to?

7- What is special about the Eden Project? (2c & 5 e 8 Jaaall ¢ 28 Lo
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A world of plants ﬁ

Some plants grow outside, but many are in specially-built domes, called ‘biomes’, where the
temperature and humidity are carefully controlled. The biomes are like giant greenhouses and one,
the Humid Tropics biome, is the largest greenhouse in the world. It is over 55m high and 200m long
and contains many thousands of exetic plants not found in England.

Grallelal) Bhlia " je s (et hapad dpine il (A )55 Leie ) oSl (z LAl g ) 55 il Gany

60 51 ALl clalaal s 2830l Fnla ) gl 4055 L) Bhlia A Lo Jlana dyghall 55 ) yall a2

e ¥ 32 e (553855 2200 Ledshas 55 cre ST Leelii ) allall 6 adm) als 3l el 5t ciida )

I 8 aa Y Ay sal) el
1- According to the second paragraph, mention two benefits of the biomes?
¢ e gnll riaild K3 Al 3 8l e faldie) -
2- What is the largest greenhouse in the world? ol (8 als ) Cun il L
3- Mention the features of the Humid Tropics biome? &k )l 43 sin¥) 48l ailad S0
4- What does the underlined word "where' refer to?
5- What does the underlined pronoun " it" refer to?

6- Find a word in the text which means "unusual, foreign "
7- What does the underlined word "exotic" mean?

One of the purposes of the project is to show how dependent human beings are on plants and to
educate people on the importance of preserving our natural environment. Aside from the plant life,

the Eden Project has fascinating interactive exhibits for people of all ages. Many of the visitors are

groups of school children and the Eden Project combines educational value with scientific interest

and a huge variety of spectacular plant life.
Lty o ddadlaall dseal J ga Gulal) Canginl il Ao il slaie G2 el a5 pdiall 12a alaal (e sl
G 2l Jlee Y1 aan (e el Al Al i (m jlae 48 (e g 5 ey ¢ Ailil) lall e lail) Gy 5 Apailall
(0 pdain g sy oalall alaia W) e 4 oo 5l il (g el ae £ 5 a5 Qalal) 203 (e Cile sana (A )50
Al 1 ALl 3Ll
1- Write down the main purposes of the Eden Project? (e & syl daui i Calaall <3
2- Who visits the Eden Project? Why?)3l s (ac & 5 38 (555 () (e

3- What educational uses could the Eden Project serve? & s il (il ¥ gac & 5 pie addy ol (Say CaS

4- Find a word in the text which means " shows, displays"
5- What does the underlined word "exhibits" mean?

96 iy e LY Alk** e U gl




A world of p'lam S
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nts protect themselves from their
Lgitae ) (o Lgoud Cililadl) and S

1 | seeds ™ a small, hard part of a plant from which a new plant can grow

G A A gai GSab s A0 e B a6 s -
2 | thorn iS4 a sharp pointed part that grows on a plant, e.g. a rose

J}J}‘gm.w‘&ﬂgﬂ\ﬁhdhgk_
3 | trunk ssd g s the main part or large stem of a tree sl (85 Sl BLudl 5l st )l & 3l

It may seem very strange, but plants are always in danger from animals which want to
feed on them. If this happens, the plant can be damaged or even killed. So, because their roots,
trunks, leaves, flowers, fruits and seeds are under constant attack from mammals, insects or birds,
plants have developed ways of protecting themselves from these enemies. Here are some of the ways

plants stop animals from attacking and eating them.
S bl el Jeas Jla b Nele 335 O 255 il Gl gall e lad 8 Lails il (1 el e eY) san 38
8 e e o sagd Gy S W )02 g La pla b 58 5 ¢ Lgdl ) clgilinn da ) saa OF M) gl ol (3L )
Lﬁ:‘k"‘”‘}’gr.m é#‘uﬁ.’uﬂ_ﬂbc‘.&cy‘ &Y 5 uﬂwz\ﬂw\é}&)}kﬁi\uub cJﬁH\jQ\‘)ﬂd\ eyl
LS 5 Lgtiaalga (pa il soal) aiad il
Sharp thorns and stings 83 Slad g &l g

Some plants which grow in dry climates, for example cactuses, store large quantities of water in
their stems. To protect themselves, they have sharp thorns. Animals will hurt themselves if they try
to get to the water from these plants. Other plants, like stinging nettles, can ‘inject’ painful or

irritating substances into their enemies by means of the sharp hairs on their leaves.

g Aglaad 5 Leilias A elall (o 3 S il (5330 ¢ luall JEall diss Jeo calall Ll (8 g Al i) (aey
Gl i s _ya) il bl 638 (e el e J seanl il gla 1) L i <l gualld ala &l 58 L o
bl s) 3 aala il et Aand g Lgdlae) 8 dae Ja s alga 1ol ga MEat (o) 1 4S5
Poison )
There are many plants which protect themselves by poisoning their enemies. In some cases the

poison they contain is so powerful that it can kill any living thing which touches or eats them. The
poison can be in the leaves, the seeds or berries, or in other parts of the plant.

a5 Gy lan Lol (50 alend Sl adl (3 VAN Giany 3 Lgdlac ) apancis Leasdi a3 Sl Ll (he apoall il -
Al e 5 A 1 a) b o) 51 sl b el sY (8 05 O (S el LKl ) Lpsaly (5301 a5l
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Insects < pdal)
Some acacia trees in hot African countries are protected by ants which live permanently on their

branches. If an animal starts to eat the tree’s leaves, the ants attack it.

I dla 8 Lgisad o 2l JS8 Gl o3l Jail) 08 (e dpane (55853 jlall Ly j8) 50 A LY Lol (cany
Aaale Sl ol "&);.;ﬂ\ O\J}‘ Jsu O s
Sticky gum gz fesll

Some plants, such as horse chestnut trees, are covered with a sticky substance, like wet paint, which
can prevent insects from eating them. Sometimes this substance is so strong that insects’ feet or

wings get stuck and they cannot escape.
e ) il aie 43Sl A 5 el oDl Jie e 3 5alay Bl () 5S3 (andl o LS Hladl e cclilil) (any
el kit W 5 (sl Lgtinia) o ol pall ol Cumy ) 58 () 55 30Lall 038 Uil LS

Questions 4Ly

1- According to the first text. What are the ways that the plants develop to protect themselves?
Pleasds dllan] Ll Ly sha il G5l e caill e lalaie -

2- There are many enemies that mentioned in the text. Write down three of them?
Tleia &G SH ¢ aill b < jSh ehae) dae Glllia

3- Why are plants always in danger? i 8 bl Lails 13l
4- What are planted threatened by? <l 3¢5 (e

5- What do plants develop to protect themselves from animals?

Sl gaadl (o Lt  cantl LA & ) gda 130 -

6- How do the sharp thorns protect cactuses from animals?
il gall o Jlaaall il saa & 531 i (A -

7- How do stings protect nettles from animals? s)he¥) (e pal 8l il (Ae3) &l 2 &ll) end CaS
8- How does poison protect plants from their enemies? Ll (o CULEN all ony oS

9- How do acacia trees protect themselves from animals? ¢lae¥) (e Leudi LulSY) jlad) ead oS
10- How do chestnut tress protect themselves from animals?<U) sall (e Lgadi s LS Hladl st CaS

11- Which part of a nettle can hurt enemies ? ¢lae¥) 7 2 Jleall a6 32 sl
12- Where can the poison be found in plants? <ULl & andl 2 g0 cpl
13- Which plants protect themselves by insects? <l _piall ddau) 5 Lgudi e L) (e (g

14- Which plant is protected by a sticky gum? gz U gawall daul 5 Lgusii e UL (e ]
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1- According to the first text. What are the ways that the plants develop to protect themselves?
2- There are many enemies that mentioned in the text. Write down three of them?
3- How do the sharp thorns protect cactuses from animals? ¢ Jluall Sl saladl @l $2Y) et oS -
el gasl)
4- How do stings protect nettles from animals? sle¥) (e pal jall il (A2 23 &l jnill) ead o
5- How does poison protect plants from their enemies? e (o LN adl  any oS
6- How do acacia trees protect themselves from animals? ¢lae¥) (e Leudi LulSY) jlad) st casS
7- Where can the poison be found in plants? <ULall & audl aa 5 30
9- Find a word in the text which means "small part of a plant from which a new plant can grow"
10- Find a word in the text which means " a sharp pointed part that grows on a plant, e.g. a rose"
11- Find a word in the text which means " the main part or large stem of a tree"
12- What do the underlined pronouns refer to? Critical Thinking
What do you think will happen if plants don't have any ways to protect themselves?
L il 43 Hla (o Lol 05l clilall 1) Canas (630 La eyl o -
Answers:- 1- Sharp thorns and stings, Poison, Sticky gum 2- mammals, insects or birds 3- will hurt
themselves if they try to get to the water from these plants.4- can ‘inject’ painful or irritating
substances into their enemies by means of the sharp hairs on their leaves. 5- the poison they contain
is so powerful that it can kill any living thing which touches or eats them. 6- are protected by ants
which live permanently on their branches. If an animal starts to eat the tree’s leaves, the ants attack
it. 7- The poison can be in the leaves, the seeds or berries, or in other parts of the plant. 9-11= =),
Gl Jsaa 12- animals which /them= plants= their , themselves ,them./Some plants= which , their
, themselves, they / Animals =themselves , they / stinging nettles,= their , their./ plants=which ,
their , they /poison= it / any living thing =which / plants=them./ ants =which / animal = it. /sticky
substance=which / horse chestnut trees= them. /insects=they / Critical Thinking
I think that animals such as mammals, insects or birds will kill and damage plants so that we can't
have enough food and this will damage our environment which leads to desertification.

Complete these sentences with the correct prepositions from the list. You will need to use

some prepositions more than once.Jall 2 i a) Siw daulial) CiaYL Jeal) Jas)

for from in of on with|

1- Human beings are dependent .............. plants. Gl o L 2 chal -
. . : L 1- full of = e
2- While she was at the Project one girl became ......... in biology.
: . 2- aware of 4%
(interested, full, satisfied) .
, 3- dependent on e ixa
3- I’ve never been keen.............. museums. 4k e
4- The Eden Project is quite different.............. a normal museum. 5_ be?lr‘z on Gj:)::
5- On wet days the biomes are full .............. visitors sheltering from the T Oult on = eme
. 6- satisfied with - i
ran 7- different from o= i
6- Visiting the Eden Project makes you aware.............. the importance of .
plants 8- famous for - _ s¢ie
’ .. ) ) . 9- interested in = aigw
7- The Eden Proj ect‘ is particularly famous RRITERPRREES its huge biomes. > ia) g & e Jlad) -
8- we were very satisfied.............. our visit. 10 toct f
9- Cactuses depend ............. their thorns to protect them. 1 1' protec ] ;om
10- The acacia tree is famous.............. being protected by ants. - prevent from
) o . 12- suffer from
11- This makes it different ............. most ordinary plants.
) . 13- adapt to
12- I’ve always been interested............. plants and trees, 14- buil
13- but ’'m not keen.............. insects. - built on
14- My Encyclopedia of Nature is ........... of interesting facts about plants.
(keen, famous, full)
15- Apples and bananas are dependent for their survival .............. greenhouse gases.
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**We use modal verbs must, can't and might to explain possible truths.
Aldisall Gal) e Huedll (must, cant, might) 1 gall Jladl Jeatios -
**%% (1) We use must + infinitive or must have + past participle to talk about things which
we are almost sure are true:
Anania Ll Sl o <5 Al 5 L) e Gaaill (must have V3 s must+V-) Jestiud -
1- He must earn quite a lot of money to be able to afford that car.
okl Gl ) 55 e )8 a5 oS Jlall e S lley il g 0y Y -
2- They must have come from somewhere hot like Africa.
L8 Jie Jla (S e | 5l agdl 5 20 -
*%%% (2) We use can't + infinitive or can't have + past participle to talk about things which
we are almost sure are not true:
Aonaa Cul Ll Ll cpaslia 56 il 5 £ LY e il (cant have v3 s cant V-) Jexdias -
1- It can't be easy designing and building bridges - they 're complicated structures.
.EJER.A@)L:AALG_.I‘ - sl ;U,\}ar_\aaa‘jj.g_uu»_._dd\jl_
2- They can't have finished their lunch already - they only started eating five minutes ago.
(B8 el U8 JSYL ) 5y agi) —agalas | sLaSl 38 agi) Jossall (4a -
**%% (3) We use might + infinitive or might have + past participle when we are unsure
whether something is true or not:
Yol gmas 5a¥1 S 13 Lo (Sl e ()5S Letie ('might have V3 s might+ V) Jasius -
1- She might be French - she has a strange accent. 4w e gl Ll O - 8 L) Ly
2- He's not usually this late — he might have got stuck in heavy traffic.
sl Alaa 3V A sle 38 4 Sadl) e - Al Y Ll sl -
(35 (o JLER o antB Jaal) —p aall B il g ) Aadlas
Must = talk about things which we are almost sure X are/is true:
Can't = talk about things which we are almost sure X are/is not true:
Might = unsure whether X is true or not:
1- He must earn quite a lot of money to be able to afford that car. The speakeris..................
( almost sure he earns a lot of money, sure he doesn’t earn a lot of money, unsure whether he earns or
doesn’t earn)
2- They must have come from somewhere hot like Africa. The speakeris ..................
( sure they came from Africa, sure he didn’t came from Africa, unsure whether he came or didn’t come
from Africa)
3- It can't be easy designing and building bridges - they 're complicated structures. The speaker is
( not sure it is easy, sure it isn’t easy, sure it is easy)
4- They can't have finished their lunch already - they started eating five minutes ago. The speaker is
(sure they didn’t finish, not sure they finished, sure they finished)
5- She might be French - she has a strange accent. The speakeris ..................
(sure whether she is French, sure she isn’t French, unsure she is French or not)
6. In the sentence, "Tareq must be very interested in education." The speaker is.............
(sure that Tareq is very interested in education, not sure that Tareq is very interested in education,
unsure whether Tareq is very interested in education or not)
Answers:- 1- almost sure he earns a lot of money 2- sure they came from Africa 3- sure it isn’t easy
4- sure they didn’t finish 5- unsure she is French or not 6- sure that Tareq is very interested in education
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Sl e pladal) b ela g o Gl 13 e o gail)
—thpulial) Jlady) i g oY ol

*sure, certain, certainly, I know pot = must
*sure, certain, certainly, I know not = can't
*unsure, not sure, probably, think, don’t know, look like = might

REWENS PRV
- am, is, isn’t , are = be/ was, wasn’t, were = have been/ has, have, hasn’t = have/ will be=be
look like=be/ this = there

1- The phone is ringing — it’s probably your brother. He usually rings at this time.

It your brother .He usually rings at this time.
2- Someone’s ringing your doorbell. You’re sure it’s the postman — he always comes at this time.
It the postman — he always comes at this time.

3- There’s an important football match in your town tonight. You think the roads will probably be very busy
Theroads .........cccevvviinnnnn.n. very busy.

4- Your friend said she would phone you, but she hasn’t. You are sure she has not forgotten.
She .coovviiiii forgotten.

5- Someone waves to you from a car. It looks like your friend’s father’s car.

It your friend’s father’s car.

6- Your sister has worked very hard. You feel sure that she has got good grades in her exams.
She ..o got good grades in her exams.

7- You hear a car approaching, but you know it isn’t your uncle’s car because it doesn’t sound the same.
your uncle’s car because it doesn’t sound the same.

8- A new building is going up in your neighbourhood. You think it is probably a school.
It aschool. / They ..................... building a school.

9- I know it’s true that the world is getting warmer, because the polar ice is melting.

The polarice ........covvviiiiiiiiiiii e melting.

10- The ground is wet here. That means this was almost certainly a lake once.

TREere .o a lake once.

11- I’'m not sure but I think some parts of the desert were covered in plants and trees.

Some parts of the deserts ...........ccooiiiiiiiiiiiii i covered in plants and trees.
12- I’m sure that bats aren’t birds — they don’t have feathers.

Bats .....oooiiiiiiii birds — they don’t have feathers.

13- These people are very thin, that’s why I’m certain they haven’t eaten much food lately.
TheY coveeei eaten much food lately.

Answers:-

1- It might be your brother-.2- It must be the postman (at the door way).

3- The roads might be very busy tonight.4- She can't have forgotten to telephone me.

5- It might be my friend's father. It looks like his car.6- She must have got good grades in her exams. She has worked very

hard.7- It can't be my uncle's car. It doesn't have the same sound.

8- It might be a school./ They might be building a new school.

9- must be melting 10- must have been a lake....11- might have been covered ...... 12-cant_be birds...... 13- cant have
— eaten.

. Write :
" senifences whick explai &0 T
the suitable modai 'rrrhI: ;I[Iﬂ:-ll_:j‘:.w‘llh“ul::- of the following sitwations using
1B . g LSS L1 4 1 . =
ANSWER an]‘l‘{ll-_,-ll rite the answers down jn FOuF
- (6 prints)

E_ "_JlluKT have ., can'i hava 2 miight have ] shua 2014

. Ahmad's class slarts at 8130, It is §:4% 5
he: has mi ssed thie bars M i I
Ahrma -----. .

nd be is nod here e ; 5
" here yet [ am unsure whether

4 g ol
= F':-\-’llm-'l g panmte are deasd. I am almios slire she
Salma S

hasnt watered (hem.
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*sure, certain, certainly, I know pot = must
*sure, certain, certainly, I know not =can't
*unsure, not sure, probably, think, don’t know, look like = might

- am, 1s, isn’t , are = be/ was, wasn’t, were = have been/ has, have, hasn’t = have/ will be=be
look like=be/ this = there

1- The phone is ringing — it’s probably your brother. He usually rings at this time. (might be)

2- Someone’s ringing your doorbell. You’re sure it’s the postman — he always comes at this time. (must be)

3- . You think the roads will probably be very busy. (might be)

4- Your friend said she would phone you, but she hasn’t. You are sure she has not forgotten. (can't have)

5- Someone waves to you from a car. It looks like your friend’s father’s car. ( might be)

6- Your sister has worked very hard. You feel sure that she has got good grades in her exams. (must have)

7- You know it isn’t your uncle’s car because it doesn’t sound the same. (cant be)

8- A new building is going up in your neighbourhood. You think it is probably a school. (might be)

9- I know it’s true that the world is getting warmer, because the polar ice is melting. (must be)

10- The ground is wet here. That means this was almost certainly a lake once. (must have)

11- I’'m not sure but I think some parts of the desert were covered in plants and trees. (might have)

12- I’'m sure that bats aren’t birds — they don’t have feathers. (cant be)

13- These people are very thin, that’s why I’'m certain they haven’t eaten much food lately. (cant have)

Answers:-

1- It might be your brother-.2- It must be the postman 3- The roads might be very busy tonight.4- She
can't have forgotten to telephone me. 5- It might be your friend's father.6- She must have got good
grades in her exams. 7- It can't be my uncle's car. It doesn't have the same sound. 8- It_might be a
school./ They might be building a new school. 9-The polar ice must be melting 10-There must have
been a lake once 11- Some parts of the desert might have been covered in plants and trees 12- Bats
cant_be birds, they don’t have feathers. 13- They cant have eaten much food lately.

$542014

B. Write sentences which explain the possibilities of the following statements

including the modal verb phrases in brackets in your answers. Write the
answers down in your ANSWER BOOKLET. (6 points)

1. The ground is wet here. That means this was almost certainly
a lake once. ( must have )

2. These people are very thin, that’s why I’m certain they haven’t
eaten much food lately. ( can’t have )
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Write sentences to explain these situations, using the words in brackets in your answers:
(WB 30) -:<libila) 8 () 681 ¢ cilalSl) Laddiinie AN (i) gall grica g Sla IS -

1- The phone is ringing — it’s probably your brother. He usually rings at this time. (It might ...)
It might be my brother — he usually rings at this time.

2- Someone’s ringing your doorbell. You’re sure it’s the postman — he always comes at this
time. (It must ...)

Tt Ut

3- There’s an important football match in your town tonight. You think the roads will probably
be very busy. (The roads might ...)
The roads might ...

4- Your friend said she would phone you, but she hasn’t. You are sure she has not forgotten.
(She can’t ...)

She CaN't ..o
5- Someone waves to you from a car. It looks like your friend’s father’s car. (It might ...)
50 L
6- Your sister has worked very hard. You feel sure that she has got good grades in her exams.
(She must ...)

SRE MUSL ..o

7- You hear a car approaching, but you know it isn’t your uncle’s car because it doesn’t sound
the same. (It can’t ...)
Tt AN Lo
8- A new building is going up in your neighbourhood. You think it is probably a school. (it
might) (They might ...)
LIt Lo e
They MIght ... e
(055 L) 8 5l 13 (Bin 0y Lo sale n LA &) oS5 Lag s - gl -]
(08 Ol Y) gl 1 Jie A il Ll sa - ) el adl aSie sl Gl s G paasl 22
(..o Gkl o Fend S ¢y 5Sias (5 o s AL il b aga o8 5 S 51 jlaa clin -3
(.8 OsSE O Ran V) il Ll 38l il Jad o L) liilgiia Ll <8 elitna -4
(o058 e ) lina all 3 LS o 5 jlas (g0 Al = 5l aaaal -5
(135 2 Y ) St i s cldle e Clloan 8 Ll ol il any s 5 lial 16
(o UJSJU\USAJY) O guall judl JMYL@JYJAGBJMML@A‘UJMM6qubJMMM| -7
(35S Lary b ) (0585 O S L)) 2 (0555 0 Jainall (e gl 0 oSim (3 L4t o 50 2y -8
1- It might be my brother- he usually rings at this time.
2- It must be the postman (at the door way).
3- The roads might be very busy tonight.
4- She can't have forgotten to telephone me.
5- It might be my friend's father. It looks like his car.
6- She must have got good grades in her exams. She has worked very hard.
7- It can't be my uncle's car. It doesn't have the same sound.
8- It might be a school.
They might be building a new school.
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***%%* Choose the correct answer:- (WB page 30)
1- Faisal’s car lights were on all night. He ............... to switch off the lights.
o) s fiday ) st 3840l 5 Y elusall Ak Beliae (o 5l o) guial -
( might have forgotten, must have forgotten, can't have forgotten)
2- Sultan’s looking at the engine of his car. Hiscar .................
(allaad 38 43 5l (55 20 Y 45l & jae (andy (el -
( might break down, must have broken down, cant have broken down)
3- Rabab has a very good English accent. She.............. with an English family.
A ) Alile ae (e L) Jinall (e 3 Jlae 4 il dagd Ll L ) -
(might be living, can't be living)
4-Tareq wants to be a teacher when he graduates. He ............. very interested in education.
il has ol 5 Y 7 AT Ledie Lalae 58 O 352 3l -
(can't be, must be)
5- Ali has just drunk two litres of water. He ............. thirsty.
Ohilae 43l 0 Y celall (e oA e il
(can't be, must be)
6-He ............. earn quite a lot of money to be able to afford that car.
( must, cant, would)
Bl Gl o) 58 e 50l 458 Jlall pe S el 4315 2y Y -
7- They have black skin, They ............. have come from somewhere hot like Africa.
(can't, must, would)
L Jie s 0lSe e 51 gl s Y col pam o pgl -
-Tt.evininnnn be easy designing and building bridges - they 're complicated structures.
(must, cant, shall)
ﬁ.ﬁ.xa@)hln‘.@.ﬁ\ - sl ;U,\}MMMM\_
9-They ............. have finished their lunch already - they only started eating five minutes ago.
(must, cant, should)
8 el U JSYL | iy agd) -agalada | sLeS) 8 agil Jonisal) (pa -
10- She .......... be French - she has a strange accent. (might,must) 4x & dael L o -Aaud b Ll La

11- He's not usually this late —he ............. have got stuck in heavy traffic.
(might, cant, should)
sl Alaa Y1 A sle 38 4 Sadl) e - Al Y Ll sl -
Answers:- 1- must have forgotten 2- might break down 3- might be living 4- must be 5- must be 6- must
7- must 8- cant 9- cant 10- might 11- might
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USEFUL LANGUAGE 5 43

* Time expressions 4xiajll il

- We arrived on (day) at (time)........ (Aels) A (p) & Llay
-The next day ... Sl a5l A

- That same day / evening ....sbuall A5 /asall a8 5

- The first thing we / I did was ...... OS 43 Cadd /a3 liad ¢ 23 J

- The first thing I saw was ............0S8 sl ¢ 23 J )

* Expressing opinions 1Y) (& szl

- It felt like ........ ob i md

- For me, the best thing was... ......0\S o5 Juadl ¢ J il

- For me, the worst thing was ... OIS & §sal 4l
- 1 didn’t know what to expect.... i) 13 s el ol
- What surprised me was ...... OIS Sdaol Al el
* Remembering S
- I'll never forget ... sl O
- What surprised me was ... sl Lo
Our Visit to Wadi Rum
au @y A WL
Hisham and I have just got home from a three-day visit to Wadi Rum. It was only a
short visit but I will remember it forever. Wadi Rum is an open space between high rocks and
mountains. Tourists visit the area to see the beautiful scenery.
W Sl €05y 5 )l 3 yae il 8] 3ay o)y ) al) O € jataad 5 5 (e Wi g ) sl Lie Ul 5 oLia
Jreall agdiall | saalinl dakaiall o5 )5 Flaadl Adlall Juall s ) siall (7 gia sliad g8 o) g3l 5. 20Y) )
We arrived on Tuesday evening and the first thing we did was set up our camp. The sky
was very clear and at night we could see millions of stars. The next morning was very hot but
we had to walk up to the top of the valley. We saw cave paintings and ancient buildings made
by the Nabataeans, who also built Petra. The huge rocks there were amazing — some were
hundreds of metres high.
Okl (553 o Uil 5 Jalll 8 Jas Ailia ailS plaadl | U jSusna a8 (1S oliled o 5 sl 5 ¢ D 4 53 ¢luse Lilia g
(el s CaseShl la ST a8 gal gl el () aeaai o e (1S o815 han s U sl mlaa (1S5, saill (e
e Lee &) Lgazamy —- Adiane @llia culS dadiall [ saiall, ol 5l Loagl 1ot i) ¢ LV Laiea i) dagadl)
A
The next day was another scorching hot day and we went to Jabal Rum, the second
highest point in Jordan. It was incredible to be able to see all across Jordan. As the sun went
down over the desert, we saw the rocks slowly change colour, from a dark red to pink and
purple. It was an amazing sight I will never forget.
e OSai ) Baemy Y ¥ LS5 Y1 B Ak el 3y dan ) a3y 50 all i L gy U 4 sal) (S
S5 N S seal e cedan sl sty ) saall Wl o) aaall (358 Guadll cule Ladie 5 03 )Y el aaan 433 )
Jag) sl () L e lagdie S ¢l sl 5
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You are going to write an account of a visit you made. W < 3 L} ciua g LS g
Think about these aspects of the visit: 5L}l (3lak Lad sl 5ill 03y S8

» The place itself; its purpose; what you did ........ Caled 13le 63 L5 (e Chagl) cdnads (1Sl
» The weather conditions......... L sall oyl
» What you saw; what you did Cald e ¢yl e
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A world of planté 1

Dear Mike, <l (s 32 e

We’re really enjoying our holiday in the Gulf of Aqaba. Yesterday we went scuba diving in the
Red Sea, which has over 500 species of coral and 1200 different types of fish. I was amazed to
see all the ancient corals and the fish swimming among them. The reef is also home to
hawksbill turtles, and we were lucky enough to spot one! We wore wetsuits, which I found a
little bit uncomfortable, although they meant we didn’t feel the cold at all.

O sall e e 55 500 paan s 5 ¢ el adl (8 G gall (I Lad da L) el mlas b Liils gy wiaioss Jadlly (o
o]l Ll g ranet il a1 5 Aol Aila el Conil) (e Liaia cui€ 28 Alaw¥) e Lilida Le 531200 5
5 € m i) e Uit g [lalaal Ay ) A0S (b y e Uy ¢ il Lk Cindad (3 a (oo Ll syl
) Bl 2y s Y (ol Lo L S L) o Ly clo e sidag 3ot Lgian s

We swam past a wrecked boat and even took photos with an underwater camera. It was great to
see all the sea creatures swimming around the wrecked boat; it was one of the most interesting
things I’ve ever seen. I’ll show you the photos when I get home. On the way back to the shore,
I saw a pod of dolphins and watched them leaping into the air. This was the best moment of my
trip.
)i\aupusgﬂomubfy\&sm@u\ﬁts&“\ﬁ)}mnumbgawwwwmuw_
Qb S oda el el 8 35 a5 Lgiaald 285 58Vl e de sana Wl co Jhlall 53 gall 35k Loy sl
Unfortunately, the day was too short — there was so much more to see. We’re flying home
tomorrow, so we couldn’t go again. If we come to Jordan again, I’'m going to spend another
day or two in Aqgaba.
Ly W @l (Lol (1 e ¢y saile ol g il 53 @l (e 38T @llin LS Clas ) jual ool (LS cdaall ¢ gl -

Aal) 5 0l gl AN La gy oamilas cs Al B e ) ) s 1315 (5 0a0 6 se ladl
We’ve done lots of other things while we were here.

s s g gAY cLEY) e ST Liled adl

107 iy e Y All** e U gals




(A Caildal) - BUELY & 53 o BUERY Sa - B dday) ) IS e ¢ 0772111116 -dsalBall 3dga Jo-dlae) -

A world of plants 1

Write your own letter to a friend, describing an interesting place you have visited.
ﬁ))tlu\c"mu&mﬂ“ﬂsgmsj\:ﬂuJuﬁs\_

s e )

It's a good time we are spending in Petra. We arrived here yesterday. The weather was hot and
sunny. Petra lies in the south of Jordan. It's carved out of rock and was built by the Nabateatis. It has
many interesting places to see such as the Siq, the lofty Dayr, the Treasury and many temples and
theatres.

We were astonished while we were walking in the Siq, a narrow path between mountains. We saw the
Treasury (Al-khazna) with its rose colour. It's really marvellous. Then we walked on foot to sea small
temples and theatres. After that we rode on a camel to see the lofty Dayr which was far away from the
Treasury. Riding a camel was a good experience.

We went back to the hotel in the evening. We were extremely tired. Having a shower, we went out to
have our dinner. There were many restaurants. Although they were too expensive, the food was very
delicious.

We wanted to stay another day in Petra but we had to leave to Amman. The next morning we packed our
things and looking forward to coming to Petra as soon as possible.
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Progress Test 1
Who are the economic migrants?
Obai®y) Gy algall aa
In 2003, 410,000 non-British citizens came to live in the UK and 100,000 British people returned

to their home country from Spain, Australia and other countries where they had gone to live or work.
In the same period, 170,000 non-British citizens left the UK to live in other countries. 190,000 British
people also left. This means a total increase of 150,000 in the British population, but where did all
these immigrants come from and go to? Many new arrivals are economic migrants — people who come

because they can earn more money in Britain than in their own country.

bl sall e 100000 sbe s sraiall ASlaall 8 Girall pilday ll e (pihal sall e 410.000 sba ¢ 2003 ole 4
e 170.000 ake 5 ¢ 580 (adi (A5 Led Jaall sl Gaall ) guad i (5 a0 (laly 5 Wl jind 5 lilansd (8 an 2D (puithay 5l
138 5 Ll 15 pale a0 190,000 5. s0AT Gl (8 Gl sasial) ASLeall (& ity i) e (il sl
)1 (e sl €053 Gl (s caoaleall oW 38 (ol e 0805 ¢ it all QIS (e 150,000 L 8 dalles) 33k
e S Laa ST ity s & JLall (e 2 el o () gaalaiion agd (sl ) Gl (51— GuabiaBY) G saleall (e pt 231)

eba¥l paaly b

Traditionally, many of these migrants used to come from countries in Africa or Asia, but now,
growing numbers are from poorer countries in Eastern Europe such as Poland, Hungary or Russia.
Many new migrants take low-paid jobs which British people do not want to do, like cleaning, picking
fruit and vegetables, looking after old people or doing repetitive factory work.

Ol e 05 pee B30 e slael e GU1 S s ¢ L 5T L 8T (8 ol e 0530 1S G saleall W50 Ga el A ¢ Lol
Ea Y A eVl Aasdie il g () s ley 20l Gopaleall o S g )y aall 5 Tail gy Jla 48 5l L ) 8138 i)
ian b Jae Jens oLl gl ol LS Aliall ¢l g i)y dgSl Calad  ecaalaill Jia ¢ Ly bl o ol canl
A minority come to work in well-paid jobs, for example as dentists or doctors. Many of these

migrants do not intend to stay in Britain, and send some of their earnings home to their families. But
even though they earn higher wages than they would in their own countries, most economic migrants

can only afford to live a simple life. Some share accommodation with another migrant family.

0558 Y Coaleal oY sa e aell oLV o liul eldal cJUiall Jass o ¢ o) s ciilda g 8 Jaall ) sl 2080 llia
S oV laa leb ) oal 05 agil (a2 DUl e (ST hagll 8 agilile I ab sal Lo Gany Oslu s ¢ Lilay 3 o8
o Sl (oS SLET) a5 L Ay Bln (8 Claal) 88 Jant () sapdiony SSIG a1 0 yaleal) alina (i ¢ agilaly 3
S ATS jalee dlile

British citizens who leave the UK to live abroad go mainly to countries with warmer climates

and cheaper houses, countries like Spain, Greece, France or Turkey.
Liby SV #Laall il laldl () s ) S (500 2y HLA) 8 el sasiiall Ahaall (5 palay () Gailday ) pridal sl
LS i o a8 il Lol 53 Jia clad 5 SSY) oSLuall 5

*Questions 4LiwY)
1- Many migrants do some careers, mention two of these careers.
oeie (il g KON @il ) (amy () 5a 58 (i yalgall (e el
2- British citizens leave their home to other countries for two reasons. Write down these reasons.
Sln¥hoda SN Gand (5 5A0 J o (N peid s O salag o saldan sl () sidal sl
3- Quote the sentence which indicates that many migrants don’t want to live in Britain for long
time?
$al, sha 5yl Lilday 1 (8 Glandl (553 50 Y (el G daall () () a5 Al Alead) ()
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4- Find a word in the second paragraph which means " very boringlas Jes"

5- What does the underlined word "they" in first paragraph, refer to?

6- According to the text, the writer states that many migrants face expensive life in Britain.
Explain this statement. Justify your answer.

sl ) Aleadl ol jud Lty 0 (84 Sl O sl s roaleall o el O Sl (i (aill e alic)
Critical Thinking

-There are many reasons which make people leave their home countries. Think of this statement
and two sentences write down your point of view.

ok dea s ) Gailea 8 el 03gy S8 agila sl 53 (05 b Gl et Gl ac clllia

1- cleaning, picking fruit and vegetables, looking after old people or doing repetitive factory work.
2- warmer climates and cheaper houses.

3- Many of these migrants do not intend to stay in Britain.

4- repetitive

5- 100,000 British people

6- I think this statement is true because most economic migrants can only afford to live a simple
life. Some share accommodation with another migrant family.

B- I think this statement is true because many people leave their home countries for many reasons
such as seeking a better life and completing their education. Also, there are other reasons like
finding better jobs.

Progress Test 2
Greenhouse gases: good or bad?

S ol e (Aidal) ) Jla)

We usually think that greenhouse gases are harmful, but without these gases, the climate of
the Earth would be like the climate of Mars: too cold for human beings to survive. Greenhouse
gases, which include carbon dioxide and methane, keep the heat of the sun in and prevent our
planet from freezing.

\J;UL);@ﬂ\émd&w@“u'aﬂ\tugp‘auw\m G O O g ¢ Byl Zadall <l jladl f sale daias
@Aﬂ}wﬂﬂ\};)\}ésjaa\;:\su\l\AUuyﬂ\ M\@Ud&ﬁ‘;ﬂ\}‘@ﬂ\u\J\ﬂ| ¢\Aﬂbdla_\gugﬁfd|@ﬂ
il e WS S
However, for the last 200 years people have been using enormous quantities of fossil fuels like
coal, gas and oil. When these fuels are burnt, they produce large amounts of carbon dioxide and
this keeps more of the sun’s heat in. The result is that the temperature of the Earth is rising year by
year. This is leading to more extreme weather: high winds and heavy rain, which produce storms

and flooding.

il 5 5l 5 andll e (g s8aY) 258 5l (e Al ClaaS () saddiinsy elil) OIS dpalall 43 200 ) el 5 eclld aa
o Aagiilly | Aalpe aedl) 5l ya i 138 5 ¢y 0 SI) 20T 5 (e 5y il gty 4 ¢ 25850 138 (5 oy Ledie
Wy el laell g dglall ~Ly 50 s Lk AT il ) 058 108 | ale ax Lale adil i (i Y15 ) ja a0
SUlal) g Coual gall i
The problem is made worse by the fact that we are destroying the world’s rainforests. Trees
naturally consume carbon dioxide, but because there are fewer trees, more carbon dioxide is

released into the atmosphere. Because of the increase in the Earth’s temperature, the ice at the

north and south poles is melting, and this is causing sea levels to rise. Eventually, many areas of
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land which are now on the coast will be flooded.

¢ 058 2l 6 e @llgig pagb J et | allad) 8 3 el LG jaed Adis Capy | gad Cangual 1SS
Aa0 A sal Ol | plary | g gall Cadall 8 LeBdUa) iy (50 pSU ST (e 2 3ale ¢ LY (e Bl 220 i 0 (ST
Ghlia (ra dall ¢ Al s, o) pehas o) oy 138 5 ¢ sy o gially L) cpuladll 8 adalld ¢ Y1550 a

o dal pull 3l3laay Al Al
Leading scientists are warning that if the authorities don’t introduce new laws to reduce

greenhouse gas increases now, the results could be disastrous for life on Earth.

O Sy galiid) ol ¢ V) ddall <l Hlad) 5ol ) (e aall Bagan (i) 8 i Y labid) i€ 1Y) 4l (e 5 500y elalall LS
oY) e sLall 4 S ()

1- There are many benefits of greenhouse gases. Mention these benefits. <l Jlall 230 68 (e 2y0a]) elilia

il o2 K31 Aagall

2- There are many kinds of fossil fuels. Mention two of these kinds. 2584l &) 53 (e 202l elllia

&\}_’Y\ oda Cre Ol JSA\ d‘)}by‘

3-Quote the sentence which indicates that water will fill many areas of the lands. (= dleall (unil

dal) Glalia (e ) i sl () )

4- Find a word in paragraph three which means "eating, drinking or using something".

5- What does the underlined word " which" in paragraph one, refer to?

6- According to the text, the writer thinks that the increase in the Earth’s temperature is very

dangerous. Explain this. Justify your answers.

a0 Ay jud plad 56Y (a1l a sal ) o ey S -

Critical Thinking- Greenhouse gases have advantages and disadvantages. Think of this statement

and in two sentences write down your point of view.

1- keep the heat of the sun in and prevent our planet from freezing.

2- like coal, gas and oil.

3- Eventually, many areas of land which are now on the coast will be flooded.

4- consume

5- greenhouse gases.

6- I think this statement is true because of the increase in the Earth’s temperature, the ice at the

north and south poles is melting, and this is causing sea levels to rise. Eventually, many areas of

land which are now on the coast will be flooded.

B- I think this statement is true because greenhouses keep the heat of the sun in and prevent our

planet from freezing. On the other hand, greenhouses gases increase the temperature of the Earth.
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anguage Function

4 gall) Caids gl

1-  Expressing opinions:- ¢))¥) (& il
e (in fact) it's my view thatold sk dea 5 s (R8sl )
e For me, the best or the worst thing | s 5 Juad) ¢ I Al
In my opinion ....... Gl G
It felt like 434S san
It seems to me that.4) 3 zeal ol (1
I didn’t know el
Personally, I believe ,I think..... aie) Ul (uadd
What surprised me sl L

2- Disagreement: - 488) gal) a2c
o [ completely disagree lai clas Calial Ul
e I'mafraid you're wrong Usa e olil &
e Idon'tagree (&8s Y
e I'm afraid I can't agree with you. <&l o)l aalaiud ¥ il G

3- Agreement:- 488) gall (o )

I totally agree Lolai clas (345 Ul

I agree (8 Ul

You may be right @l sa e osSila,
That's true gesea 12

I am in favour of <ila U

You're right <l sa e il

4- describing iuagll | (JSlially ) gall chuay Jia)

e.g- This tree is in the middle of the picture.

e.g- There are many problems in building these

5- Comparing and contrasting 43 i)

e.g — fewer than....... Less harmful than,....... , more than, most beautiful, .....but..., on the other
hand

6- Giving solutions Jsis slae) | suggestions <ial B | giving advice 4asal ¢l

e.g- People should stop cutting down trees to make agricultural lands.

7- presenting arguments:- gaad) agail

- I'm against...., another arguments

8- talking about and remembering past events:- alall & Glaa) S¥ig oo diaail)

When I was a child...., Two months ago...., I can remember that day when we visited Aqaba last
year.

9- talking about possibility. <¥laia¥) e &aadl)

Might, could, perhaps, probable, may, unlike, maybe, not sure

10- Time expressionscll (& il

We arrived on Friday at 5 o'clock

The next day, that same day/ evening

11- Persuading People your ideas are the bestJ<ai¥) & &8 ol (ulil) g LB

Can you see what I mean?s2a8l L agdi Ja

Look at it this way: if we build this house here.......0sSm,. s Jjiall Liy 108 Aalill oda e 4d) i)
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1- Complete the following mini-dialogue using an expression that expresses an agreeing.

Marwan:- I think that there should be new restrictions on traffic in our city.
Majidi-eooiiniiiiiieiiiiiiiiiinniiiinnrioienstcsennsenn .

2- Complete the following mini-dialogue using an expression that expresses an opinion.
Saja:- I will never forget my visit to Petra last year.
I L N .

3- Complete the following mini-dialogue using an expression that expresses possibility.
Maher:- What will you do tomorrow, Ahmad?
Ahmad:-....ccooviiiiiiiiiiiiiiiiiiiiiiiiiiiiiiciieennen .

4- Complete the following mini-dialogue using an expression that expresses a past event.
Asma:- What did you do yesterday, Rashed?
Rashed:-......ccoiiviiiiiiiiiiiiiiiiiiiiiiiiiiiiieennn .

5- Complete the following mini-dialogue using an expression that expresses Time.
Manal- When did you arrive to Wadi Rum?
Salam:-...ciiiiiiiiiiiiiiiiiiiiiiiiiiiiiir e

6- Complete the following mini-dialogue using an expression that expresses suggestion.
Rami- I can't study these days?
N N

7- Complete the following mini-dialogue using an expression that expresses Disagreement.
Mustafa- I think that the air pollution will kill millions of people.
Karam:-....ccoiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiieinene

Answers:-

1- I agree. /2- 1 think it is a beautiful city./ 3- I probably visit Aqaba./

4- I visited Jarash. 5- I arrived at five o'clock./ 6- you should study in the morning./ 7- I don’t

agree.
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A. Complete the following mini-dialogue using an expression that presents an
argument, and write the answer down in your ANSWER BOOKLET.

(2 points)
Marwan : Traffic is an increasing problem in most big cities of the world therefore,

governments should encourage people to use public transport.

Rashed: - -
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SB page 18
A-Are they from Spain?
B-No, they're from Ireland.
- The stressed word in B's response is :- e OIS QU 1S5l 2 5 ) sa 8 Boadial) AalS)
a- No b- from c- Ireland

Sle & LaYlreland
A- Are they on holiday in America? B- No, they live in America.
A- Do you live in America? B-No, I live in Spain.

A- Have you ever lived in Ireland? B- No, but I've visited Ireland.

A- Did you say the Spanish Civil War ended in 19367 B- No. it started in[936.

A- Did they cross the border into Portugal? B- No, they crossed the border into Farce.
A- Are they from Egypt? B- No, I'm from Jordan.

A- Do you go to school? B- No, I go to university.

A- Are you studying chemistry? B- No, I'm studying physics.

A- Do you like being a student? B- I love being a student.

SB page 32 -cilalSl) g 45 gal) adaliall o 305580 o
WS JalS e oS ad il ol 43l ABGY) casa LaaY —university akaie e L ¢S s ver.
1- The weather's cold today.
2- He doesn't like the snow.
3- I'm feeling warmer now.
4- They're cutting down that tree.
5- The climate's better here.
6- What's the weather like?

SB page 44 Rhythm &4l o
& (o e ) (el + Ada + Jad ) (o Jeli ) i i) 8 Gilas o sl s a2 Ll sl -
- Choose the sentence which has the same rhythm to sentence A:-
A ileall ga a2 Ll i L) i Aleal) jdl -
A- Water is a precious resource.
- Sand gazelle eats plants.

- Sand gazelle is a beautiful animal.
gl Aleall g il gall -

2L s () I Jan
- Panda live alone. - The Chinese panda's under threat.
- Eagles fly at night - A vulture is a type of bird.
- Panda never hibernate. Pandas eat berries and various plants.
- Leopards don't eat grass or leaves. People made belts out of crocodile skin.
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Numbers
ald Y

~: 3aal 5 AlS (K3 D() -] (e QB %
- one, two, ten, eleven, fifteen, twelve.
(-) ol g2 55 (368 Lad 21 (e pBLY) *hyphen-:(<l_pdall s SV a5 G ) Wb Cad ) A O
64: sixty-four, 143: one hundred and forty- three
Gl el 13) *thousand, million -:csad ) Js) (m Aial o)) i cpd ) A
- 23,000:- twenty-three thousand
- 64,000,000 :- sixty-four million ‘
() Aaal 0 ST D jiay (558 Led 2] (ga ol Y1 gl 13)
- 230:- two hundred and thirty
- 231:- two hundred and thirty-one.
<L *thousand, million  hundred, J& << 13 W1 aea3 Y of-:
- one hundred people, two thousand trees, two thousands of trees,
AN e all
First Y5l = 1%/ second = 2"/ third = 3" / fourth= 4" / 21= twenty first/ 80= eightieth
Sl e s LS sl e pued *
third= &b/ sixth (s / fourth @ or quarter g/ fifth s
AL *twice 4alSy  (Chmn) Sixas times(rs) e
SB page 18

a in the 19th century = nineteenth

b 75% of the year’s potatoes= seventy-five percent

¢ 350,000 people= three hundred and fifty thousand.

d by the end of 1854 = eighteen fifty-four.

e in 1961= nineteen sixty-one

£ 268 people = two hundred and sixty —eight.

g 1960 and 1970= nineteen sixty and nineteen seventy
SB page 18

a What is twice six thousand?—=¥) ol Caaia L

b What is a quarter of twenty thousand? Wl (5 piall &) L

¢ What is fifty percent of two thousand?:8!) (3 4aalls ¢y sasedll L

d What is five times nine? daui o8 )l Calaiall ued Lo

e What is a third of twenty-one?( s ydall 5 asl 5l i S
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Guided Writingag> sall 4Ll

Read the information in the tables below and write two sentences about each one: use the
appropriate linking words such as: and , too, also ------------

Ways of losing your weight
-drink 8 to 10 glasses of water.
-do exercises.
-use certain types vegetarian nutrition.
-reduce the amount of calories you eat.

- Firstly, there are many ...... Jlsd......... such as ...7 L= _dl...... and ...... 24e 44,
- In addition, there are other ......... Olsindl A Lalidy) 4uds,,, like ...... I ..., and ...... e 9

- Firstly, there are many ways of losing your weight such as drinking 8 to 10 glasses of water
and doing exercises.

- In addition, there are other ways like using certain types vegetarian nutrition and reducing
the amount of calories you eat

How to save Forests?
-avoid building residential areas.
-build parks for visitors.
-reduce cutting down trees.
-ban the criminals who cut trees.

Firstly, there are many ways to save the forest such as avoiding building residential areas
and building parks for visitors.

- In addition, there are other ways to save the forest like reducing cutting down trees and
banning the criminals who cut trees.

What should be done to keep fitness ?
- drink 8 -10 litters of water daily.
- run 2 -4 kilometre every morning.
- do exercises
- reduce the amount of calories.

- Firstly, there are many thing (ways) that should be done to keep fitness_such as

drinking............ daily and running ...... momrning.
- In addition, there are other thing (ways)that should be done to keep fitness like doing exercises and
reducing ...... calories.
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Why do people leave their countries?

-find better jobs.

- complete high education.
-escape from wars.

- seek better life.

Advantages Disadvantages

Animal Migration raise their young, find food | hunting,
Firstly, there are many advantages of J/si¢/such as ......... and............
On the other hand, there are many disadvantages of ¢/s&kuch as ......... and............

Z00s

Arguments for they are educational , protect rare animals.

Arguments against they are different climates. the animals can't move freely
Firstly, there are many arguments for J/sit//such as ......... and............
On the other hand, there are many arguments against ¢/s&/ such as ......... and............
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B. GUIDED WRITING: ( 5 points )

Read the information in the table below about advantages of moving abroad then, in your

ANSWER BOOKLET, write two sentences about the advantage. Use the appropriate

linking words such as: and, also........etc.
Advantages of moving abroad

meet people from different cultures.

attend international schools.

- look for a new job.

- get paid much more than before.

Disadvantages of deforestation
- erode the soil.
- limit a wildfire's ability to spread.
- release carbon into the atmosphere
- make the atmosphere hotter.
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C.

Free writing: (7 points)

In your ANSWER BOOKLET, write a composition of about 80 words on ONE of

the following:leaaa) Gllall JUSy (e gada ga LaaT ol

Today, more and more people in Jordan are using computers for activities at home, at school or at
work. Write an essay bout the advantages and disadvantages of using computer by the people. “liwa

omlad) Sl

Today, more and more people in Jordan are using
computers for activities at home, at school or at work. I
am going to write an essay about the advantages and
disadvantages of using computer by the people.

Firstly, there are many advantages of using computers
by people such as writing letters, searching the Internet or
just playing games. In addition, people can share their
news between each other.

On the other hand, there are many disadvantages of
using computers by people such as health suffers. Also,
people may spend so much time on their computers that
they see less of their friends and family. In addition,
children who spend too long playing computer games
may become unsociable. Another result, sitting for long
periods of time can hurt your eyes, cause headaches, or
damage your hands and arms. In some cases this means
that people cannot do their jobs properly.

Finally. I think computers are very important. Some
jobs and many activities would be impossible without
them, but we should be aware of the dangers of spending
too much time at our computers.
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Write a letter to your teacher describing the time when you took care of a friend, say what happened to
him/her, how you helped him/her, and what this event added to your experience.
(Your name: Nihad. Your address: P.O Box 1646. Amman Jordan)

P.O Box 1646
AMMAN
JORDAN
Dear Teacher

his clothes and books in his room.

could give help hand to others.

Best wishes
Nihad

How are you? I hope you are fine. I am writing to describe the time when I took care of a
friend, what happened with him, how I helped him and what this event added to my experience.

Firstly, my friend Sami had an accident last week while he was walking in the street and his

legs were damaged, so he couldn’t go to the school for days. So , I decided to help him and I was going
to his house daily to give him the lessons we took at class. Moreover, I helped him in walking and tying

Finally, my friend Sami was able to walk and go to the school. I felt happy and I knew that I
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— Gl (5 glal) A dageal) cilalsl)
Unit 1: courtieSaxs cazla) governe-SAﬁ, guilty—side, innocentis_», jurycsilse iaa Jegal S #8, principlela,
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Unit 2. abroadz )W) 4, deterloratejﬁ 5, emigrate »ale, famineielss, industrydeliva modernisation ) s,
refugeess>Y, starvationielss, successzlad, forge sy, recurrent_Sis, temperatedizs
Unit 3: composted 2ews, incineration 3=, landfilllbiss wSa) materials) s=, pollutions 5, preciousms,
recycle_ sy, resources_baxs, rubbishallss, wastelilia sustainable 4wlxivs, wood pulpiall ) rot odaty,
fibre—sL), devastating e, global <=, consumption<Sgiu
Unit 4: climateFlis, cultivateg »j», dustolé, erode—s >, grazes<_, population\Sw, risk s, soilia s,
survive s>, wildfiredia 3~
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Sl humiditys s, seed 3%, thornaS s&, trunkg 3>
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Adliaa ol e ALK
WaterfallJS-3,  structuredS=& «eL,  ancientad, stickyz -, criminals =, permanents=ls, | dustolze,
environmentiiyll, greenhouse gase 2> JL&, household waste 4 ye ldlia materialsd 5=, sustainable
forest Alxinw cille,  misuseplidiul e rewrite, overcharge_a 22 undercook)iss F shae e,
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. . Past Participle a«/
Present gutas] Past ) <led .. . . .
() ciipatl) )| (AL iy puaall "“*f“(‘i’j L{f{v‘“""’ Arabic Meaning
be was, were been i8S
become became become T
begin began begun lay
blow blew blown e,
break broke broken S
bring brought brought by
build built built Jgat
burst burst burst i
buy bought bought A
catch caught caught aiay ¢ Cluy
choose chose chosen B
come came come b
cut cut cut ey
deal dealt dealt Jalxy
do did done Jab ¢ Jeny
drink drank drunk S
drive drove driven 3
eat ate eaten Jsky
fall fell fallen Jaduy
feed fed fed pakay
feel felt felt iy
fight fought fought Ji
find found found
fly flew flown by
forbid forbade forbidden a2
forget forgot forgotten (i
forgive forgave forgiven B
freeze froze frozen ——
get got gotten sle Jany
give gave given o
go went gone cady
grow grew grown 50
have had had Slloy
hear heard heard )
hide hid hidden i
hold held held R
hurt hurt hurt TALY
keep kept kept Ly
know knew known play
lay laid laid o
lead led led 54
leave left left Dy
let let let Zasn ¢
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lie lay lain X
lose lost lost ety
make made made e
meet met met e o ading
pay paid paid Ay
quit quit quit T
read read read B
ride rode ridden S
ring rang rung O
rise rose risen &8
run ran run oS
say said said Jsi
see saw seen s
seek sought sought ol
sell sold sold o
send sent sent BNgY
shake shook shaken B
shine shone shone EBL
sing sang sung (2
sit sat sat ol
sleep slept slept ol
speak spoke spoken ASh
spend spent spent B8y
spring sprang sprung BT
stand stood stood —
steal stole stolen B
swim swam swum )
swing swung swung el
take took taken ab
teach taught taught play
tear tore torn A
tell told told B
think thought thought Sy
throw threw thrown o
Understand understood understood pedy
wake woke (waked) woken (waked) B
wear wore worn o
win won won S
write wrote written .
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